

Oregon Department of Corrections (ODOC) 04/11/2019 18:16 PM

Mission: To promote public safety by holding offenders accountable for their actions and reducing the risk of future criminal behavior

Rejected Books Report

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
\$1 Prototype	Greg Nudelman	9781503383708	Material that Threatens	Material that Threatens Code 2.05
100 Deadly Skills	Clint Emerson	9781476796055	Material that Threatens	Material that Threatens Page #'s 14-18, 42-43, 74-75 Code 2.01, 2.07
100 Naked Girls Hegre		9780817452971	Sexually Explicit Material	Sexually Explicit Material
12 Beast V3		9781626922617	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.05
120 Days Of Sodom, The	MARQUIS DE SADE	9780141394343	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
1980s Glamour 20th Century Pinups		9781906672652	Sexually Explicit Material	Sexually Explicit Material
200 Classic Cartoons 4 Disc Set			Any items which a inmate shall not possess	Any items which a inmate shall not possess Code 2.08 4 DVD Set
2019 Premium Dated Planner			Any items which a inmate shall not possess	Any items which a inmate shall not possess Code 2.09 Wire bound day planner
25000 Years Of Ertoic Freedom		9780810948464	Sexually Explicit Material	Sexually Explicit Material

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
3 Dd A 3-D Celebration Of Breasts		9781934734803	Sexually Explicit Material	Sexually Explicit Material 1C PP 9,13,16,26,27 THIS BOOK IS ON THE ORIGINAL VIOLATION LIST AS OF 3/27/12 ORIGINAL PAGES SUBMITTED
365 Essential Survival Skills	Creek Stewart	9781440247286	Information would create clear and present danger	Information would create clear and present danger Code 2.01
365 Sex Moves	Randi Foxx	9781592335435	Simulated penetration	Simulated penetration Code 1.01, 1.02, 1.03 ~ Pg #s 14-27
365 Ways To Keep It Kinky	Da Kinky Kid	9781516865857	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
4 Hour Body, The	Timothy Ferriss	9780307463630	Simulated sexual acts	Simulated sexual acts Pages 232-235, 243-248
4 Hour Chef, The		9780547884592	Material that Threatens	Material that Threatens Pages 614-617
48 Laws Of Hustling	Ricky St. Julien II	9781977504647	Material that Threatens	Material that Threatens Code 2.01, 2.07
50 Nights In Grey A Sensual Journey In Black And White	I	9781616285364	Simulated sexual acts	Simulated sexual acts
50 Shades Of Bondage & Discipline	RENEE DUBOIS	9781780974927	Sexually Explicit Material	Sexually Explicit Material Code 1.04
500 Puzzles The Big Book Of Word Search - Wire Binding		9781474817219	Material that Threatens	Material that Threatens
66 With Possible	Lydell & Laycellee King		Violation of Administrative Directives	Violation of Administrative Directives code 2.05

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
A Backwoods Home Anthology: The Eighth Year			Material that Threatens	Material that Threatens Code 2.01 ~ Pages 49-50, 80-83, 148-149, 168-170, & 186-187
A Backwoods Home Anthology: The Seventh Year	multiple contributors		Information would create clear and present danger	Information would create clear and present danger Code 2.01
A Backwoods Home Anthology: The Sixth Year	multiple contributors		Information would create clear and present danger	Information would create clear and present danger Code 2.01
A Budding Success	C Restrivo & C. Cervantes	9780997839708	Narcotics or narcotics paraphernalia	Narcotics or narcotics paraphernalia Code 2.01
A Centaurs Life 10	Kei Murayama	9781626923515	Simulated or threatened acts	Simulated or threatened acts Code 1.04, 1.05
A Centaurs Life 8		9781626922365	Physical harm	Physical harm Code 1.04
A Centaurs Life 9	Kei Murayama	9781626922839	Sexual acts minor or under 18	Sexual acts minor or under 18 Code 1.05
A Hustlers Deceit	Aryanna	9781548175344	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
A Hustlers Deceit 2	Aryanna	9781548644796	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
A Ruined Wife Andreas Story	Jennifer Nite	9780983522522	Sexually Explicit Material	Sexually Explicit Material code 1.01, 1.02, 1.03
A Wedding To Die For	Xavier Mayne	9781632164698	Simulated sexual acts	Simulated sexual acts code 1.01, 1.02, 1.03

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
A Year Of Celebrations		9780763695293	Items prohibited except authorized by FUM	Items prohibited except authorized by FUM PAGES PERFORATED TO CONSTRUCT CARDS AND ENVELOPES, ALSO INCLUDES FULL PAGE OF STICKERS.
Abc Keyboard Stickers For Use With All Keyboards		9780793562022	Items prohibited from receipt by mail	Items prohibited from receipt by mail
Absolute Mayhem		9781616080914	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 SEXUALLY EXPLICIT
Absolutely Nasty Dot To Dot		9781454922940	Material that Threatens	Material that Threatens
Absolutely Nasty Kakuro		9781402799914	Material that Threatens	Material that Threatens
Absolutely Nasty Kakuro		9781402799907	Material that Threatens	Material that Threatens
Absolutely Nasty Kakuro Level One		9781402799891	Any items which a inmate shall not possess	Any items which a inmate shall not possess Code 2.08 ~ Metal/Wire bound book
Access 2000 Developers Handbook Vol 2 Enterprise Edition	PAUL LITWIN	9780782123722	Material that Threatens	Material that Threatens Code 2.05
Acrobatic Sex Positions		9781592335374	Sexually Explicit Material	Sexually Explicit Material
Adele	Leila Slimani	9780143132189	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 Pg. 2, 4-5, 97-99, 191-192
Advance Dim Mak	douglas H. Y. Hsieh		Material that Threatens	Material that Threatens 2f, 2g
Advanced Gunsmithing	W. F. Vickery	9781629144382	Material that Threatens	Material that Threatens Violation 2a

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Advanced Persistent Threat Hacking	Tyler Wrightson	9780071828369	Violation of Administrative Directives	Violation of Administrative Directives Code 2.05
Advances In Cyber Security	Frank Hsu and Dorthy Marinucci	9780823244577	Material that Threatens	Material that Threatens Code 2.05
Afternoon Delight	Alison Tyler	9781573443418	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ Page 15-25, 100-106
Against The Storm	KAT MARTIN	9781335016324	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Aikido Basics	Phong Thong Dang		STG-related paraphernalia	STG-related paraphernalia
Aikido And Words Of Power	WILLIAM GLEASON	9781594772450	Mail that the department deems pose a threat	Mail that the department deems pose a threat 2.01, 2.07, FIGHTING MOVES
Aint No Wifey 2		9781515371977	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Aint No Wifey 3		9781530812325	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Air Gear Oh Great 21		9781935429128	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.05
Air Gear Oh Great 22		9781612620275	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.05
Akashic Records Of Bastard Magic Instructor #1	HITSUJI TAROU	9781626925380	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04, 1.05 SEXUAL TOUCHING AND BONDAGE
Akuma No Riddle 4		9781626922822	Physical harm	Physical harm Code 1.01, 1.02, 1.03 1.05

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Alaska Homesteaders Handbook, The	Tricia Brown	9780882408118	Material that Threatens	Material that Threatens
Alberto		9780937958711	Mail that the department deems pose a threat	Mail that the department deems pose a threat Code 1.04
Alone A Pimp Story	Bozey Gee	9781490768762	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Alphabet Of Manliness	MADDOX	9780806535227	Information would create clear and present danger	Information would create clear and present danger rep pages: 2-7, 52-53, 115, 182-183, 199, 213, 223
Alphabet Of Manliness, The	Maddox	9780806527208	Material that Threatens	Material that Threatens
Alphabet Stencil Book		9781849941662	Any items which a inmate shall not possess	Any items which a inmate shall not possess PERFORATED PAGES THROUGHOUT ENTIRE PUBLICATION
Alterations & Repairs		9780764164514	Material that Threatens	Material that Threatens
Alternative Revolution		9781942131649	Sexually Explicit Material	Sexually Explicit Material Code 1.04
Amazing Cat Facts And Trivia	Tammy Gagne	9780785828358	Material that Threatens	Material that Threatens Spiral Metal Binding
Amazing Origami	Tuttle	9780804841917	Items prohibited from receipt by mail	Items prohibited from receipt by mail models and paper in box
America And Other Work	Andres Serrano	9783822835043	Simulated or threatened acts	Simulated or threatened acts Code 1.04

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
America Swings	NAOMI HARRIS	9783836522281	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ PP43,56,88,137,158 AND THROUGH ENTIRE PUBLICATION
American Gods	NEIL GAIMAN	9781506703862	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03
American Grotesque	Larry Lytle/Michael Moynihan	9781936239979		Bondage
American Photography Of The Male Nude 1940-1970	Bob Mizer		Simulated or threatened acts	Simulated or threatened acts Code 1.04
American Swings	Taschen		Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ Page #'s 169, 178, 181, 186
American Tantra Mondern Guide To Sex	Sienna Newcastle	9781440136481	Sexually Explicit Material	Sexually Explicit Material
An Introduction To Programming Through C++	Abhiram G. Ranade	9789339218867	Information would create clear and present danger	Information would create clear and present danger Code 2.05
Anatomy For The Artist	SARAH SIMBLET	9780789480453	Items prohibited except authorized by FUM	Items prohibited except authorized by FUM Code 2.08 TRACING PAPER
Android Programming The Big Nerd Ranch Guide	BILL PHILLIPS AND BRIAN HARDY	9780321804334	Material that Threatens	Material that Threatens Code 2.05
Angel Lust Vol 2		9780865621503	Sexually Explicit Material	Sexually Explicit Material PAGES SUBMITTED
Angel Song A Glorious Collection Of Heavenly Bodies		9780865621466	Simulated or threatened acts	Simulated or threatened acts
Angular 2 Development With Typescript	Yakov Fain, Anton Moiseev	9781617293122	Code	Code Code 2.05

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Animal	K'Wan	9781936399253	Sexually Explicit Material	Sexually Explicit Material Pgs. 100-105, 372-375
Animal 3: Revelations	Kwan	9781936399932	Simulated or threatened acts	Simulated or threatened acts
Animal Factory Edward Bunker		9780312267117	STG-related paraphernalia	STG-related paraphernalia Publication already on violated list on u drive as of 10/18/12 for 2a,b,c,g
Animal li The Omen-Kwan		9781936399291	Sexually Explicit Material	Sexually Explicit Material
Animal Iii : Revelations	K'Wan		Sexually Explicit Material	Sexually Explicit Material
Annillustrated History Of The Mafia Cosa Nostra		9780393341966	Material that Threatens	Material that Threatens Code 2.01, 2.07 for Page 79,
Another Man Will	Daaimah S Poole	9780758246240	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Ansel Adams 2019 Calendar		9780316445054	Unauthorized Attachments	Unauthorized Attachments Code 2.08 Wire Binding
Anthology Of Graphic Fiction Cartoons & Ture Stories Ivan Brunetti, An		9780300126716	Sexually Explicit Material	Sexually Explicit Material
Applied Cryptography	Bruce Schneier	9780471117094	Material which an inmate shall not possess within	Material which an inmate shall not possess within
Arduino Playground	WARREN ANDREWS	9781593277444	Mail that the department deems pose a threat	Mail that the department deems pose a threat Code 2.05 COMPUTER PROGRAMMING
Around The World In 80 Lays Adventures In Sex Travel		9781602392878	Sexually Explicit Material	Sexually Explicit Material
Arouse Her Anal Ecstasy		9780615399140	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Arrest Proof Yourself Dale C Carson An Wes Denham		9781613748046	Mail that the department deems pose a threat	Mail that the department deems pose a threat Code 2.01
Art A Sex Book John Waters And Bruce Hainley		9780500284353	Sexually Explicit Material	Sexually Explicit Material
Art And Science Of Staff Fighting, The	JOE VARADY	9781594394119	Material that Threatens	Material that Threatens Code 2.01 ~ page 56-57, 68-69, 132-135
Art Models 10	JOHNSON	9781936801459	Sexually Explicit Material	Sexually Explicit Material Code 1.04 ~ PP 107,151,156
Art Of Archer. The	NEAL HOLMAN	9780062484130	Material that Threatens	Material that Threatens Code 1.04 ~ PP 47,74,78,79,108,193,2
Art Of Brian Rood, The Art Of Brian Rood				
Art Of Brian Rood, The Art Of Brian Rood, The			Sexually Explicit Material	Sexually Explicit Material
Art Of Caretta Hard Candy		9780865621527	Sexually Explicit Material	Sexually Explicit Material THIS BOOK ON STATE VIOLATED LIST -U DRIVE 7/7/16
Art Of Coop, The		9780971237421	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04
Art Of Dejah Thoris And The Worlds Of Mars, The		9781606904527	Sexually Explicit Material	Sexually Explicit Material Code 1.04
Art Of Ed Mironiuk, The	Ed Mironiuk	9780865621930	Simulated or threatened acts	Simulated or threatened acts
Art Of Game Design, The	Jesse Schell	9780692288870	Material which an inmate shall not possess within	Material which an inmate shall not possess within Box of flash cards not authorized.

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Art Of Joe Pekar, The	Joe Pekat	9780865621398	Sexual acts minor or under 18	Sexual acts minor or under 18 Shows all models as school girls or appears to be minor children
Art Of Jose Del Nido Deadly Seductions, The		9780865620957	Simulated or threatened acts	Simulated or threatened acts
Art Of Ronnie Werner, The		9780865621718	Sexually Explicit Material	Sexually Explicit Material
Art Of Seduction, The		9780142001196	Mail that the department deems pose a threat	Mail that the department deems pose a threat Code 2.01
Art Of Seduction., The		9781861977694	Information would create clear and present danger	Information would create clear and present danger Code 2.05
Art Of Shaolin Kung-Fu- By Wong Kiew Kit, The		9780804834391	Sexually Explicit Material	Sexually Explicit Material
Art Of Steve Reno Sensual Distress Vol 1, The		9780865621640	Sexually Explicit Material	Sexually Explicit Material EVERY PAGE IN THIS BOOK HAS A BONDAGE SCEEN- NO PAGE NUMBERS
Art Of Vampirella, The	DYNAMITE	9781606901762	Material that Threatens	Material that Threatens Code 1.04
Artists Way Workbook	Julia Cameron	9781585425334	Items prohibited from receipt by mail	Items prohibited from receipt by mail Wire Binding
Asarotica		9781627782265	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Assassin!	Dr. Haha Lung	9780806526201	Material that Threatens	Material that Threatens Pages 70-73, 95-97, 104-105, 124-129 & throughout
Assembly Language Step By Step: Programming With Linux	JEFF DUNTEMANN	9780470497029	Material that Threatens	Material that Threatens Code 2.05
Page 10 of 148			Repo	rt Created on 04/11/2019

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
At Wolf Ranch	JENNIFER RYAN	9780062334893	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02 1.03 SEXUALLY EXPLICIT
Atlas Easy Language 23 Specialized Dictionary			Any electronic items	Any electronic items Book: Atlas Easy Language 23 Specialized Dictionary - NO package authorization from Department Of Corrections
Avenging Alex	Lewis Ericson	9781601624000	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ Page #'s 60-61, 76-79, 102-105
Awkward Silence	Hinako Takanaga	9781421543475	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04, 1.05
Ax Alternative Manga	Sean Michael Wilson	9781603090421	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.05
Baby Girl Jihad		9781893196230	Sexually Explicit Material	Sexually Explicit Material
Baby Got Back	Rachel Kramer Bussell	9781573449625	Simulated penetration	Simulated penetration Code 1.01, 1.02, 1.03 ~ Page #'s 180-181
Back To Basics- Third Edition- Edited By Abigail		9781602392335	Material that Threatens	Material that Threatens Admin Review held. Violation stands. TG
Backdraft	Shane Allison	9781573443258	Sexually Explicit Material	Sexually Explicit Material ode 1.01, 1.02, 1.03
Backtrack 5 Cookbook	Will Pritchett	9781849517386		
Backwoods Home Anthology The Seventeeth Year		9780984622221	Material that Threatens	Material that Threatens Pgs 150-159
			_	

Page 11 of 148

Report Created on 04/11/2019

<u>Title</u>	<u>Author</u>	ISBN	<u>Violation</u>	Rejection Note
Bad Apple	Nisa Santiago	9781934157633	Sexually Explicit Material	Sexually Explicit Material
Bad Boy For Christmas, A	Jessica Lemmon	9781455558100	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Bag For All Reasons, A	Lisa Lam	9781446301852	Items prohibited from receipt by mail	Items prohibited from receipt by mail
Baller Dreams	Tasha Macklin	9780758294050	Sexually Explicit Material	Sexually Explicit Material code 1.01, 1.02, 1.03 ~ Page #'s 46-49, 90-93
Ballpoint Art Pack	MATT ROTA	9781631591273	Items prohibited from receipt by mail	Items prohibited from receipt by mail Code 4.00 ~ BOOK CONTAINS REMOVABLE SKETCH PAD
Banzai Girls Stripped Down	Jinky Coronado	9780865622364	Simulated or threatened acts	Simulated or threatened acts Code 1.04
Bare It All!	BARBARA JENSEN	9780865622524	Sexually Explicit Material	Sexually Explicit Material PICTURE SUBMITTED IS THE ONLY QUESTIONABLE PICTURE IN ENTIRE BOOK-P. 31
Bared To You	SYLVIA DAY	9780425276761	Sexually Explicit Material	Sexually Explicit Material
Basic Basic, An Introduction To Computer Programming In Basic Language	Jmaes S. Coan	9780810458727	Information would create clear and present danger	Information would create clear and present danger Code 2.05
Be With Me	Maya Banks	9780425224045	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04
Beaders Bible, The		9780785826309	Material that Threatens	Material that Threatens

<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
ANNE RICE		Sexually Explicit Material	Sexually Explicit Material THIS BOOK IS ON THE STATE REJECTED LIST- U DRIVE SINCE 5/27/16. PAGES SUBMITTED ARE PAGES LISTED ON U DRIVE LIST
	9781476730097	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ Page # 26-27, 160-161, 268-269
Chuck Palahniux	9780345807113	Sexually Explicit Material	Sexually Explicit Material
Lee Savino	9781726676359	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Anne Rice	9780143108214	Sexually Explicit Material	Sexually Explicit Material
	9780452281431	Sexually Explicit Material	Sexually Explicit Material
Anne Rice	9780452266636	Simulated sexual acts	Simulated sexual acts
	9780452281455	Simulated sexual acts	Simulated sexual acts
Mark D Davis	9781534951358	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Petra Mason	9780789329240	Sexually Explicit Material	Sexually Explicit Material Code 2.04
Jodorowsky - Janjetov	9781594659010	Sexually Explicit Material	Sexually Explicit Material
	9780071827782	Items prohibited from receipt by mail	Items prohibited from receipt by mail
Thomas, E. Donnall	9780811731331	Criminal activity, conversion of weapons	Criminal activity, conversion of weapons Code 2.01
	Chuck Palahniux Lee Savino Anne Rice Mark D Davis Petra Mason Jodorowsky - Janjetov	ANNE RICE 9781476730097 Chuck Palahniux 9780345807113 Lee Savino 9781726676359 Anne Rice 9780143108214 9780452281431 Anne Rice 9780452266636 9780452281455 Mark D Davis 9781534951358 Petra Mason 9780789329240 Jodorowsky - Janjetov 9781594659010 9780071827782	ANNE RICE 9781476730097 Sexually Explicit Material Chuck Palahniux 9780345807113 Sexually Explicit Material Lee Savino 9781726676359 Sexually Explicit Material Anne Rice 9780143108214 Sexually Explicit Material Petra Mason 9780789329240 Sexually Explicit Material Petra Mason 978071827782 Items prohibited from receipt by mail Thomas, E. Donnall 9780811731331 Criminal activity,

Page 13 of 148

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Beginning los Programming For Dummies	Rajiv Ramnath, PhD	9781118799277	Code	Code Computer programming book Code 2.05
Benchmark Maps Oregon		9780929591629	Maps	Maps Detailed map of local roads within 50 mile radius of Prisons
Berserk #27	KENTARO MIURA	9781593079239	Sexually Explicit Material	Sexually Explicit Material Code 1.04
Berserk 13	KENTARO MIURA	9781593075002	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04,
Berserk 9	KENTARO MIURA	9781593073305	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04, 1.05
Best American Erotica 1994, The	SUSIE BRIGHT	9780671899424	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ SEXUALLY EXPLICIT. PAGES 30, 31, 33, 53-56 PLUS MORE
Best Gay Erotica 05	William J. Mann	9781573442039	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ Page 2-5, 10-11, 24-25
Best Laid Plans, The	LAUREN GALLGHER	9781619234062	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, .1.03 SEXUALLY EXPLICIT
Best Lesbian Romance 2013	Radclyffe	9781573449014	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03
Best Of Both Worlds, The	CHER JONES	9781943174140	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ PP 73-76,78-79,88-90,143 -145
Best Of Fresh Natural Girls	MARTIN KRAKE	9783957300119	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ PP 62-63, 73,74-75,222-223

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Best Of The Week Monday Crosswords	Will Shortz	9781250133243	Items prohibited from receipt by mail	Items prohibited from receipt by mail
Best Of Vincenzo Cucca, The		9789460781506	Sexually Explicit Material	Sexually Explicit Material
Best Sex Writing Of The Year	Jon Pressick	9781627780865	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Best Spectrum 12 In Contemporary Fantastic Art, The	Cathy Fenner/Arnie Fenner	9781887424943	Sexually Explicit Material	Sexually Explicit Material
Best Womens Erotica		9781627781534	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ Page #'s 202-205
Best Womens Erotica 2013	VIOLET BLUE	9781573448987	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ PP 8-9,56-57, 128-129,182-183 AND THROUGHOUT ENTIRE PUBLICATION
Better Homes And Gardens Complete Canning Guide		9780544454330	Any items which a inmate shall not possess	Any items which a inmate shall not possess Book is a metal 3-ring binder
Better Sex In No Time		9781627780711	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Beware Of Angels		9780828013000	Mail that the department deems pose a threat	Mail that the department deems pose a threat
Beyond Buds	Ed Rosenthal	9781936807239	Content restrictions	Content restrictions Code 2.01
Beyond Tattoo		9780956028471	Simulated penetration	Simulated penetration Code 1.03

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Beyond The Darkness	ALEXANDRA IVY	9781420128758	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ PP 106-107, 176-177, 288-289 THROUGHOUT ENTIRE PUBLICATION
Bible Of The Adversary, The		9780615181356	STG-related paraphernalia	STG-related paraphernalia THIS BOOK WAS ON THE UDRIVE VIOLATED LIST AS OF 8/30/16 UNDER 2e
Bible Verse-A-Day 2019 Calendar Magnetic Backer		9781449491482	Unauthorized Attachments	Unauthorized Attachments Code 2.08 Magnetic
Bible Word Search	Brain Games	9781450827157	Items prohibited from receipt by mail	Items prohibited from receipt by mail Metal Wire
Big Boob Girls Xposed 2018 Calendar Fully Revealed		9781890028855	Material which an inmate shall not possess within	Material which an inmate shall not possess within 4.0
Big Book Of Buds Marijuana Varieties From The Worlds Best Breeders	ED ROSENTHAL	9781936807321	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.01
Big Book Of Serial Killers	JACK ROSEWOOD	9781548119645	Material that Threatens	Material that Threatens Code 2.01 ~ PP 198-199,216,273,290- 291,322-323,348-349 AND THROUGHOUT ENTIRE PUBLICATION
Big Book Of Sudoku, The		9781405482851	Items prohibited from receipt by mail	Items prohibited from receipt by mail

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Big Girls Drama	Tresser Henderson	9781622867479	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Bitten By Cupid	LYNSAY SANDS	9780061894459	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Black & Grey Tattoo #3	Edition Reuss	9783934020894	Simulated or threatened acts	Simulated or threatened acts
Black & Grey Tattoo 2		9783934020887	Sexually Explicit Material	Sexually Explicit Material 1d
Black & Grey Tattoo, From Street Art To Fine Art	Marisa Kakoulas & Edgar Hoill	9783934020856	Material that Threatens	Material that Threatens BONDAGE - Box set all with same ISBN
Black & Grey Vol 1		9789872575243	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.09 ~ GANG TATTOOS AND SEXUALLY EXPLICIT
Black & Grey Vol 4		9789873762123	Material that Threatens	Material that Threatens
Black Belt Fitness For Life	TAE SUN KANG	9780804843744	Information would create clear and present danger	Information would create clear and present danger Code 2.01 & 2.07
Black Hand: The Story Of Rene Boxer Enriquez And His Life In The Mexican Mafia- By Chris Blatchford, The	e	9780061257308	Material that Threatens	Material that Threatens
Black Hat Python	Justin Seitz	9781593275907	Information would create clear and present danger	Information would create clear and present danger Book about Hacking - IT Review
Black Scarface	Jimmy Dasaint	9780982311103	Sexually Explicit Material	Sexually Explicit Material ode 1.01, 1.02, 1.03
Black Sheep Boy	Martin Pousson	9781942600374	Sexual acts minor or under 18	Sexual acts minor or under 18 Code 1.01, 1.02, 1.03

Page 17 of 148

Report Created on 04/11/2019

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Blackjack Strategy Card	Kenneth R Smith	9780982119150	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 4.01 ~ . Hard Plastic reference card
Blockchain	Mark Gates	9781547090686	Material that Threatens	Material that Threatens Code 2.05
Blockchain Revolution	TAPSCOTT	9781101980132	Material which an inmate shall not possess within	Material which an inmate shall not possess within
Blockchain Revolution	Don Tapscott and Alex Tapscott	9781101980149	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.05
Blockchain Technology Explained	alan t. norman	9781981522026	Material that Threatens	Material that Threatens
Blockchain: The Blockchain For Beginners	Nicholas Brown	9781976129995	Material that Threatens	Material that Threatens Code 2.05
Blonde Masterpieces Of Erotic Photography	MICHELLE OLLEY	9781560254171	Sexually Explicit Material	Sexually Explicit Material PPS 57 & 141 *ONLY QUESTIONABLE PICTURES IN BOOK
Blood Of My Brother The Faceoff		9780978637378	Sexually Explicit Material	Sexually Explicit Material page #'s 152, 190-192 Code 1.01, 1.02, 1.03
Blood Of Tmy Brother Zoe & Yusuf T Woods		9780978637316	Sexually Explicit Material	Sexually Explicit Material pp
Bloody Commas li	T.J. Edwards	9781981544028	Sexually Explicit Material	Sexually Explicit Material
Blow Me	LENNIE ROSS	9780578087917	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Blue Angel Logan Belle		9780758261601	Sexually Explicit Material	Sexually Explicit Material page #'s 206-209

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Blue Book Of Modern Black Powder Arms	JOHN B. ALLEN	9781936120352	Material that Threatens	Material that Threatens Code 2.01 ~ Page #'s 289, 291, 293, 295 ~ Conversion~
Blueprint Reading For Welders	AE Bennet, Louis J. Siy	9781133605782	Unauthorized Attachments	Unauthorized Attachments Code 2.08 Spiral Wire Binding
Blueprint Reading Professional Reference	DeWalt	9780977000357	Escape devices	Escape devices In-Depth detail on blue print reading - escape issues?
Bob Mizer Athletic Model Guild		9781919901251	Sexually Explicit Material	Sexually Explicit Material Code 2.04
Bodies Of Evidence	gregg olsen	9781494414962	Information would create clear and present danger	Information would create clear and present danger Code 2.05 Oregon inmate
Body Art		9780857680808	Inflammatory material	Inflammatory material
Body Art 2		9780857680815	Information would create clear and present danger	Information would create clear and present danger
Body Art 3		9780857680822		·
Body Art 4		9780857689153		
Body By Taylor Girls And Other Musings		9781561634224	Sexually Explicit Material	Sexually Explicit Material Code 1.03
Bondage Basics	Lord Morpheous	9781592336456	Simulated or threatened acts	Simulated or threatened acts Code 1.02, 1.03, 1.04
Booby Traps	lan Jones	9781510709607	Weapons & Explosives	Weapons & Explosives Code 2.01
Book Lovers	Shawna Kenney	9781580055291	Sexually Explicit Material	Sexually Explicit Material

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Book Of Fantasies: White	К	9780615971667	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Book Of Glock	Robert A Sadowski	9781510716025	Weapons & Explosives	Weapons & Explosives Code 2.01 ~ WORKINGS OF A GLOCK PISTOL
Book Of Martial Power, The	STEVEN J PEARLMAN	9781585679447	Material that Threatens	Material that Threatens Code 2.01, 2.03, PP 116-117,128-129,174- 175
Book Of Sailing Knots, The	Peter Owen	9781493036745	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.02 Diagrams on how to tie knots
Booty Encyclopedia Vol 1	Michael Enoches	9781946543257	Simulated or threatened acts	Simulated or threatened acts Code 1.01, 1.02, 1.03, 1.04
Both Sides Of The Fence	M.T. Pope	9781601624239	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Both Sides Of The Fence 2 Gate Wide Open	M. T. Pope	9781601622303	Sexually Explicit Material	Sexually Explicit Material
Both Sides Of The Fence 3 Loose Ends	M.T. Pope	9781601623195	Sexually Explicit Material	Sexually Explicit Material
Both Sides Of The Fence M T Pope		9781601621962	Sexually Explicit Material	Sexually Explicit Material
Bottles Modelz Issue 4 074470294054				
Boudoir Lighting	ROBIN OWEN	9781608957552	Sexually Explicit Material	Sexually Explicit Material Code 1.04 ~ BONDAGE
Bound By Loyalty	C-MURDER AND EUGENE L. WEEMS	9781496154378	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Boxers Start Up A Beginners Guide To Boxing		9781884654091	Mail that the department deems pose a threat	Mail that the department deems pose a threat
Boxing For Fitness		9781554079063		
Boxing Like The Champs	Mark Hatmaker	9781935937760	Information would create clear and present danger	Information would create clear and present danger throughout book, representative pages 13-15, 18-19, 43-48, 87-89
Boys Of Life	Paul Russell	9781627781725	Sexually Explicit Material	Sexually Explicit Material ode 1.01, 1.02, 1.03
Boys One This Is Going To Hurt, The	GARTH ENNIS		Simulated sexual acts	Simulated sexual acts Code 1a,b,c, ONE PICTURE IN QUESTION
Boys One, The	GARTH ENNIS		Sexually Explicit Material	Sexually Explicit Material ONE QUESTIONABLE PICTURE IN BOOK
Brain Games		9781412714501	Material that Threatens	Material that Threatens Spiral Metal Binding
Brief Encounters	Shane Allison	9781573446648	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Bright Fire- By Maya Hess		9780352341044	Simulated sexual acts	Simulated sexual acts
Broken Doll Burl Barer		9780786019250	Sexual acts minor or under 18	Sexual acts minor or under 18
Bruce Caleros Naked Desire Volume 1		9780865622098	Sexually Explicit Material	Sexually Explicit Material Code 1.04 ~ BONDAGE, EXECRETORY FUNCTIONS

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Bruce Lee Incomparable Fighter, The	M Uyehara	9780897501200	Material that Threatens	Material that Threatens Code 2.01
Bruce Lee Jeet Kune Do	John Little	9780804831321	Material that Threatens	Material that Threatens violation stands. review mtg 7-14-17
Bruce Lee The Tao Of Gung Fu A Study In The Way Of Chinese Martial Arts		9780804831109	Information would create clear and present danger	Information would create clear and present danger
Bruce Lee:The Art Of Expressing The Human Body	John Little	9780804831291	Material that Threatens	Material that Threatens Code 2.01, 2.07
Build The Perfect Bug Out Vehicle		9781440333088	Material that Threatens	Material that Threatens Pages 114 & 133-134
Building Websites All-In-One For Dummies	David Karlins	9781118270035	Any items which a inmate shall not possess	Any items which a inmate shall not possess
Burn		9781624906930	Sexually Explicit Material	Sexually Explicit Material pages 112-114, 116-118, 149-152, 190-192
Burn	may abanks	9780425267080	Sexually Explicit Material	Sexually Explicit Material pgs 111-120, 142-153, 184-192 full of detailed graphic sexual activity
Bush Craft 101		9781440579776	Mail that the department deems pose a threat	Mail that the department deems pose a threat
Bushcraft Field Guide To Trapping, Gathering, & Cooking In The Wild, The	Dave Canterbury	9781440598524	Weapons & Explosives	Weapons & Explosives Code 2.01 ~ Teaches making weapons and traps to kill.
Bushcraft Handbook, The	Richard H. Graves	9781484822265	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.01

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Bushcraft Richard Graves		9781620873618	Material that Threatens	Material that Threatens 186,234,264
Busy Bodies Chocolate Flava 4		9781624905780		
By Private Invitation	Stephanie Julian	9780425262870	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03
By Privated Invitation Stephanie Julian		9781620908310		
By The Sea Color And Frame	Davis	9781680223163	Unauthorized Attachments	Unauthorized Attachments Code 4.02 Metal Spiral Binding
C++ For Dummies	Stephen R Davis	9781118823774	Material that Threatens	Material that Threatens code 2.05
C++ Primer	Stanley B. Lippman, Josee Lajoie, Barbara E. Moo	9780321714114	Code	Code Code 2.01
C++ Programming	Mike McGrath	9781840787573	Information would create clear and present danger	Information would create clear and present danger Code 2.05
California Journeyman Electrician 2014 Exam Questions & Study Guide	RAY HOLDER	9781945660610	Material that Threatens	Material that Threatens Code 2.05
Caligula Volume 1		9781592911622	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04
Call Me By Your Name	Andre Aciman	9781843546535	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Camp Life In The Woods And The Tricks Of Trapping And Trap Making		9781620874257	Mail that the department deems pose a threat	Mail that the department deems pose a threat
Can I Taste It?	David Weaver	9781503272811	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Cannabis	Damien Miller	9781537423777	Material that Threatens	Material that Threatens

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Cannabis Encyclopedia, The	Jorge Cervantes	9781212823342	Criminal activity, conversion of weapons	Criminal activity, conversion of weapons Pg 23-32, 533-556 Code 2.01
Cannabis Grow Bible- By Greg Green, The		9781931160582		
Cannabis Regeneration	J. B. Haze	9781937866044	Narcotics or narcotics paraphernalia	Narcotics or narcotics paraphernalia How to book on growing more potent Cannabis
Cannabis Underground Library		9780914171713	Criminal activity, conversion of weapons	Criminal activity, conversion of weapons Code 2.01
Cant Get Enough	Tenille Brown	9781627780346	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ Page #'s 10-13, 38-41, 44-45
Carnal Alchemy		9781620551097	Sexually Explicit Material	Sexually Explicit Material PPS 55,61,76,92-99, 105 AND THROUGHT ENTIRE PUBLICATION. THIS BOOK IS ALREADY ON THE U DRIVE STATE REJECTED LIST AS OF 12/20/13
Carnal Sin	Allison Brennan	9780345511683	Sexually Explicit Material	Sexually Explicit Material code 1.01, 1.02, 1.03 ~ Page #'s 226-227, 422-423
Carries Story An Erotic Sm Novel		9781573449083	Sexually Explicit Material	Sexually Explicit Material
Cartel 1, The		9781622865024	Sexually Explicit Material	Sexually Explicit Material Pg 48-49, 86-87, 115-122, 124, 134

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Cartel 2		9781622865031	Sexually Explicit Material	Sexually Explicit Material Code 1.04 ~ Pg 125,162,185
Cartel 2, The		9781601626202	Sexually Explicit Material	Sexually Explicit Material
Cartel 3		9781601622570	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ pp 108-109,126-127
Cartel 3 The Last Chapter, The		9781616645960	Sexually Explicit Material	Sexually Explicit Material
Cartel, The		9781601625212	Sexually Explicit Material	Sexually Explicit Material
Ccie Routing And Switching V5. Official Cert Guide Library 5th Edition		9781587144929	Material that Threatens	Material that Threatens
Celtic Plant Magic A Workbook For Alchemical Sex Rituals	Jon G. Hughes	9780892819249	Material that Threatens	Material that Threatens Code 2.01
Celtic Stained Glass Coloring Book	COURTNEY DAVIS	9780486274560	Items prohibited from receipt by mail	Items prohibited from receipt by mail Code 2.01
Cgi Developers Guide	EUGENE ERIC KIM	9781575210872	Material that Threatens	Material that Threatens Code 2.05 ~ CONTENTS AND PP 6-7
Chapman Piloting & Seamanship		9781588169617	Criminal activity, conversion of weapons	Criminal activity, conversion of weapons Code 2.02 ~ pg 797-807
Charged	JAY CROWNOVER	9780062385970	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ PP184-187,234-239
Childrens Songbook	LDS Church	9781573455213	Material that Threatens	Material that Threatens Metal Spiral
Chinkz 2017 Calendar	Straight Stuntin Magazine		Sexually Explicit Material	Sexually Explicit Material
Chobits Omnibus Book 2	_	9781595825148	Sexually Explicit Material	Sexually Explicit Material

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Christmas Kiss, A	Celeste O. Norfleet, Regina Hart, Deborah Fletcher Mell	9781496700506	Sexually Explicit Material	Sexually Explicit Material code 1.01, 1.02, 1.03 page #'s 34-35, 58-59, 102-103, 208-213, 306-307, 350-351
Church Pimps	THE MASTER PIMP	9780964729872	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ PP 64-66, 106-107, 274-275 AND THROUGHOUT PUBLICATION
Cia Lockpicking Manual, The		9781616082321	Material that Threatens	Material that Threatens Code 2.02
Cider Hard & Sweet	Ben Watson	9781581572070	Mail that the department deems pose a threat	Mail that the department deems pose a threat 291-131-0035 (2) A,g
Cinema Sewer	ROBIN BOUGIE	9781903254455	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 1.04 ~ PP 48,88,130-154-155,17 0-171 AND THROUGHOUT PUBLICATION
Circle Of Sins	Nurit Folkes and Teri Woods	9780977323456	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03, 1.04
City Of Souls	VICKI PETTERSSON	9780061456787	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 SEXUALLY EXPLICIT
Clanbook:Toreador	Steven Brown	9781565040953	Sexually Explicit Material	Sexually Explicit Material

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Classic Comic Postcards		9781782435785	Items prohibited from receipt by mail	Items prohibited from receipt by mail Code 4.01~ BLANK POST CARD ON EVERY PAGE
Classic Tattoo Designs		9780486447599		Designs used for tracing on tattoo's
Classic Tattoo Stencils	Cliff White	9780764349997	Sexually Explicit Material	Sexually Explicit Material Code 2.05
Clear Water	AMY LANE	9781613721919	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ SEXUALLY EXPLICIT
Cocaine Chronicles, The	PHILLIPS & TERVALON	9781617750298	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ SEXUALLY EXPLICIT
Coding For Beginners		9781840786422	Material that Threatens	Material that Threatens
Coding With Javascript For Dummies	CHRIS MINNICK	9781119056072	Material that Threatens	Material that Threatens Code 2.05
Coldest Winter Ever Sister Souljah, The		9781416521693	Sexually Explicit Material	Sexually Explicit Material
Collar, The	Tara Sue Me	9780451474537	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04
Color Altas Of Pediatrics, The	Richard Usatine/Camille Sabella	9780071767019 a	Sexual acts minor or under 18	Sexual acts minor or under 18 Code 1.05
Color Me Beautiful		9781488906466	Material that Threatens	Material that Threatens Code 4.10 ~ BOOK INCLUDES 2 PAGES OF STICKERS
Color Mixing Recipes		9781560109907	Items prohibited from receipt by mail	Items prohibited from receipt by mail
Colored Pencil Artists Drawing Bible, The		9780785823636	Material that Threatens	Material that Threatens

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Colored Pencil Pocket Palette	CHARTWELL BOOKS	9780785834571	Unauthorized Attachments	Unauthorized Attachments code 2.08 ~ WIRE BINDING
Colorful Dreams	RYOHZOH	9781624590016	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.05
Colossal Collection Of Action Poses		9781440309229	Physical harm	Physical harm 2 a, g PPS 82-87, 126-135 THIS BOOK IS ON THE STATE REJECTED LIST AS OF 8/4/16
Comic Artists Essential Photo Reference	Buddy Scalera	9781440344756	Material that Threatens	Material that Threatens Code 2.01, 2.07 ~ PP 112-119
Commander In Chief	Katy Evans	9781539876014	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1103 Page #'s 44-45, 64-65, 82-85, 122-125, 158-159, 176-179
Commissary Kitchen: My Infamous Prison Cookbook		9780997146233	Intoxicants or medications	Intoxicants or medications Code 2.01 Recipe for hooch to make in prison
Comp Tia A+ Certification	MIKE MEYERS	9781259589515	Code	Code Code 2.05
Comp Tia Server + Certification		9781259838033	Code	Code Code
Complete Aikido	Roy Suenaka	9780804831406	Material that Threatens	Material that Threatens
Complete Armanen, The		9780615639475	Mail that the department deems pose a threat	Mail that the department deems pose a threat Code 2.07, 2.09, 2.10

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Complete Art Of Tattooing, The	ERICK ALAYON	9781478180487	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.01 ~ HOW TO BUILD A TATTOO GUN
Complete Crumb Comics, The Volume 6		9781606996836	Sexual acts minor or under 18	Sexual acts minor or under 18 Code 1.01, 1.02, 1.03
Complete Electronics Self-Teaching Guide With Projects	BOYSEN & KYBETT	9781118217320	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.01
Complete Guide To Edible Wild Plants, The		9781602396920	Material that Threatens	Material that Threatens pp 127-133,140-141
Complete Guide To Gunsmithing, The		9781632202697	Weapons & Explosives	Weapons & Explosives
Complete Guide To Sailing & Seamanship	Twain Braden	9781616082468	Material that Threatens	Material that Threatens Code 2.02 ~ pages 1 - 29
Complete Guide To Wiring, The	BLACK AND DECKER	9781591866121	Material that Threatens	Material that Threatens reversed violation 3/20/18 TG
Complete Origami Kit	Tuttle	9780804847070	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.01 ~ Origami paper included in kit. Boxed set.
Complete Us Army Survival Guide To Shelter Skills, Tactics, And Techniques, The	US Army	9781510707429	Material that Threatens	Material that Threatens Code 2.01, 2.07
Comptia A+ Complete Study Guide	Docter, Dulaney, Skandier	9781119137856	Code	Code Code 2.05
Comptita Network Plus Certification	Mike Meyers	9781260122381	Code	Code Code 2.05

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Computer Forensics Infosec Pro Guide	DAVID COWEN CISSP	9780071742450	Violation of Administrative Directives	Violation of Administrative Directives Code 2.05
Computer Networking 6th Edition	KUROSE & ROSS	9789332585492	Information would create clear and present danger	Information would create clear and present danger Code 2.05
Computer Organization And Architecture: Designing For Performance	William Stallings		Material which an inmate shall not possess within	Material which an inmate shall not possess within
Computer Programming Module 2	STRATFOR CAREER INSTITUTE		Information would create clear and present danger	Information would create clear and present danger Code 2.05
Computer Programming Module 3	STRATFORD CAREER INSTITUTE		Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.05 COMPUTER PROGRAMMING
Computer Science	J. Glenn Brookshear	9780132569033	Code	Code
Computer Science Distilled	WLADSTON FERREIRA FILHO	9780997316025	Mail that the department deems pose a threat	Mail that the department deems pose a threat Code 2.05
Computer Science Handbook	Allen Tucker	9781584883609	Material which an inmate shall not possess within	Material which an inmate shall not possess within
Confessions Of A Dope Boy	First Lady K	9781522886655	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03 ~ Pages 104, 190-191
Confessions Of The Hundred Hottest Porn Stars		9781592334773		-
Confessions Video Vixen		9780060892487	Sexually Explicit Material	Sexually Explicit Material
Contact Sheet, The	William Claxton	9781934429082	Physical harm	Physical harm Code 1.04

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Control	CHARLOTTE STEIN	9781402289569	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ PP 48-51,70-71,198-203
Cooking In The Big House		9781535603492	Violation of Administrative Directives	Violation of Administrative Directives Code 2.01
Corruption Officer	Gary L. Heyward	9781476794327	Criminal activity, conversion of weapons	Criminal activity, conversion of weapons Code 2.01 ~ Pages 4-5
Counter Terrorism Weapons & Equipment	JAMES MARCHINGTON		Material that Threatens	Material that Threatens Code 2.01, ~ CONTENTS & PP 189-209
Country Wisdom & Know How- By Storey Books		9781579123680	Escape devices	Escape devices
Cover	Jack Ketchum	9780843961874	Sexual acts minor or under 18	Sexual acts minor or under 18 Code 1.01, 1.02, 1.03 Beat and tortured a girl maybe fifteen and maybe twenty cut her breasts with a knife then put the M16 in her vagina
Cover Girls	guillem march	9781607064916	Sexually Explicit Material	Sexually Explicit Material Code 1.04, PP 64,68,72
Cover Him With Darkness		9781940550015	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Covet Jr Ward		9780451228215	Sexually Explicit Material	Sexually Explicit Material
Cowboy At Midnight	ANN MAJOR	9780373364800	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Cowboy Heaven	CHERYL BROOKS	9781492607458	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ PP 30-33,72-75,102-105,1 84-187 AND THROUGHOUT PUBLICATION
Craft Distilling	Victoria Redhed Miller	9780865718043	Criminal activity, conversion of weapons	Criminal activity, conversion of weapons Pages 24-25, 28-33, 66-69 Code 2.01
Crafts And Skills Of The Native Americans- By David R. Montgomery		9781602396760	Material that Threatens	Material that Threatens
Crave The Night		9780345532657	Sexually Explicit Material	Sexually Explicit Material
Craving	Helen Hardt	9781943893171	Sexually Explicit Material	Sexually Explicit Material Violation code 1 a,b,c
Crime Pays		9780983080404	Sexually Explicit Material	Sexually Explicit Material
Crimson Embrace Vi		9780865620698	Sexually Explicit Material	Sexually Explicit Material Violated for 1a,b,c,
Crosswords Cvm Lavde	Patrick Berry	9781402785948	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.01 ~ Spiral Wire Binding
Crosswords For Pilots	Michael Shurtz	9781560277316	Unauthorized Attachments	Unauthorized Attachments Code 2.08 Wire Binding
Cruisin With The Hound	Spain Rodriguez	9781606994610	Sexually Explicit Material	Sexually Explicit Material COde 1.01, 1.02, 1.03 ~ Page #'s 38- 39, 42-45, 88-89
Csi (Brain Games)	Atlay, et al	9781680227772	Unauthorized Attachments	Unauthorized Attachments Code 2.08

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Cum For Me	Cash Whispers	9781502466914	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Curvey Girl Sex	Elle Chase	9781592337408	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 review 7-14-17 TG
Curvy Girls Do It Collection	Ulriche Kacey Padriaige	9781492902621	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Cybercrime And The Darknet	CATH SENKER	9781784284572	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.05 ~ TALKS ABOUT HOW TO COMMIT CYBER CRIME PAGES 37, 38, 43, 44
Cybercrime And The Darknet	Cath Senker	9781784288686	Material that Threatens	Material that Threatens
Cyberpunk	Victoria Blake	9781937163082	Material that Threatens	Material that Threatens Code 2.05
D & D Guildmasters Guide To Ravnica		9780786966615	Items prohibited from receipt by mail	Items prohibited from receipt by mail Laminated pages are not allowed.
D-Frag! 2	Tomoya Haruno	9781626920712	Physical harm	Physical harm Code 1.04, 1.05
D-Fragg		9781626920705	Physical harm	Physical harm 1.04, 1.05
D.C. Super Heroes The Ultimate Pop-Up Book	Matthew Reinhart	9780316019989	Material that Threatens	Material that Threatens
Daddys Girl	Margie Orford	9780062339126	Sexual acts minor or under 18	Sexual acts minor or under 18 Code 1.05 ~ Rape of a young boy by an old man facilitated by the mothers pimp that murdered her

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Daddys Little Princess	Cathy Glass	9780007569373	Sexual acts minor or under 18	Sexual acts minor or under 18 Code 1.05 ~ Emotional and/or sexual abuse of young daughter
Damage Control	LISA RENEE JONES	9781250083838	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Dance With The Devil		9780312984830	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03
Dangerous Ground	M William Phelps	9781496709523	Violation of Administrative Directives	
Dangerous Ground	M. William Phelps	9780786040841	Material that Threatens	Material that Threatens Code 2.05 ~ Book about the Happy Face Killer, discovered that he is in ODOC custody at OSP
Danzig: Lyrics Of The Left Hand	Simon Bisley	9781885730329	Sexually Explicit Material	Sexually Explicit Material Code 1.04
Dark Legacy	CHRISTINE FEEHAN	9780399584015	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Dark Light	SL Jennings	9781482016932	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 page 129,130,131
Dark Lover		9780451468109		Code 1.01, 1.02, 1.03
Dark Lover		9780451468109		Code 1.01, 1.02, 1.03
Darker	E L James	9780385543910	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 1.04
Darker After Midnight		9780440246121		

Page 34 of 148

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Darker Edge Of Desire Gothics Tales Of Romanc	e	9781940550008	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Darker Passions, The: Dr Jekyll & Mr Hyde	Amarantha Knight	9781885865366	Simulated or threatened acts	Simulated or threatened acts Code 1.04 ~ Page 30-37, 96-97, 104-105, 118-119,126-127
Darkest Before Dawn	Maya Banks	9780425276990	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ pgs 226-229, 234-239
Darkest Night, The	Gena Showalter	9780373775224	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ pgs 196-209
Darkness Revealed	ALEXANDRA IVY	9781420131031	Sexually Explicit Material	Sexually Explicit Material Page #'s 20-21, 124-127 ~ Code 1.01, 1.02, 1.03
Darkness Unleashed	ALEXANDRA IVY	9781420124552	Sexually Explicit Material	Sexually Explicit Material Code 1a,b,c, page #'s 106-111, 152-159, 256-259
Days Of The Cougar Liz Earls		9783836519793		
Dead Until Dark	Charlaine Harris	9780441008537	Sexually Explicit Material	Sexually Explicit Material
Deadline	SANDRA BROWN	9781455549122	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ SEXUAL CONTENT THROUGHOUT BOOK
Deadly Sins	Lora Leigh	9780312389093	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03 Affirmed by T. Ridley

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Deadpool Second Cut Max	David Lapham/Kyle Baker Shawn Crystal	9780785159230	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 1.04 ~ NO PG #S - 3 PAGES SUBMITTED
Death Row Breakout And Other Stories	EDWARD BUNKER	9781453236734	Material that Threatens	Material that Threatens Code 2.02 BREAKING OUT OF PRISON
Debbie Does Dodge	Dick Glaze	9781897348666	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Decidido A Obedecer	CJ Roberts	9781511928038	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04
Deeper Love Inside The Porsche Santiaga Story Sister Souljah, A		9781439165324	Sexually Explicit Material	Sexually Explicit Material
Delicious	SHAYLA BLACK	9780425232422	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ PAGES 1, 2, 3, 9, 10 PLUS MORE.
Delta Of Venus Erotica	Anaisnin	9780151246564	Sexually Explicit Material	Sexually Explicit Material code 1.01, 1.02, 1.03 ~ page 38-39, 51, 71, 116, 173, 237-238
Demonfire	KATE DOUGLAS	9781420109993	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ PAGES 209-215 AND THROUGHOUT BOOK - SEXUAL CONTENT

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Design Your Garden Tool Kit	Michelle Gervais	9781612129228	Any items which a inmate shall not possess	Any items which a inmate shall not possess Code 2.09 ~ Book contains large plastic folder on inside cover. In folder has 150 reusable stickers and design board. To remove folder it would affect book quality
Devilman G, Vol. 4	Go Nagai	9781626928503	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04, 1.05
Devilman G, Vol. 5	Go Nagai	9781626929432	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04, 1.05
Diabolically Hard Freball Crosswords	Peter Gordon	9781454916451	Unauthorized Attachments	
Diary Of A Sex Fiend		9781602390157	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Diary Of A Street Diva	ASHLEY & JAQUAVIS	9781601621412	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 , 1.04 ~ PPS 24-25, 82-83,222-223 AND THROUGHOUT PUBLICATION
Diary Of A Submissive		9781592408252	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04 ~ PP 66-67,86-87,144-145,2 42-247
Digital Communication	R.N. Mutagi	9780198075493	Material that Threatens	Material that Threatens Code 2.05

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Dimension W Blu-Ray Dvd Combo Pack			Any items which a inmate shall not possess	Any items which a inmate shall not possess Code 2.09 ~ Blu-Ray DVD Set
Dirtier Than Ever	Vickie M Stringer	9781439166123	Sexually Explicit Material	Sexually Explicit Material
Dirty Girl Collection Naked & Uncensored	GOLIATH-ELLEN STAGG	9783957300096	Sexually Explicit Material	Sexually Explicit Material PPS- 34-35,38-39,72-73, 78-79,92-93,162-163,2 55, 318
Dirty Rendezvous	CHAS RAY KRIDER	9783936709650	Sexually Explicit Material	Sexually Explicit Material Code 2.04 ~ PP 38-41, 56-57, 62, 170-171, 186 AND THROUGHOUT PUBLICATION
Dirty White Boys	STEPHEN HUNTER	9780679437512	Mail that the department deems pose a threat	Mail that the department deems pose a threat Code 1.01, 1.02, 1.03 2.01 ~ PRISON ESCAPE AND VIOLENCE
Discovering Computers 2010: Living In A Digital World	Shelly/Vermaat		Material which an inmate shall not possess within	Material which an inmate shall not possess within
Discovering Computers Enhanced		9781285845500	Items prohibited from receipt by mail	Items prohibited from receipt by mail COMPUTER BOOK
Distance, The	Alexa Land	9781530956562	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ Pages 61-67
Diy Cannabis Extracts	Chris Jones	9781535120784	Material that Threatens	Material that Threatens Pgs: 62-72 Code 2.01

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Diy Lithium Batteries	MICAH TOLL	9780989906708	Mail that the department deems pose a threat	Mail that the department deems pose a threat HOW TO MAKE LITHIUM BATTERY PACKS
Doctors Orders	Deanna Ashford	9780352334534	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Doll House, The	EDWARD LEE	9781944703370	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ SEXUALLY EXPLICIT
Dont Be Cruel Plus +	yonezou nekota	9781421587004	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 1.04, 1.05
Dont Meddle With My Daughter	Nozomu Tamaki	9781626925328	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03, 1.04
Dont Tempt Me	Sylvia Day	9780758217639	Sexually Explicit Material	Sexually Explicit Material code 1.01, 1.02, 1.03 ~ pgs 1, 168-173
Dopefiend	Donald Goines	9780870679599	Sexually Explicit Material	Sexually Explicit Material
Dos Al Hilo Y Otros Cuentos Eroticos	Jaime Arenas Saavedra	9789569544286	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Dot . To . Dot		9781450875752	Material which an inmate shall not possess within	Material which an inmate shall not possess within
Down And Dirty	ALISON TYLER	9781573449687	Simulated sexual acts	Simulated sexual acts
Down To You	M. LEIGHTON	9780425269848	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04 ~ PG 259-260
Dragon Art		9781440318641	Items prohibited from receipt by mail	Items prohibited from receipt by mail

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Dragon Song: Wings Of Conquest Vol #1		9780865622074	Simulated or threatened acts	Simulated or threatened acts
Dragonar Acadamy 10	Shiki Mizichi	9781626922709	Sexual acts minor or under 18	Sexual acts minor or under 18 Code 1.01, 1.02, 1.03, 1.05
Dragonar Academy 1		9781626920040	Sexually Explicit Material	Sexually Explicit Material
Dragonball Z Sketch Book Plus		9781731177629	Items prohibited from receipt by mail	Items prohibited from receipt by mail Code 2.08 BLANK PAGES THROUGH OUT BOOK
Dragons Rioting	Tsuyoshi Watanabe	9780316305419	Sexually Explicit Material	Sexually Explicit Material pg 64, 76, 97, 126
Drakaina Fantasy Art Muse		9780865621879	Simulated or threatened acts	Simulated or threatened acts
Drakaina Masters		9780865622104	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Drawn Obsession 2	Lilliana Anderson	9781502354051	Sexually Explicit Material	Sexually Explicit Material Violation code 1 a,b,c
Drawn Redemption 2	Lilliana Anderson	9781502320049	Sexually Explicit Material	Sexually Explicit Material Violation code 1 a,b,c
Drug Wars		9781784040147	Material that Threatens	Material that Threatens
Dungeons & Dragons Tactical Maps		9780786966790	Any item larger than 18" x 18"	Any item larger than 18" x 18" Includes 10 posters larger than 18x18
Dynamic Strength	HAYYR WONG		Material that Threatens	Material that Threatens Code 2.01, 2.07
Ecchi Girls Adult Art Book	FlowerXL	9781516953608	Sexually Explicit Material	Sexually Explicit Material
Edge Of Dawn		9780345532626	Sexually Explicit Material	Sexually Explicit Material
Page 40 of 148			Repo	rt Created on 04/11/2019

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Edible Wild Plants		9781402767159	Material that Threatens	Material that Threatens pp 258-273
Electronic Gadgets For The Evil Genius	Bob lannini	9780071790598	Material that Threatens	Material that Threatens
Electronics Demystified	STAN GIBILISCO	9780071768078	Material that Threatens	Material that Threatens Code 2.05
Electronoics For Dummies		9781119117971	Material that Threatens	Material that Threatens INCLUDED IS TABLE OF CONTENTS & INTRODUCTION
Elektra		9780785131366	Sexually Explicit Material	Sexually Explicit Material Code 2.04 ~ Page # 204
Elizabeths Bondage	Nikki Sex	9781500653422	Simulated or threatened acts	Simulated or threatened acts Code 1.04, pages 1-13
Elizabeths Wolf	LORA LEIGH	9780399587887	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04 ~ . PAGES 77, 78, 79, 92, 93 PLUS MORE
Emergency	Neil Strauss	9780060898779	Material that Threatens	Material that Threatens Code 2.01 ~ Pages 11-12, 161-162, 308-309 and 343-344
Emmanuelle 2		9780802122360		
Emmanuelle Arsan		9780802122353	Simulated sexual acts	Simulated sexual acts
Encyclopedia Of Integrated Circuits: A Practical Handbook Of Essential Reference Data	Walter Buchsbaum		Material which an inmate shall not possess within	Material which an inmate shall not possess within
Endless Night	Richard Laymon	9781477837061	Sexual acts minor or under 18	Sexual acts minor or under 18 Code 1.04, 1.05
Enslave Beauty Tames The Beast Cathy Yardley		9780062265579		

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Erotic Chinese Massage	Wang-Puh Wei/Chris Teachers	9781632203243	Sexually Explicit Material	Sexually Explicit Material
Erotic Elfin Art Of Nymphettes		9780865620964	Sexually Explicit Material	Sexually Explicit Material
Erotic Elfin Art Of Nymphettes		9780865620964	Sexually Explicit Material	Sexually Explicit Material
Erotica 9	Maxim Jakubowski	9780762438280	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02 1.03 ~ Page #'s 352-355
Erotica 9	Maxim Jakubowski	9780762438280	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02 1.03 ~ Page #'s 352-355
Erotix Literary Journal Of Somatics	BodyTrust	9780990762881	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04
Esssentials Of Fire Fighting	IFSTA	9780879395094	Escape devices	Escape devices Code 2.02
Ethereum	HENNING DIEDRICH	9781523930470	Material that Threatens	Material that Threatens
Every Trick In The Book	Charlie Dancey	9781468303438	Material that Threatens	Material that Threatens Code 2.02
Everyday Fermentation Handbook, The	Branden Byers	9781440573668	Material that Threatens	Material that Threatens
Everything Knots Book, The	RANDY PENN	9781593370329	Material that Threatens	Material that Threatens Code 2.02 ~ PP 60-61,100-101,122-12 3,166-167 AND THROUGHOUT ENTIRE PUBLICATION
Excel 2000 Functions In Practice	Patrick Blattner	9780789720450	Code	Code Code 2.05
Excel 2013: The Basics	Luther M. Maddy III, Ph.D.	9781496155528	Items prohibited from receipt by mail	Items prohibited from receipt by mail Code 2.05

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Excell 2000 For Windows For Dummies		9780764504464	Material that Threatens	Material that Threatens Code 2.05
Exhibitionist, The	Tara Sue Me	9780451474520	Sexually Explicit Material	Sexually Explicit Material
Existence Within Thee Mechanism	JEFFERY SCOTT	9781614040194	Material that Threatens	Material that Threatens Code 1.04 ~ BONDAGE
Exploring Raspberry Pi	Molloy, Derek	9781119188681	Mail that the department deems pose a threat	Mail that the department deems pose a threat Code 2.05
Exploring Tarot Using Radiant Rider-Waite	Avia Venefica	9781572818101	Unauthorized Attachments	Unauthorized Attachments Code 2.09 ~ Tarot deck of cardslarge posterbook set
Explosive	Tori St. Claire	9781491244012	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Exposed	NAOMI CHASE	9780758253217	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ PP 42-43,56-57,298-301 AND THROUGHOUT PUBLICATION
Exposed When Good Wives Go Bad Anna J		9781624908217		
Extreme Curves	Phil Henderson	9781561635450	Simulated or threatened acts	Simulated or threatened acts Code 1.04
Extreme Food	Bear Grylls	9780062416759	Material that Threatens	Material that Threatens Code 2.00 ~ Page #'s 146-149
Fairy Swatter	PETER MELILLO	9780999517727	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Fairy Tales		9780865622456	Sexually Explicit Material	Sexually Explicit Material Bondage, Simulated sexual acts
Page 43 of 148			Repor	t Created on 04/11/2019

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Fairy Tales Vol 2 A Gallery Girls Collection		9780865621589	Simulated or threatened acts	Simulated or threatened acts
Fantasy Of Action	Ed Cervone	9781919901206	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03
Fantasy Sex	LISA SWEET	9781847323620	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04
Fascinated Tales Of Erotic Romance		9780758246288	Sexually Explicit Material	Sexually Explicit Material ode 1.01, 1.02, 1.03 ~ Page #'s 18-21, 24-27, 32-35
Fastner & Larsons Sexy Dreams		9780865622517	Freestanding Nude	Freestanding Nude Code 1.04
Felon Fitness		9781440526596	Information would create clear and present danger	Information would create clear and present danger
Fetishisms Immoral	TAKUMI ADACHI	9781624590085	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.05 NO PAGE NUMBERS - 2 SCANS UNPOADED
Fetishisms Immoral	TAKUMI ADACHI	9781624590085	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.05 NO PAGE NUMBERS - 2 SCANS UNPOADED
Fetishisms: Sexy Wives	TAKUMI ADACHI	9781624590856	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 1.05 SEXUALLY EXPLICIT
Fever	maya banks	9780425267066	Sexually Explicit Material	Sexually Explicit Material pgs 28-33, 42-48, 149-152, 196-198, 204-209, 238-244 Code 1.01, 1.02 1.03
Field Guide To Mushrooms Of North America	R. Michael Davis/Robe Sommer/John A Menge		Material that Threatens	Material that Threatens Code 2.01

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Fifty Shades Darker	E L JAMES	9780525431886	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04
Fifty Shades Darker El James		9780345803498	Sexually Explicit Material	Sexually Explicit Material
Fifty Shades Freed El James		9780345803504	Sexually Explicit Material	Sexually Explicit Material
Fifty Shades Of Bondage & Submission	RENEE DUBOIS	9781780978031	Sexually Explicit Material	Sexually Explicit Material pps 19,60-61,76-81 and throughout entire publication
Fifty Shades Of Gray	EL James	9781784750251	Sexually Explicit Material	Sexually Explicit Material
Fifty Shades Of Grey		9780345803481	Sexually Explicit Material	Sexually Explicit Material
Fifty Shades Trilogy Set	E L James	9780345804044	Sexually Explicit Material	Sexually Explicit Material Box set of all 3 violated books.
Fight Club 2 #1	PALAHNIUK & STEWART		Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ SEXUALLY EXPLICIT
Fight Club 2 #2	PALAHNIUK & STEWART		Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ SEXUALLY EXPLICIT
Fight Like A Physicist	Jason Thalken, PHD	9781594393389	Material that Threatens	Material that Threatens Violation code 2 a,g
Fighting Fit	Doug Werner, Alan Lachica	9781884654022	Information would create clear and present danger	Information would create clear and present danger throughout book - representative pages - 29-44, 55-72
Finding Your Own North Star	Martha Beck	9780307461988	Unauthorized Attachments	Unauthorized Attachments Code 2.08 Wire binding

Page 45 of 148

Report Created on 04/11/2019

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Finishing Machine	Mike Arnold, Emilia Gardner	9780997848496	Material that Threatens	Material that Threatens Code 2.05 ~ pg 53-58, 111-118, 222-235 book about inmate Gerald Strebendt's case
Fire Smart Home Handbook, The	CLYDE SOLES	9780762796908	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.01
First 10 Years Nerve, The		9780811859875	Sexually Explicit Material	Sexually Explicit Material
Fix Kwan, The		9781601625854		
Flare The Art Of Junko Mizuno	JUNKO MIZUNO	9784309908212	Sexually Explicit Material	Sexually Explicit Material Code 1.04
Flipping Numbers		9780990869443	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ pgs 26-27, 42-43, 88-89, 116-119
Flirt		9780515148978	Sexually Explicit Material	Sexually Explicit Material 1ABC Page 29 Bondage
Flirt The Art Of Naughty Vol 1	SEAN GALLIMORE		Sexually Explicit Material	Sexually Explicit Material PAGES SUBMITTED
Flirt The Art Of Naughty Vol Two	SOP	9780865621145	Sexually Explicit Material	Sexually Explicit Material This book is on the "old" State rejection list as of 2/29/16
Floral		9780600634003	Contraband material	Contraband material Code 6.12 ~ 20 blank post cards
Floral Pattern Drawing For The Artistically Impaired	Pete Gorrell		Unauthorized Attachments	Unauthorized Attachments Spiral Binding

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Food Wars! Shokugeki No Soma #22	Yuto Tsukuda	9781421597041	Sexual acts minor or under 18	Sexual acts minor or under 18 Code 1.05
For The Love Of Bali	Bruno Gmuender	9783867872393	Sexually Explicit Material	Sexually Explicit Material Violation code 1 a,b,c.
Foraging Mushrooms Oregon	Jim Meuninck		Material that Threatens	Material that Threatens Code 2.01
Four Play	Maya Banks/Shayla Black	9780425236697		
Franken Fran #3-4	Katsuhisa Kigitsu	9781626922303	Simulated or threatened acts	Simulated or threatened acts Code 1.01, 1.02, 1.03 1.05
Frat Boys	Shane Allison	9781573447133	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Freezing Vol 7-8		9781626922495	Sexually Explicit Material	Sexually Explicit Material Code 1.04
Fresh Men 2: New Voices In Gay Fiction	Andrew Holleran/Donald Weise	9780786716159	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Fresh Natural Girls Goliath		9783936709599	Sexually Explicit Material	Sexually Explicit Material
From Pimp Stick To Pulpit	Ann Bromfield & Don Juan	9780533108732	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ -pg 37-39, 41, 46-49
From The New World 1		9781939130136		
Fuck Off, Cretin!	Castle Point Books	9781250163639	Unauthorized Attachments	Unauthorized Attachments Code 2.08 Wire binding
Fun With Origimi	Harry C. Helfman	9780486266640	Material which an inmate shall not possess within	Material which an inmate shall not possess within
Fundamentals Of C++ Understanding Programming And Problem Solving	Kenneth Lambert/Douglas Nance)	Material which an inmate shall not possess within	Material which an inmate shall not possess within

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Game Dont Change, The	Mazaradi Fox	9781617754821	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Game Programming Patterns	Robert Nystrom	9780990582908	Mail that the department deems pose a threat	Mail that the department deems pose a threat Code 2.01
Game, The	Neil Strauss	9781847672377	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ Sex. Exp. pg numbers 300,301,354,355
Game, The	Neil Strauss	9780062312976	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Gamiani Or Two Nights Of Excess Alfred De Musset		9780061965333	Sexually Explicit Material	Sexually Explicit Material
Gangsta Divas	De'Nesha Diamond	9780758247599	Simulated or threatened acts	Simulated or threatened acts Code 1.01, 1.02, 1.03, 1.04
Geek House	Barry Press & Marcia Press	9780764579561	Mail that the department deems pose a threat	Mail that the department deems pose a threat Computer Book
Geek House	Barry Press & Marcia Press	9780764579561	Mail that the department deems pose a threat	Mail that the department deems pose a threat Computer Book
Genevieve	Eric Jerome Dickey	9780451218490	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03
Get Your Captains License		9780071848374	Criminal activity, conversion of weapons	Criminal activity, conversion of weapons Code 2.02 ~ pg 110-116 shows how to tie knots
Getting Off	LAWRENCE BLOCK	9780857685827	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 SEXUALLY EXPLICIT

Page 48 of 148

Report Created on 04/11/2019

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Gingerbread Man, The	MCKINNEY- HERNANDEZ-COSTA	9781632291578	Material that Threatens	Material that Threatens NO PAGE NUMBERS
Girl Fever: 69 Stories Of Sudden Sex For Lesbians	Sacchi Green	9781573447911	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03
Girl Friends 2		9781937867096	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.05
Girl With The Deep Blue Eyes, The	LAWRENCE BLOCK	9781783297528	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Girls & Goddsses The Pin Up Art Of Joseph Michael Linsner		9781582408064	Sexually Explicit Material	Sexually Explicit Material Code 1.04 ~ PP 42, 56-57,93 Pictures in question submitted-Not Throughout Publication
Girls On Top		9781573443401	Sexually Explicit Material	Sexually Explicit Material
Give In To Me Lacey Alexander		9781620908013		
Glamour Girls Of Tokyo	Stephen Pentacoste	9781840686753	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Glamourama: The Pin-Up Art Of Carlos Valenzuela	Carlos Valenzuela	9780865622319	Sexually Explicit Material	Sexually Explicit Material
Glimmer	beth kery	9780425279656	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03,
Goddess Of The Glass 1	Mizuki Asamori	9781624590481	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03 1.05
Gods Bessing On This Wonderful World 3		9780316469333	Simulated or threatened acts	Simulated or threatened acts Code 1.05
Gods Bessing On This Wonderful World 4		9780316559546	Simulated or threatened acts	Simulated or threatened acts Code 1.04, 1.05
Page 49 of 148			Repo	rt Created on 04/11/2019

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Gods Bessing On This Wonderful World 6		9781975326494	Simulated or threatened acts	Simulated or threatened acts Code 1.04, 1.05
Going Down		9781573447898	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Golden Time 5	Yukuko Takemiya	9781626923393	Sexual acts minor or under 18	Sexual acts minor or under 18 Code 1.01, 1.02, 1.03, 1.05
Goodfellas	Carl Weber	9781945855191	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Google Adsense For Dummies	Jerri Ledford		Information would create clear and present danger	Information would create clear and present danger Code 2.05
Google Adwords For Dummies	Howie Jacobson/Joel McDonald/Kristie McDona	ld	Information would create clear and present danger	Information would create clear and present danger Code 2.05
Gorgeous Gallery	David Leddick	9783867872485	Simulated penetration	Simulated penetration Code 1.01, 1.02, 1.03 ~ Page # 48~49, *0-81, 98, 128, 132
Gou Dere Sora Nagihara 1		9780316336635	Sexually Explicit Material	Sexually Explicit Material 1C PP 147-148,109-110,104- 105,75-76,29-30
Gou Dere Sora Nagihara 3	SUU MINAZUKI	9780316298803	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04, 1.05
Gou Dere Sora Nagihara 4	SUU MINAZUKI	9780316302159	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04, 1.05
Gou-Dere	Suu Minazuki	9780316259446	Sexually Explicit Material	Sexually Explicit Material 1C
Grace For The Moment	Max Lucado	9781594493058	Material which an inmate shall not possess within	Material which an inmate shall not possess within
Page 50 of 148			Repo	rt Created on 04/11/2019

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Grand Opening	CARL WEBER	9781622867691	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ SEXUALLY EXPLICIT
Great Green Gold Rush, The	KATHLEEN TRACY	9780995259317	Material that Threatens	Material that Threatens Code 2.01 ~ PPS 48-53, 94-95, 112-115
Greater Portland Street Map Book	GM Johnson	9781770684539	Maps	Maps Code 2.11 ~ Within 50 miles of CRCI
Greatest Boxing Stories Ever Told, The		9781592284795	Violation of Administrative Directives	Violation of Administrative Directives pg 65-71
Grey - El James		9781101946343	Sexually Explicit Material	Sexually Explicit Material
Growing Hemp For Profit	PAUL BENHAIM	9781453725900	Information would create clear and present danger	Information would create clear and present danger Code 2.01 How to grow marijuana
Growing Marijuana	Jay Sanders	9781537057200	Material that Threatens	Material that Threatens Pages 4-5; 12-15 and representative of materials throughout Code 2.01
Growing Marijuana	TOMMY MCCARTHY	9781616080938	Material that Threatens	Material that Threatens BOOK
Guerrilla Marketing	Jay Levinson/Charles Rubin	9780395728598	Material that Threatens	Material that Threatens Code 2.08
Guide To Getting It On Unzipped	Paul Joannides	9781885535177	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Guitar Chords A Fretboard Sticker Book	HEREWARD KAYE	9781684120802	Lipstick, crayon, stickers, tape	Lipstick, crayon, stickers, tape Code 2.08 ~ STICKERS

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Guitar Method Grade 4	Mel Bay	9780786688623	Unauthorized Attachments	Unauthorized Attachments Code 2.08 Wire binding
Guitar Players Chord Bible, The	Phil Capone	9780785831594	Items prohibited from receipt by mail	Items prohibited from receipt by mail
Gun Digest 2015 69th Edition	JERRY LEE	9781440239120	Information would create clear and present danger	Information would create clear and present danger Code 2.01 ~ HOW TO TAKE A GUN APART
Gun Digest Book Of Exploded Gun Drawings	Kevi Muramatsu	9781440243493		
Gundigest Book Of Suppressors	Patrick Sweeney	9781440245329		
Guzzi Girls Goliath		9783936709308	Sexually Explicit Material	Sexually Explicit Material
Hacia El Eden	Anne Rice	9788498725445	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Hacking Electronics	SIMON MONK	9780071802369		Code 2.05 ~ pages 85-89, 214-217, 235-239
Hacking Electronics	SIMON MONK	9780071802369		Code 2.05 ~ pages 85-89, 214-217, 235-239
Hacking Electronics	Simon Monk	9781260012200	Violation of Administrative Directives	Violation of Administrative Directives throughout book 2nd edition
Hacking For Dummies	KEVIN BEAVER		Material that Threatens	Material that Threatens
Hacking For Dummies		9781118380932	Material that Threatens	Material that Threatens
Hacking Happiness	John C. Havens	9780399165313	Material that Threatens	Material that Threatens Code 2.05

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Handbook Of Native American Herbs, A	Alma R. Htuchens	9780877736998	Criminal activity, conversion of weapons	Criminal activity, conversion of weapons Pg 7-8, 54, 105-106, 168-169, 199, 229-230 throughout book, some can be used to be harmful/poisons
Нарру	Morrison, Grant	9781607066774	Physical harm	Physical harm Code 1.04
Hardcore Fitness		9780741450494	Violation of Administrative Directives	Violation of Administrative Directives
Hardest Thing, The	James Lear	9781873262825	Sexually Explicit Material	Sexually Explicit Material
Hardline	meredith wild	9781455591787	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ Page # 96-97
Head First Html5 Programming		9781449390549	Material that Threatens	Material that Threatens Code 2.05
Head First Java Script	Michael Morrison	9780596527747	Mail that the department deems pose a threat	Mail that the department deems pose a threat code 2.05
Header	EDWARD LEE	9781621050612	Mail that the department deems pose a threat	Mail that the department deems pose a threat Code 1.01, 1.02, 1.03 VIOLENCE, MURDER AND SEXUALLY EXPLICIT
Header 3		9781944703257	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02 1.03 ~ pp 82-85,96-98,152-153 and throughout publication

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Heart Of A Gansta 2, The	Jerry Jackson	9781982001421	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Heartbreaker	DeNesha Diamond/Ericl Gray/Nichelle Walker	< 9780758246639	Sexually Explicit Material	Sexually Explicit Material
Heat Wave Hot Hot Erotica Alison Tyler		9781573447102	Sexually Explicit Material	Sexually Explicit Material
Heavenly Bodies The Art Of Bruce Colero		9780865621626		
Hellfire	KATE DOUGLAS	9781420110005	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Her And Her Uniform	Hiroshi Itaba	9781624590986	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.05
Her Wicked Ways	Darcy Burke	9780615631349	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 page #'s 168-169, 216-223, 258-259 acts/sexually explicit material
Hidamari Sketch 365 Season Two 14 Episodes Dvd Set			Any items which a inmate shall not possess	Any items which a inmate shall not possess Code 2.09 ~ DVD Set
Hide And Seek Erotic Tales Of Voyeurs And Exhibitionists Alison Tyler		9781573444194	Sexually Explicit Material	Sexually Explicit Material
High Flying	Rachel Kramer Bussel	9781627780421	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ Page #'s 110-111
High School Dxd 01		9780316407366	Sexually Explicit Material	Sexually Explicit Material Pg 32-37, 124-125, 132
High-Yield Vegetable Gardening	Colin McCrate	9781612123967	Material which an inmate shall not possess within	Material which an inmate shall not possess within Wire binding

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Highland Master	Hannah Howell	9781624909689	Simulated sexual acts	Simulated sexual acts Page #'s 166-169, 280-283 Code 1.01, 1.02, 1.03
Highschool Of The Dead 1	Shouji Sato	9780316132251	Material that Threatens	Material that Threatens
Holding On Tighter	SHAYLA BLACK	9780425275481	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Holy Corpse Rising 1	Hosana Tanaka	9781626923591	Simulated or threatened acts	Simulated or threatened acts Code 1.01, 1.02, 1.03, 1.05
Holy Corpse Rising 2	Hosana Tanaka	9781626924284	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04, 1.05
Holy Corpse Rising 3		9781626924925	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.05
Holy Corpse Rising 4	HOSANA TANAKA	9781626925779	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.05
Holy Knight 01	MAYA MIYAZAKI	9781624591778	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.05 ~ PP 154-155, 80-89 AND THROUGHOUT PUBLICATION
Homesteading Handbook, The		9781616082659	Material that Threatens	Material that Threatens
Homesteading Nicole Faires		9781616081355	Material that Threatens	Material that Threatens Code 2.00
Honey	Jenna Jameson and Hope Tarr	9781510717848	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Hood	Noire	9781416533030	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Hood Love And Loyalty	El Griffin	9781549557415	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Hood Love And Loyalty 2	El Griffin	9781549565724	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Hood Love And Loyalty 3	El Griffin	9781973152156	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04
Hood Misfits	Carl Weber	9781601626257	Simulated sexual acts	Simulated sexual acts Pages 19-21, 62-65, 77-79 Code 1.01, 1.02, 1.03
Hot Blooded	CHRISTINE FEEHEN	9780425206584	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ pp 42-48,152-155, 210-214 and through out publication
Hot Chocolate- By Vastiana Belfon		9780758214577	Simulated sexual acts	Simulated sexual acts
Hot Couger Sex	ILONA PARIS	9781602393486	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ PP 6-7,42,70-71 AND THROUGHOUT PUBLICATION
Hot In Handcuffs	SYLVIA DAY	9780425247693	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04
Hot Luxury Girls Best Of Sugar Posh Beauties		9783936709346	Sexually Explicit Material	Sexually Explicit Material 1C PP 121,206,218 THIS BOOK IS ON THE STATE REJECTED AS OF 6/25/12 WITH ORIGINAL PICTURES SUBMITTED.

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Hot Naked Babes 2017 Calendar		9781890028794	Sexually Explicit Material	Sexually Explicit Material Calendar with Nude images
Hot Nude Girls 2018 Calendar		9781890028831	Freestanding Nude	Freestanding Nude Fully Nude Calendar
Hot Nude Girls 2018 Calendar		9781890028831	Freestanding Nude	Freestanding Nude Fully Nude Calendar
Hot Nude Girls 2019 Calendar		9781890028558	Sexually Explicit Material	Sexually Explicit Material Code 2.08 EVERY MONTH HAS A FULL NUDE WOMAN
Hotter Than Hell	Kim Harrison	9780061161292	Sexually Explicit Material	Sexually Explicit Material
House Of Decadence	ANDERSON	9780751551693	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04 ~ PP 130-131,154-155,168- 167,214-217
How Boat Things Work		9780071493444	Material that Threatens	Material that Threatens Code 2.02 ~ Page #'s 84, 87, 91-95, 105
How Computers Work	Ron White	9780789736130	Any items which a inmate shall not possess	Any items which a inmate shall not possess Code 2.05
How Not To Summon A Demon Lord Volume 1	Yukiya Murasaki	9781718352001	Simulated or threatened acts	Simulated or threatened acts Code 1.04 Bondage on cover
How Not To Summon A Demon Lord Volume 2	Yukiya Murasaki	9781718352018	Simulated or threatened acts	Simulated or threatened acts Code 1.04 Bondage on cover
How Not To Summon A Demon Lord Volume 3	Yukiya Murasaki	9781626929654	Simulated or threatened acts	Simulated or threatened acts Code 1.04 1.05 Bondage on cover

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
How To Archer	Sterling Archer	9780062066312	Material that Threatens	Material that Threatens
How To Be Knotty	MORPHEOUS	9781937866372	Sexually Explicit Material	Sexually Explicit Material Code 1.04 ~ PP 7,73,98-99,196-197 AND COMPLETELY THROUGHOUT ENTIRE PUBLICATION
How To Become A Spy		9781632205261	Material that Threatens	Material that Threatens code 2.01
How To Build A Computer	Douglas L. Miller	9781717824721	Material which an inmate shall not possess within	Material which an inmate shall not possess within
How To Build A Dungeon:Book Of The Demon King #1	Warau Yakan	9781626923768	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04, 1.05
How To Build A Dungeon:Book Of The Demon King #2	Warau Yakan	9781626923898	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04, 1.05
How To Defend Yourself	Martin J Dougherty	9781250041951	Material that Threatens	Material that Threatens ode 2.01 ~ page #'s 8-9, 14-25
How To Disappear And Start A New Life	Raymond Phillips	9781539713302	Criminal activity, conversion of weapons	Criminal activity, conversion of weapons Code 2.02, 2.07
How To Draw Tattoo Style Andy Fish		9780785826699	Items prohibited from receipt by mail	Items prohibited from receipt by mail
How To Draw Tattoos Book 2		9781523264629	Material that Threatens	Material that Threatens Code 2.05 ~ PP 15-22 PUBLICATION
How To Find Out Anything		9780735204676	Mail that the department deems pose a threat	Mail that the department deems pose a threat code 2.01 HOW TO FIND ANY PERSON.

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
How To Fix Absolutely Anything	Nicole Smith	9781629141862	Weapons & Explosives	Weapons & Explosives Code 2.01 ~ Page #'s 17-19, 64-65
How To Hustle And Win Sex Money Murder	GURU	9781534942431	Material that Threatens	Material that Threatens PP 44-45, 82-89,116-121,172-17 5
How To Make 50 Fabulous Flat Kumihimo Braids		9781782213802	Escape devices	Escape devices Code 2.02 ~ PP 18-19, 64-65,96-97 and throughout publication
How To Make Friendship Bracelets	Veronique Follet	9781844485420	Material that Threatens	Material that Threatens
How To Make Love Like A Porn Star Jenna Jameson		9780060539108	Sexually Explicit Material	Sexually Explicit Material
How To Survive Off The Grid	Tim Macwelch	9781681881522	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.08 Metal tabs on corners of book
How To Tame A Demon	ROBERT DUNCAN	9781492912668	Mail that the department deems pose a threat	Mail that the department deems pose a threat Code 2.00, 2.07
Hr Giger Arh+		9783822813188	Sexually Explicit Material	Sexually Explicit Material Sexually graphic art
Hr Giger Arh+	Taschen	9783822896426	Simulated penetration	Simulated penetration Code 1.04
Hr Giger Icons	HR Giger	9783822817230	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02
Hr Gigers 1964 Retrospective 1984		9781883398293	Sexually Explicit Material	Sexually Explicit Material
Html & Css Design And Build Websites	Jon Duckett	9781118008188	Code	Code Code 2.05

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Html5 & Css3 For The Real World	ALexis Goldstein/Louis Lazaris/Estelle Weyl	9780980846904	Mail that the department deems pose a threat	Mail that the department deems pose a threat Code 2.05
Human Sacrifice		9781629148021	Inflammatory material	Inflammatory material
Human Sexuality Today	Bruce M King/Pamela C Regan	9780205988006	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ Pages 296-297, 299,
Hunted	Suzanne Ferrell	9781479391554	Sexually Explicit Material	Sexually Explicit Material
Hustlers Wife, A	Nikki Turner	9781601626196	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.05 Page #'s 62-63, 208-211
Hyena	JUDE ANGELINI	9781476789309	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.07 ~ SEXUALLY EXPLICIT
I Dont Like You At All Big Brother 7-8	Kouichi Kusano	9781626921030	Sexual acts minor or under 18	Sexual acts minor or under 18 Code 1.05
I Dont Like You At All Big Brother 9-10	Kouichi Kusano	9781626922426	Sexual acts minor or under 18	Sexual acts minor or under 18 Code 1.05
I Hope They Serve Beer In Hell		9780806532257	Sexually Explicit Material	Sexually Explicit Material
I Hope They Serve Beer In Hell		9780141029450	Material that Threatens	Material that Threatens
I Want You Bad	Rachel Bussel	9781940550121	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ Page # 8-9, 28-29, 80-81, 116-117, 152-153, 202-203

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
I-5 Killer		9780451165596	Sexually Explicit Material	Sexually Explicit Material pps 2-3,40-41, 128-129,148-149 and throughout publication- THIS BOOK IS ON THE STATE REJECTED LIST, U Drive
Icp Behind The Paint			STG-related paraphernalia	STG-related paraphernalia Code 2.09 ~ Page #'s 267, 437, 537
Identify And Draw North American Birds	a field guide for the artist and naturalist	9780785827993	Any items which a inmate shall not possess	Any items which a inmate shall not possess METAL SPIRAL BOUND
Idiots Guide To Raspberry Pi	Thorin Klosowski	9781615647781	Material that Threatens	Material that Threatens
Idiots Guides Growing Marijuana	Kevin Oliver and Chadd McKeen	9781615648948	Material that Threatens	Material that Threatens
Idol House	TAKAYOSHI SANO	9781934129791	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03, 1.05
If This Bed Could Talk		9780060885366	Simulated penetration	Simulated penetration PGS 64-65, 106-109 Code 1.01, 1.02, 1.03
Illustraed Stories From The Bible		9781578849222	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04
Illustrated Art Of Manliness, The	Brett McKay	9780316362658	Material that Threatens	Material that Threatens Code 2.02 ~ Pages 116-117
Immortal Nights	LYNSAY SANDS	9780062316066	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Implementing Ssl/Tls Using Cryptography And Pki	Joshua Davies	9780470920411	Code	Code Code 2.05

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Impressionist Notebook 2019 Calendar	Ziga Media	9781619837607	Unauthorized Attachments	Unauthorized Attachments Code 2.08 wire binding
In Bed With The Romans	PAUL CHRYSTAL	9781445666730	Sexually Explicit Material	Sexually Explicit Material Code 1.0, 1.02, 1.03
In My Fathers House	Fox Butterfield	9781400041022	Information would create clear and present danger	Information would create clear and present danger Code 2.05 ~ this has info on one of my current inmates and several others are incarcerated in Oregon also. rep pages:120, 140-147
In The Company Of Wolves	PAIGE TYLER	9781492608530	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ SEXUAL CONTENT. PAGES 152, 153, 160 - 165 PLUS MORE.
Incentive	pam godwin	9781544238678	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Incest Diary, The	Unkown Author	9780374175559	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.05
Initiation Of Ms. Holly, The	K D GRACE	9781402289651	Sexually Explicit Material	Sexually Explicit Material 1C PPS 4-7, 26-31, 74-77, 178- 180 AND THROUGHOUT ENTIRE PUBLICATION
Ink Master Coloring Book		9781681881829	Items prohibited from receipt by mail	Items prohibited from receipt by mail Code 4.00 ~ 2 PAGES OF TEMPORARY TATTOOS

Page 62 of 148

Report Created on 04/11/2019

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Inked Book, The	CYLE HOFFMAN	9781979420112	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.01
Inmate To Convict	Brian W Anderson	9781530762675	Violation of Administrative Directives	Violation of Administrative Directives Code 2.09 STG ~ page #'s 204-210
Inmate To Convict	Brian W Anderson	9781530762675	Violation of Administrative Directives	Violation of Administrative Directives Code 2.09 STG ~ page #'s 204-210
Inner Structure Of Tai Chi- By Mantak Chia & Jaur Li, The		9781594770586	Material that Threatens	Material that Threatens
Insatiable	Asa Akira	9780802122599	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ Page # 2-3, 36-39, 128-131
Insatiable Porn - A Love Story		9780802123497	Simulated or threatened acts	Simulated or threatened acts
Inside Linda Lovelaces Deep Throat	Darwin Porter	9781936003334	Sexually Explicit Material	Sexually Explicit Material
Inspirations From The Quran		9780964558618	Any items which a inmate shall not possess	Any items which a inmate shall not possess Code 2.08 Metal binding
Intermediate Perl	SCHWARTS & FOY & PHOENIX	9780596102067	Material that Threatens	Material that Threatens Code 2.05
Interspecies Reviewers	Amahara	9781975302009	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.05
Into The Cage	Nick Gullo	9780771036545	Physical harm	Physical harm shows fighting techniques

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Into The Dark	Gena Showalter	9781616642884	Sexually Explicit Material	Sexually Explicit Material Page #'s 76-78, 131-135, 188-191 Code 1.01, 1.02, 1.03
Introducing Git Hub	Peter Bell & Brent Beer	9781491949740	Content restrictions	Content restrictions Code 2.05
It Takes Two To Tumble	Cat Sebastian	9780062821577	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Jade Door, The		9781561636068	Sexually Explicit Material	Sexually Explicit Material code 1.01, 1.02, 1.03
Janus Chamber, The	Sasha Grey	9781627781800	Sexually Explicit Material	Sexually Explicit Material Very sexually explicit book - included SMALL excerpts, there is much more
Japanese Book		9784086196451	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04, 1.05
Japanese Book #05		9784757555365	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04, 1.05
Japanese Comic Neguma Omnibus Ken Akamatsu		9781935429647	Sexually Explicit Material	Sexually Explicit Material
Java	Adam Dodson	9781539375425	Code	Code Program coding book with detailed instructions
Java For Dummies Elearning Kit	John Paul Mueller	9781118098783	Material that Threatens	Material that Threatens Code 2.05
Javascript: The Good Parts	Douglas Crockford	9780596517748	Code	Code Code 2.05
Jingle Bell Rock	LORI FOSTER	9780758205704	Simulated or threatened acts	Simulated or threatened acts Pgs 19, 27
Jon Hul Gallery	Jon Hul	9780865622357	Simulated penetration	Simulated penetration

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Joy Of Home Distilling, The	Rick Morris	9781629145860	Material that Threatens	Material that Threatens Code 2.01 ~ page # 92-95, 100-101
Julie Strain & Friends Book Five			Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Julie Strain & Friends Book Four			Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Julie Strain & Friends Book One			Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04
Julie Strain & Friends Book Three			Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Julie Strain & Friends Book Two			Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Julie Strain & Friends Heavy Metal Live			Sexually Explicit Material	Sexually Explicit Material throughout Code 1.04
Juliette Society, The	SASHA GREY	9781455599455	Sexually Explicit Material	Sexually Explicit Material PP 54-57, 83,120-123,162-163,2 42-245 AND THROUGHOUT PUPLICATION
Jungle Tails 4		9780865620728	Sexually Explicit Material	Sexually Explicit Material Code 1a,b,c
Just Watch Me	Violet blue	9781573444170	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ Page #'s 4-17
Justine Marquis De Sade		9780007921096	Sexually Explicit Material	Sexually Explicit Material
Kali Linux 2 - Assuring Security By Penetration Testing			Material that Threatens	Material that Threatens Code 2.05
Kali Linux Ctf Blueprints	Cameron Buchanan	9781783985982		

Page 65 of 148

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Kali Linux Social Engineering	RAHUL SINGH PATEL	9781783283279		
Kali Linux W - Assuring Security By Penetration Testing	Gerard Johansen	9781785888427		
Kali Linux Wireless Penetration Testing Beginners Guide	Cameron Buchanan, Vivek Ramachandran	9781788831925	Information would create clear and present danger	Information would create clear and present danger For IT Review
Kama Sutra An Illustrated Guide To The Erotic Art Of Love And Sex		9781453895245	Sexually Explicit Material	Sexually Explicit Material PPS 54-57,62-65,86-89 AND THROUGHOUT ENTIRE PUBLICATION
Kanokon 5-6		9781937867829	Sexually Explicit Material	Sexually Explicit Material Sexual content
Kase-San And Morning Glories	Hiromi Takahima	9781626924703	Sexual acts minor or under 18	Sexual acts minor or under 18 Code 1.05
Kat Trap, The	Cairo	9781593092290	Sexually Explicit Material	Sexually Explicit Material pgs 168-173; 196-199 Code 1.01, 1.02, 1.03
Keys To Drawing With Imagination	Bert Dodson	9781581807578	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.08 ~ Metal Binding
Kidnapped	Suzanne Ferrell	9781479237142	Sexually Explicit Material	Sexually Explicit Material
Killer Book Of Infamous Murders, The	TOM PHILBIN	9781402237461	Material that Threatens	Material that Threatens Code 2.10 Inflammatory ~ THROUGHOUT ENTIRE PUBLICATION
Killer Dolls	Nisa Santiago	9781620780602	Sexually Explicit Material	Sexually Explicit Material
Killer Dolls Part 2	Nisa Santiago	9781620780640	Sexually Explicit Material	Sexually Explicit Material
			_	

Page 66 of 148

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Killing Johnny Fry	Mosley, Walter	9781596912274	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03
Kindred Of The East		9781565042322	Material that Threatens	Material that Threatens
Kingpins - Atl Brick & Storm	Carl Weber's	9781622867301		
Kingpins - Miami Nikki Turner	Carl Weber's	9781622869985		
Kingpins Chicago - Silk Smooth	CARL WEBER'S	9781622867271		
Kingpins: The Dirty South Treasure Hernandez	Carl Weber's	9781622869480		
Kinky Dessous Girls	Goliath	9783957300072	Sexually Explicit Material	Sexually Explicit Material Code 1.04
Kinky Lingerie Girls	goliath	9783957300065	Simulated or threatened acts	Simulated or threatened acts
Kinky Nylons Holly Randall		9783936709506		
Kinky Super Beauties	Goliath	9783957300225	Simulated sexual acts	Simulated sexual acts Code 1.02, 1.03
Kinky Super Beauties	GOLIATH	9783957300218	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03,
Kinokuniya	Ken Akamatsu	9784063633306	Sexually Explicit Material	Sexually Explicit Material Violation code 1 a,b,c,e
Kiss Kiss Bang Bang- By Ashley Jaquavis.		9781601624918	Sexually Explicit Material	Sexually Explicit Material
Kisses Sighs And Cherry Blossom Pink The Complete Collection		9781937867317	Sexually Explicit Material	Sexually Explicit Material
Kissing Sin	KERI ARTHUR	9780553588460	Sexually Explicit Material	Sexually Explicit Material Page #'s 104-105, 216-217, 236-237 Code 1.01, 1.02, 1.03

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Knockout Fitness	Any & Jamie Dumas	9781602392991	Information would create clear and present danger	Information would create clear and present danger Code 2.01, 2.07 pg 19-36, 64-84 rep.pages
Knotting & Braiding Bible, The	DOROTHY WOOD	9781446303948	Material that Threatens	Material that Threatens Code 2.02 ~ PP 34-35,46-47,58-59 AND THROUGHOUT
Knotting And Splicing Ropes And Cordage Paull N Hasluck	I	9781616086787	Escape devices	Escape devices
Knotting And Splicing Ropes And Cordage Paull N	1	9781616086787	Escape devices	Escape devices
Konsuba: Gods Blessing On This Wonderful World 5	d	9780316468787	Material that Threatens	Material that Threatens Code 1.04, 1.05
Krav Maga	Gershon Ben Keren	9780804843928	Material that Threatens	Material that Threatens Code 2.01
Krav Maga Defense	David Kahn	9781250090829	Material that Threatens	Material that Threatens Code 2.05
Krav Maga For Beginners		9781569756614	Material that Threatens	Material that Threatens
Kurosagi Corpse Delivery System, The	Eiji Otsuka & Housui Yamazaki	9781593075552	Material that Threatens	Material that Threatens 1.01, 1.02, 1.03, 1.04, 1.05
Kustom Kamera		9780955833649	Sexually Explicit Material	Sexually Explicit Material
Lady Of Desire	Darcy Burke	9781939713551	Sexually Explicit Material	Sexually Explicit Material several pages of simulated sexual acts/sexually explicit material
Large Print Easy Monday Crossword	Peter Gordon	9781402790294	Any items which a inmate shall not possess	Any items which a inmate shall not possess Code 2.08 ~ Metal/Wire bound book

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Las Mily Una Ping	Mayda Saborit	9780985632540	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Last Of My Kind, The	MARCELLUS ALLEN	9781483593630	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ PP 1-3, 24-27, 178-181, 236-239 AND THROUGHOUT ENTIRE PUBLICATION
Latex Fashion Photography		9783936709469	Sexually Explicit Material	Sexually Explicit Material Code 1.04 ~ PP 75, 122, 351
Latex Mistress	Onna Sakura	9781936882496	Simulated or threatened acts	Simulated or threatened acts Code 1.04
Lawrence Browne Aggair, The	Cat Sebastian	9780062642516	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Learn American Sign Language	JAMES GUIDO	9781577151074	Material that Threatens	Material that Threatens
Learn American Sign Language	James W Guido	9781577151586	Material which an inmate shall not possess within	Material which an inmate shall not possess within Box with magnetic flap, poster flash cards
Learning Aws Lot	Agus Kuriawan	9781788396110	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.05
Learning los Game Programming	MICHAEL DALEY	9780321699428	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.05

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Leonardo Da Vinci 14 Classic Images In 3-D		9781784040536	Material that Threatens	Material that Threatens Code 2.01, 2.05 ~ TRI FOLD COVER OF BOOK HAS BUILT IN HARD PLASTIC LENSES TO VIEW 3-D IMAGES THROUGHOUT BOOK (LENSES CANNOT BE REMOVED WITHOUT DESTROYING BOOK COVER)
Lesbian Cowboys	Sacchi Green	9781573443616	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Lesbian Sex Bible	Diana Cage	9781592336142	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Letters To Penthouse Back Door Adventures Vol 51		9780446583664	Sexually Explicit Material	Sexually Explicit Material
Letters To Penthouse Iii		9780446362962		
Letters To Penthouse Vol. 50 Shes Wild! Shes Horny! Shes Married?		9780446583701	Simulated penetration	Simulated penetration PGS 16-19, 24-27, 77, 100-101 ~ code 1.01, 1.02, 1.03
Letters To Penthouse X	PENTHOUSE MAGAZINE	9780446606417	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 SEXUALLY EXPLICIT
Letters To Penthouse Xiv		9780446610315	Sexually Explicit Material	Sexually Explicit Material BOOK
Letters To Penthouse Xxviii		9780446613149	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Letters To Penthouse Xxx Extreme Sex Maximum Pleasure		9780446619288	Sexually Explicit Material	Sexually Explicit Material pgs. 44-46 61-67 184-187

Page 70 of 148

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Letters To Penthouse Xxxv		9780446619349	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04 ~ Pgs 2-5,10-13, 18-24, 26-34 and throughout.
Letters To Penthouse Xxxxii	Editors of Penthouse Magazine	9780446583732	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Letters To Penthouse Xxxxiv	PENTHOUSE	9780446583749	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ SEXUAL CONTENT
Letters To Penthouse Xxxxvii Sexxx On The Job		9780446583725	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, SEXUALLY EXPLICIT
Letters To Penthouse Xxxxviii		9780446583756	Sexually Explicit Material	Sexually Explicit Material
Lettters To Penthouse Vol 53 Horny Milfs And Cougars On The Prowl		9780446583718	Sexually Explicit Material	Sexually Explicit Material Code 1a,b,c page #'s 28-29, 78-79, 158-159, 218-219, 282-283
Liberatore	LE DONNE	9781561637133	Sexually Explicit Material	Sexually Explicit Material NO PAGE NUMBERS IN BOOK, BUT THROUGHOUT ENTIRE PUBLICATION
Lighting The Nude Roger Hicks		9780817400064	Simulated or threatened acts	Simulated or threatened acts Pages 304-305 & 219
Lingerie 2017 Calendar	Johnny Crosslin	9781772180916	Freestanding Nude	Freestanding Nude See through material that shows nipples and areolas of the models.
Lingerie Provocative 2018 Calendar		9783960133100	Freestanding Nude	Freestanding Nude

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Linus For Dummies	Richard Blum	9780470467015	Information would create clear and present danger	Information would create clear and present danger Code 2.05
Linux Administration A Beginners Guide	Wale Soyinka	9780071545884		
Linux All In One For Dummmies	Emmitt Dulaney	9781118844359	Mail that the department deems pose a threat	Mail that the department deems pose a threat
Linux Bible	Christopher Negus	9781118999875	Code	Code
Linux Command Line, The	William E. Shotts, Jr.	9781593273897	Code	Code Code 2.05
Linux Pocket Guide	Daniel J. Barrett	9781491927571	Code	Code Code 2.05
Little Birds Erotica	Anaisnin		Sexually Explicit Material	Sexually Explicit Material
Little Black Book Of Sudoku 400 Puzzles, The		9780312368692	Items prohibited from receipt by mail	Items prohibited from receipt by mail Spiral binding
Little Book Of Big Breasts, The	DIAN HANSON	9783836532143	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ ~ PP 124,141,144-145,180, 186
Little Book Of Butts, The		9783836545198	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~PP 20-21, 32-35, 134-135, 178
Little Book Of Kink, The	Jessica O'Reilly	9781592335749	Sexually Explicit Material	Sexually Explicit Material Code 1.04
Little Seagull Handbook, The	Richard Bullock	9780393602647	Unauthorized Attachments	Unauthorized Attachments Code 2.08 ~ Wire binding
Live Wire	Lora Leigh	9780312945848	Simulated sexual acts	Simulated sexual acts ode 1.01, 1.02, 1.03 ~ Pages 24-37 and throughout

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Locked In Temptation	Brenda Jackson	9780373802142	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Lolito	BEN BROOKS	9781941393352	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ PP 56-58,98-101 AND THROUGHOUT PUBLICATION
Longarm And The Heiress	TABOR EVANS	9780515144048	Sexually Explicit Material	Sexually Explicit Material 1C PP 34-37, 136-137 AND THROUGHOUT PUBLICATION
Longarm And The Senora Siren	TABOR EVANS	9780515154344	Sexually Explicit Material	Sexually Explicit Material 1C PP 22-25, 72-75,104-107 AND THROUGHOUT PUBLICATION
Loose Girl	KERRY COHEN	9781401309923	Sexually Explicit Material	Sexually Explicit Material Code 1.04 ~ PP 100-101 RAPE
Lords Of Chaos	MICHAEL MOYNIHAN AND DIDRIK SODERLINE	9780922915941	Material that Threatens	Material that Threatens Code 2.01 ~ pp 26-27, ~ 60-61,68-69,112-115,1 30-131,340-341
Lorenzo Sperlonga Dirty Works	Lorenzo Sperlonga	9783939303916	Sexually Explicit Material	Sexually Explicit Material
Los Angeles & Orange Couties Street Guide	Thomas Guide	9780528014895	Unauthorized Attachments	Attachments Wire binding
Los Misterios Del Amor Y El Sexo	Silvia Olmedo	9786071106377	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02,1.03/ Pages 181-186

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Los Misterios Del Amor Y El Sexo	Silvia Olmedo	9786071106377	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02,1.03/ Pages 181-186
Love & Hennessy		9781973888536	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Love At First Sting	Alison Taylor	9781573442817	Sexually Explicit Material	Sexually Explicit Material Page #'s 9-13, 16-23, 80-83, 112-114, Code 1.01, 1.02, 1.03, 1.04
Love Awakens	Jane Leopold Quinn	9781535505451	Sexually Explicit Material	Sexually Explicit Material
Love Behind Bars	Jennifer Jagger	9781494249281	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Love Bites		9780062019745	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03,
Love Hangover	Jessica N Watkins	9781453795521	Sexually Explicit Material	Sexually Explicit Material ode 1.01, 1.02, 1.03 ~ pgs 39-42, 81-88
Love In Hell 1		9781937867898	Sexually Explicit Material	Sexually Explicit Material
Love In Hell The Complete Trilogy	Reiji Suzumaru	9781626922037	Simulated or threatened acts	Simulated or threatened acts Code 1.01, 1.02, 1.03, 1.05
Love Lust Love	Andrew Grossett	9781786296634	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03
Love Sex Lies	Jessica N Watkins	9781505385595	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03 ~ pgs 78-79
Lover At Last Jr Ward		9780451418807	Simulated sexual acts	Simulated sexual acts Pages 45-47, 597-598 Code 1.01, 1.02, 1.03
Lover Avenged- By J.R. Ward		9780451228574	Sexually Explicit Material	Sexually Explicit Material
Page 74 of 148			Repo	rt Created on 04/11/2019

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Lover Awakened- By J R Ward		9780451219367	Sexually Explicit Material	Sexually Explicit Material
Lover Eternal- By Jr Ward		9780451218049	Sexually Explicit Material	Sexually Explicit Material
Lover Eternal- By Jr Ward		9780451218049	Sexually Explicit Material	Sexually Explicit Material
Lover Mine- By Jr Ward		9780451231550	Sexually Explicit Material	Sexually Explicit Material
Lover Reborn Jr Ward		9780451238283	Simulated sexual acts	Simulated sexual acts Pages 132-133, 188-191, 418- Code 1.01, 1.02, 1.03
Lover Unleashed J R Ward		9780451235114	Simulated sexual acts	Simulated sexual acts Pages 106-107, 114-115, 346-347 Code 1.01, 1.02, 1.03
Lovers Guide To Homemade Video	SERENA VALLES WITI CARLOS MARTINEZ	H 9781629144757	Sexually Explicit Material	Sexually Explicit Material
Loving The G-Spot	Marcia Durante	9781632203250	Sexually Explicit Material	Sexually Explicit Material
Lower Your Brain Age In Minutes A Day	Holli Fort	9781412714532	Unauthorized Attachments	Unauthorized Attachments Code 2.08
Loyalty Is Blind		9781532763427	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ Page #'s 86-88, 138-139, 186-189
Loyaltylove & Betrayal	WAYNE GRIND	9780692275610	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02 ,1.03 ~ PP74-75,113-114,157, 175-176
Lucifers Lottery		9781939065278	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 SEXUALLY EXPLICIT

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Lukas	Carian Cole	9781515260615	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Lust Killer		9780451166876	Sexually Explicit Material	Sexually Explicit Material pps 166-167,176-177,182- 185 and throughout publication
Lust To Kill		9780786018864	Violation of Administrative Directives	Violation of Administrative Directives Code 2.05
M16a1 Rifle, The		9781616088644		
Mac Os X	DAVID POGUE	9780596004507	Material that Threatens	Material that Threatens INCLUDES CONTENTS
Mad Dogs Favorite Prison Recipes		9781463629090	Material which an inmate shall not possess within	Material which an inmate shall not possess within
Mademoiselle	Mirka Lugasi	9780867195392	Simulated or threatened acts	Simulated or threatened acts
Magical Girl Site		9781626924765	Physical harm	Physical harm Code 1.05
Magika Swordsman And Summoner	Mitsuki Mihara	9781626922761	Sexually Explicit Material	Sexually Explicit Material
Magika Swordsman And Summoner 2		9781626922044	Sexually Explicit Material	Sexually Explicit Material Sexually explicit material with characters in book
Magika Swordsman And Summoner 3	Mitsuki Mihara	9781626922433	Sexual acts minor or under 18	Sexual acts minor or under 18
Magika Swordsman And Summoner 5	Mitsuki Mihara	9781626922976	Sexually Explicit Material	Sexually Explicit Material
Magika Swordsman And Summoner 6	Mitsuki Mihara	9781626924260	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04, 1.05

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Magika: Swordsman And Summoner		9781626921948	Sexually Explicit Material	Sexually Explicit Material Pg 3-5, 76-78 ~ Code 1.05
Make Her Scream	Amber Cole	9781511582247	Sexually Explicit Material	Sexually Explicit Material Book has no page numbers
Make Her Scream, Erotic Short Stories		9781520719337	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Make: Props And Costume Armor	SHAWN THORSSON	9781680450064	Information would create clear and present danger	Information would create clear and present danger Code 2.01
Making Ammo A Beginners Guide To Handloading	Kyle Lynch	9780794842574	Material that Threatens	Material that Threatens Code 2.01
Making Pic Microcontroller Instruments & Controlers	HARPRIT SINGH SANDHU	9780071606165	Mail that the department deems pose a threat	Mail that the department deems pose a threat Code 2.05
Making Things Move	Dustyn Roberts	9780071741675	Material that Threatens	Material that Threatens 2 a,g Pgs 126, 129, 134
Mama Dearest	E Lynn Harris	9781439158913	Sexually Explicit Material	Sexually Explicit Material
Mammoth Book Of Best New Erotica 13, The	MAXIM JAKUBOWSKI	9780762454716	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ PP 61,162-164,263,488-4 89 AND THROUGHOUT PUBLICATION
Mammoth Book Of Gorgeous Guys, The		9780762442737		
Mammoth Book Of New Erotic Photography, The	Maxim Jakubowski	9781849013840	Simulated or threatened acts	Simulated or threatened acts
Mammoth Book Of Special Forces Training, The	Jon E Lewis	9780762452330	Material that Threatens	Material that Threatens
Mammoth Book Of Tattoo Art, The		9780762440986	Sexually Explicit Material	Sexually Explicit Material
Page 77 of 148			Report	t Created on 04/11/2019

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Mammoth Book Of Tattoo Art, The	LAL HARDY	9781849015684	Sexually Explicit Material	Sexually Explicit Material THIS BOOK IS ON THE STATE VIOLATED LIST AS OF 3/18/15 (IS LISTED AS A MAGAZINE RATHER THAN A BOOK)
Managing And Troubleshooting Pcs		9780071713801	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.05
Manara Erotica Click! And Other Stories	Milo Manara	9781506702612	Sexually Explicit Material	Sexually Explicit Material code 1.01, 1.02, 1.03
Manskills	CHRIS PETERSON	9781589236318	Material that Threatens	Material that Threatens Code 2.01, 2.02 ~ PP 47,74-75,78-79,156-15
Marijuana Daily Gardening		9781937866266	Material that Threatens	Material that Threatens Growing Marijuana
Marijuana Growers Handbook		9780932551467	Material that Threatens	Material that Threatens Code 2.01 ~ CONTENTS & PP294-309
Marijuana Harvest	ED ROSENTHAL	9781936807253	Material that Threatens	Material that Threatens Code 2.01
Marijuana Horticulture	Jorge Cervantes	9781878823236	Material that Threatens	Material that Threatens Code 2.01
Marijuana Horticulture Fundamentals	K of Trichome Technologies	9781937866341	Criminal activity, conversion of weapons	Criminal activity, conversion of weapons Pg 369-407 Code 2.05

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Marquis De Sade Juliette			Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 SEXUALLY EXPLICIT THROUGHOUT BOOK
Marthon Sex	Donia Borg	9781592334810	Sexually Explicit Material	Sexually Explicit Material 1ABC pages 127,133,135 These pages are representative of material through out entire publication.
Martial Art Basics Ju-Jitsu	Kevin Pell	9781859063323	Material that Threatens	Material that Threatens Code 2.01
Martial Art Basics Karate	Kevin Healy	9781859063316	Material that Threatens	Material that Threatens Code 2.01
Martial Artist	Steven S Long	9781583660010	Material that Threatens	Material that Threatens
Martial Arts Made Easy	Peter Lewis	9781554074860	Material that Threatens	Material that Threatens Code 2.01, 2.07
Martini-Henry .450 Rifles & Carbines	Dennis Lewis	9781880677124	Weapons & Explosives	Weapons & Explosives 291-131-0035 4 b A Nomenclature of weapons.
Mastering Blockchain	Imran Bashi	9781787125445	Material that Threatens	Material that Threatens Code 2.05
Mastering Kali Linux For Advanced Penetration Testing	ROBERT W. BEGGS	9781782163121		
Mastering Kali Linux For Advanced Penetration Testing	Velu, Vijay Kumar/Beggs, Robert	9781789340563	Mail that the department deems pose a threat	Mail that the department deems pose a threat Code 2.05 Computer hacking for white hackers.
Mastering Manga With Mark Crilley		9781440309311	Material that Threatens	Material that Threatens

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Mastering Perl/Tk	LIDIE & WALSH	9781565927162	Information would create clear and present danger	Information would create clear and present danger Code 2.05
Mastering The Guitar	William Bay	9780786628179	Material which an inmate shall not possess within	Material which an inmate shall not possess within Wire binding
Mastering Ui Development With Unity	Ashley Godbold	9781787125520	Material that Threatens	Material that Threatens Code 2.05
Mayo Chiki 4-5	OMNIBUS COLLECTION	9781626922525	Sexually Explicit Material	Sexually Explicit Material
Mayo Chiki 6-7	OMNIBUS COLLECTION	9781626922778	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Meg Magazine Vol. 220			Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03 1.05 ~ SEXUAL TOUCHING AND INSINUATED UNDERAGE GIRLS
Megans Mark	LORA LEIGH	9780425209646	Sexually Explicit Material	Sexually Explicit Material 1C PP 60-61,136-137,140-14 5,166-167,234-237 AND THROUGHOUT PUBLICATION
Megans Story	CLAUDIA M VITELLO	9781524644857	Sexually Explicit Material	Sexually Explicit Material pps. 16-18,28-29, 64-66 and throughout entire publication.
Mel Bays Modern Guitar Method Grade 3	Mel Bay	9780786688616	Unauthorized Attachments	Unauthorized Attachments Code 2.08 ~ Wire Binding
Men From The Boys, The	WILLIAM J. MANN	9780452278561	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ SEXUALLY EXPLICIT
D 00 1110			_	

Page 80 of 148

Report Created on 04/11/2019

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Men I Might Have Known	Brad Saunders	9780758229625	Sexually Explicit Material	Sexually Explicit Material Pages 12-13,15-17, 54-55, 58-63, 186-191
Men Women & Children	Chad Kultgen	9780061657313	Sexually Explicit Material	Sexually Explicit Material
Mercurys War	LORA LEIGH	9780425224182	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ SEXUALLY EXPLICIT THROUGHOUT BOOK
Mermaids 4		9780865621541	Sexually Explicit Material	Sexually Explicit Material PAGES SUBMITTED
Mermaids Kiss	Joey W. Hill	9780425251119	Sexually Explicit Material	Sexually Explicit Material 20 pages of sexually explicit material
Messenger	EDWARD LEE	9781939065315	Sexually Explicit Material	Sexually Explicit Material Code 1.0, 1.02, 1.03 SEXUALLY EXPLICIT
Metamorphose	GREG DAY	9783925443848	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 PP 22-23,50-54
Microsoft Excel 2000 Formulas	John Walkenbach	9780764546099	Material that Threatens	Material that Threatens Code 2.05
Microsoft Excel 2016 For Dummies	Greg Harvey, PhD	9781119293439	Information would create clear and present danger	Information would create clear and present danger Code 2.05 ~ Shows how to hide comments in cells which would allow AICs to easily pass hidden messages
Microsoft Visualc# Step By Step	JOHN SHARP	9781509301041	Material that Threatens	Material that Threatens Code 2.05
Page 81 of 148			Repo	rt Created on 04/11/2019

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Microsoft Windows 10 Anniversary Update	PAUL MCFEDRIES	9781119311188	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.05
Midnight	Sister Souljah	9781416545361	Sexually Explicit Material	Sexually Explicit Material
Midnight Sins Lora Leigh		9780312389086	Sexually Explicit Material	Sexually Explicit Material
Midnight Sister Souljah		9781451612561	Sexually Explicit Material	Sexually Explicit Material BOOK
Midnight Sister Souljah		9781451612561	Sexually Explicit Material	Sexually Explicit Material BOOK
Miko, The	ERIC VAN LUSTBADER	9780586056509	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ SEXUALLY EXPLICIT
Mindblowing Mornings, Naughty Nooners & Wild Nights	Emily Dubberley	9781592335916	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02
Mixed Martial Arts	BJ Penn	9780977731565	Material that Threatens	Material that Threatens Code 2.01, 2.07
Model Men	Neil Plakcy	9781573447263	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Modern Ak, The	JORGE AMSELLE	9781440247651	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.01 Conversion ~ PAGES 32, 140, 154,155, 159. HOW TO BUILD AN AK.
Monogram Journal		9781593596835	Unauthorized Attachments	Unauthorized Attachments Code 2.08

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Monster Girl Encyclopedia Vol 1		9781626923614	Simulated sexual acts	Simulated sexual acts 1C - PG 22-23, 28-29, 38-39, 54-59, 203-207, 210-211 Code 1.01, 1.02, 1.03
Monster Girl Encyclopedia Vol. li	Kenkou Cross	9781626926097	Simulated sexual acts	Simulated sexual acts Code 1.05
Monster Girl: Volume 1	Kazuki Funatsu	9784088798691	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.05
Monster Massacre Vol 2	ATOMEKA TITAN COMICS	9781782760214	Sexually Explicit Material	Sexually Explicit Material code 1.01, 1.02, .103, 1.04
Monster Musume 1		9781937867904		
Monster Musume 10	OKAYADO	9781626924390	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.05
Monster Musume 8	Okayado	9781626922136	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.05
Monster Musume Everytday Life With Monster Girls 9		9781626922785	Simulated or threatened acts	Simulated or threatened acts Code 1.04, 1.05
Monster Musume I Love Monster Girls 1		9781626924017	Sexually Explicit Material	Sexually Explicit Material Code 1.05 ~ ,PP 18,20-21,55,89
Monster Musume I Love Monster Girls 3		9781626924642	Simulated or threatened acts	Simulated or threatened acts Code 1.01, 1.02, 1.03, 1.05
Monster Musume: Everyday Life With Monster Girls 7	Okayado	9781626921603	Sexually Explicit Material	Sexually Explicit Material
Montague Island Mysteries And Other Logic Puzzles	R Wayne Schmittberger	9781454918110	Unauthorized Attachments	Unauthorized Attachments Code 2.08 ~WIRE BINDING
Moons Deep Cirlce, The	David Holly	9781602828704	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
More Electronic Gadgets For The Evil Genius		9780071459051	STG-related paraphernalia	STG-related paraphernalia PGS 75, 87, 93, 183 AND THROUGHOUT ENTIRE BOOK Code 2.01
More Shibari You Can Use		9780977872756	Sexually Explicit Material	Sexually Explicit Material Code 1.04 Page # 35, 75, 115, 123, 129
Morning Noon And Night	Alison Tyler	9781573448215	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Motel Fetish		9783836536011	Sexually Explicit Material	Sexually Explicit Material
Motivation		9780615834696	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03 ~ Page #'s 54, 67, 90, 114, 196, 248~249
Motivation Pt 2 The Chase	SWIFT	9780615834658	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02 1.03, 1.04 ~ PP 42-43 RAPE SCENE
Motivation The Exit	SWIFT	9780692637593	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ PP 92-93,113-114,142-14 3
Mountain Man Skills	Stephen Brennan	9781628737097	Material that Threatens	Material that Threatens On U:drive violation list.
Mountaineering	Edited by Ronald C. Eng	9781594851384	Escape devices	Escape devices Code 2.02, ~ page #'s 136-147
Moutaineering		9781680510041	Escape devices	Escape devices Code 2.02 ~ Knot tying instructions

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Mr.	Ferry Van Der Nat	9789089897008	Simulated or threatened acts	Simulated or threatened acts Code 1.05
Multi-Orgasmic Couple, The	Mantak Chia	9780062516145	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Munchkin Crosswords	Pete Naish	9781454907237	Material which an inmate shall not possess within	Material which an inmate shall not possess within Wire Binding
Munchkin Crosswords #2	Matt Gaffney	9781454912293	Material which an inmate shall not possess within	Material which an inmate shall not possess within Wire Binding
Murachs Sql Server 2016 For Developers	Bryan Syverson, Joel Murach	9781890774967	Code	Code Server programming with detailed instructions
Mushoku Tensei 2	Rifujin Na Magonote	9781626922440	Physical harm	Physical harm Code 1.01, 1.02, 1.03, 1.05
Mushoku Tensei:Jobless Reincarnation #3	Rifujin Na Magonote	9781626922792	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 1.05
My First Book Of Knots	SUNDSTEN & JAGER	9781629146546	Material that Threatens	Material that Threatens Code 2.02 ~ pp 14-15, 34-37 and throughout publication
My Forbidden Desire	Carolyn Jewel	9780446178242	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03 Sexually explicit content
My Journals And Sketchbooks Robinson Crusoe	Robinson Crusoe	9780152678364	Escape devices	Escape devices Knot tying
My Journey Into The Wu-Tang Raw	HAWKINS	9781250191175	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 SEXUALLY EXPLICIT
My Kinky Poss	marquerite de lyon	9781511953542	Sexually Explicit Material	Sexually Explicit Material

Page 85 of 148

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
My Mans Best Friend	TRESSER HENDERSON	9781601623508	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ 28-29,102-103,106-10 7,254-255
My Secret Garden	Nancy Friday	9780704332942	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02 1.03
My Secret Garden: Womens Sexual Fantasies	Nancy Friday	9781416567011	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03 1.04 1.06
My Slut	Marguerite de Lyon	9781512239218	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04 ~ Page # 10-13, 16-25,
My Trouble With Women	Robert Crumb	9780867193749	Simulated penetration	Simulated penetration code 1.01, 1.02, 1.03
Mythical And Spiritual Tattoo Design Directory		9780785827153	Any items which a inmate shall not possess	Any items which a inmate shall not possess Wire bound book
Naked Fashion Girls	GOLIATH	9783957300010	Sexually Explicit Material	Sexually Explicit Material 1C PPS 37,61,100-101,124-12 6, 128 Code, 1.01, 1.02, 1.03, 1.05
Naked In Apartment 7	Peter Gorman	9783980760201		Code 1.01, 1.02, 1.03
Naked Lunch	William Burroughs	9780802122070	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, Page #'s 64-65, 68-69, 76-77
Naked Magazine Real Stories	Robert Steele	9781887895408	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Narcissus In Chains	Laurell K. Hamilton	9780515133875	Sexually Explicit Material	Sexually Explicit Material Page #;s 90-91, 288-289, 292-293, 440-444 ~ Code 1.01, 1.02, .103, 1.04
Native American Survival Skills		9781629145976	Material that Threatens	Material that Threatens PP 8-9, 168-173, 180-181
Natural & Naked			Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.05 ~ UNDERAGE & SEXUALLY EXPLICIT
Natural & Naked	GOLIATH	9783957300348	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.05 UNDERAGE & SEXUALLY EXPLICIT
Natural Young Beauties Goliath		9783936709513	Sexually Explicit Material	Sexually Explicit Material
Naturally Sexy		9783936709667		
Naughtier Than Nice	Eric Jerome Dickey	9780451476722	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Naughty Corner, The	JASMINE HAYNES	9780425266236	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Naughty Word Search Book For Adults Only	Sinnamon Patterson	9781542990721	Sexually Explicit Material	Sexually Explicit Material Code 1.04
Nauti Nights	Lora Leigh	9780425217405	Simulated penetration	Simulated penetration Code 1.01, 1.02, 1.03
Navy Seal Sniper	DOHERTY & WEBB	9781510714151	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.01 ~ PAGES 93, 196, 197, 198 SHOWS HOW TO HIDE

Page 87 of 148

Report Created on 04/11/2019

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Negima! Magister Negi Magi Omnibus 1 Ken Akamatsu		9781935429623	Sexually Explicit Material	Sexually Explicit Material
Negima! Magister Negi Magi Omnibus 2 Ken Akamatsu		9781935429630	Sexually Explicit Material	Sexually Explicit Material
Nester Girls Vol One		9780865621695	Simulated or threatened acts	Simulated or threatened acts Pages 38-39
Networking A Beginners Guide	Bruce Halberg	9780072262124	Code	Code Detailed instructions on networks
Networking All-In-One For Dummies	Doug Lowe	9781119471608	Code	Code Code 2.05
Neuer Strassen Atlas Deutschland/Europa			Material which an inmate shall not possess within	Material which an inmate shall not possess within Spiral Biding
Never Be The Same	Silk White	9780615630175	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ pgs 8-9, 36-37, 50-51, 54-55, 80-81, 120-121, 134-135
Never Entice An Earl	LILY DALTON	9781455523962	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, ~ SEXUAL CONTENT
Never Say Never	Alison Tyler	9781627780261	Sexually Explicit Material	Sexually Explicit Material
New Erotic Photography, The	DIAN HANSON	9783836526715	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ PPS 68, 71,122-123, 264,303
New Erotic Photography, The	DIAN HANSON & ERIC KROLL	9783836544030	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ PP 90, 116, 122-123, 258 AND THROUGHOUT PUBLICATION

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
New School		9789871839452	Sexually Explicit Material	Sexually Explicit Material Codes 1.01 & 1.04.~ Pgs. 60, 103, & 129
New York The Worlds Longest Dot-To-Dot Puzzle	Abi Daker	9781781573228	Items prohibited from receipt by mail	Items prohibited from receipt by mail Metal clasp & elastic
New York Times Sunday Crossword Puzzles	Will Shortz	9780312375072	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.09 Metal bool binding
New York Times Wonderful Wednesday Crosswords, The	The New York Times	9781250075420	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.01 ~ Spiral Wire Binding
Nice Girls Naughty Sex	Jordan La Rousse/Samantha Sade	9781580053433	Sexually Explicit Material	Sexually Explicit Material Pages 150-151, 176-177, 188-191
Nikolai		9781494428013	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 page numbers 1,2,12,13
Nine To Five Fantasies	Alison Tyler	9781627780605	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02 ,1.03 ~ page 8-9, 44-45, 96-97, 158-159
Ninja Defense, The		9784805312117	Material that Threatens	Material that Threatens SUBMITTED PAGES AND THROUGHOUT
Ninja, The	ERIC LUSTBADER	9780007330287	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ SEXUALLY EXPLICIT
North Americas Mushrooms	Dr. OrsonK. Miller Jr./Hope H. Miller		Material that Threatens	Material that Threatens Code 2.01
Page 89 of 148			Repor	t Created on 04/11/2019

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Not Gay Sex Between Straight White Men	JANE WARD	9781479825172	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Not Lives 07	Wataru Karasum	9781626925908	Simulated or threatened acts	Simulated or threatened acts Code 1.01, 1.02, 1.03, 1.04
Not Lives 07	Wataru Karasum	9781626925908	Simulated or threatened acts	Simulated or threatened acts Code 1.01, 1.02, 1.03, 1.04
Not Quite Shakespeare A Dreamspinner Press Anthology		9781632160195	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ Page # 86-89, 104-109, 158-161
Not Quite Shakespeare A Dreamspinner Press Anthology		9781632160195	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ Page # 86-89, 104-109, 158-161
Not Until You	Roni Loren	9780425275030	Simulated or threatened acts	Simulated or threatened acts Code 1.01, 1.02, 1.03, 1.04
Not Your Phocking Motivational Coach	Kali Dubois with Tyrone Testerman	9781548350703	Sexually Explicit Material	Sexually Explicit Material Code 1.00, 1.06
Nothing Forbidden	KENNY WRIGHT	9780692332108	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02 1.03 ~ PP 28-31,44-45,80-81,118 -119
Ntr Netsuzou Trap	Naoko Kodama	9781626923355	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.05 SEXUAL TOUCHING
Ntr Netsuzou Trap	Kodama Naoko	9781626923751	Sexually Explicit Material	Sexually Explicit Material
Nurse Nitomis Monster Infrimary		9781626922051	Simulated or threatened acts	Simulated or threatened acts Code 1.05

Page 90 of 148

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Nurse Nitomis Monster Infrimary		9781626922051	Simulated or threatened acts	Simulated or threatened acts Code 1.05
Nurses Secrets	TAKUMA HARAZAKI	9781624591082	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03, 1.04, 1.05
Object Oriented Perl	DAMIAN CONWAY	9781884777790	Mail that the department deems pose a threat	Mail that the department deems pose a threat Code 2.05 COMPUTER PUBLICATION
Obsessed	Devon Scott	9780758227010	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Obsessed Delilah Devlin		9780849943737		
Obsession 2		9781624909047		
Off The Clock	Roni Loren	9780425278543	Sexually Explicit Material	Sexually Explicit Material
Office Weapons	INSTRUCTABLES.CO M-MIKE WARREN	9781620877081	Material that Threatens	Material that Threatens Code 2.01 ~ PP 3-7, 13-23, 108-109 AND THROUGHOUT PUBLICATION
Official Us Army Survival Guide Updated Edition, The	Carlile Military Library	9781547209460	Escape devices	Escape devices Code 2.01, 2.02
Olivia	ROBERT BANE		Sexually Explicit Material	Sexually Explicit Material Code 1.04 ~ 29,31 ONLY
Ols School Boxing Fitness	ANDY & JAMES DUMAS	9781620876091	Material that Threatens	Material that Threatens Code 2.01, 2.07 ~ PP 26-33
Omamori Himari	Milan Matra	9780316195720	Sexually Explicit Material	Sexually Explicit Material no page numbers, throughout book

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Omamori Himari 12		9780316376785	Sexually Explicit Material	Sexually Explicit Material pg 165-166
Omamori Himari 77		9780316369008	Sexually Explicit Material	Sexually Explicit Material pg 16-18, 30-33, 36-38, 54, 79-81, 118-123
Omamori Himari Vol. 3		9780759531802	Sexually Explicit Material	Sexually Explicit Material Pg 4-8, 71-72, 78-79, 100-103 THIS ISBN is for VOlume 2 NOT volume 3
Omamori Himari- Vol 3- By Milan Matra		9780316187589	Sexually Explicit Material	Sexually Explicit Material this ISBN is for volume 4 pg 50-53, 106, 123-128
Omamori Himari- Vol 3- By Milan Matra		9780759531819	Sexually Explicit Material	Sexually Explicit Material Pg 8-12, 48-52, 150-154, 158-159
One Punch Man 2-Disc Dvd Set Episodes 1-12			Any items which a inmate shall not possess	Any items which a inmate shall not possess Code 2.09 ~ DVD Set
One True Mate - 1	LISA LADEW	9781537360393	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ SEXUALLY EXPLICIT THROUGHOUT BOOK
One With You		9781250109309	Sexually Explicit Material	Sexually Explicit Material
Only For You		9780425266144	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Only You	Rachel Dramer Bussel	9781573449090	Sexually Explicit Material	Sexually Explicit Material

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Open Office 3.4	Cain and Walker	9781480224322	Information would create clear and present danger	Information would create clear and present danger
Opengl Es 2.0 Programming Guide	Aftab Munshi, Dan Ginsburg, Dave Shreinde	9780321502797 r	Violation of Administrative Directives	Violation of Administrative Directives Code 2.05
Operating Systems Demystified		9780071752268	Material that Threatens	Material that Threatens INCLUDES CONTENTS
Optical Illusions And Puzzles		9781445405155	Items prohibited from receipt by mail	Items prohibited from receipt by mail
Oral Penthouse Variations		9781627780933	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Oral Sex For Every Body	Tina Robbins	9781629144764	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Oral Sex Shell Never Forget	Sonia Borg	9781592333912	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02 1.03
Orchids In Watercolour	Ann Mortimer	9781844488216	Items prohibited from receipt by mail	Items prohibited from receipt by mail Code 2.08 ~ PAGES ARE TRACING PAPER
Orgasm In 5 Minutes		9781629144733	Sexually Explicit Material	Sexually Explicit Material
Orgasms That Will Make Your Toes Cxurl		9781569758700		Code 1.01, 1.02, 1.03
Oriental		9780600634027	Items prohibited from receipt by mail	Items prohibited from receipt by mail 4.12 ~ EVERY PAGE A BLANK POSTCARD

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Origami For Him	DIDIER BOURSIN	9781446303535	Items prohibited from receipt by mail	Items prohibited from receipt by mail SECOND PART OF BOOK HAS 112 PAGES OF ORIGAMI PAPER THAT IS MEANT TO BE REMOVED TO USE AS FOLDING. ALSO CONTAINS 2 PAGES OF STICKERS
Origami For Him	DIDIER BOURSIN	9781446303535	Items prohibited from receipt by mail	Items prohibited from receipt by mail SECOND PART OF BOOK HAS 112 PAGES OF ORIGAMI PAPER THAT IS MEANT TO BE REMOVED TO USE AS FOLDING. ALSO CONTAINS 2 PAGES OF STICKERS
Origami Magic	Steve Biddle	9784805312100	Material which an inmate shall not possess within	Material which an inmate shall not possess within
Origami Paper 200 Sheets	Nature Patterns	9780804848619	Material which an inmate shall not possess within	Material which an inmate shall not possess within
Origins		9781599290041	Sexually Explicit Material	Sexually Explicit Material
Other Place, The	Jeff Burton	9781931885348	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Other Side Of Secret, The #1	Hideaki Yoshikawa	9781626923164	Sexually Explicit Material	Sexually Explicit Material Code 1.05
Our Little Secret	Ryu Shinonome	9781624591655	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03 1.05

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Our Sexuality	ROBERT CROOKS	9780534633752	Sexually Explicit Material	Sexually Explicit Material PPS 248-249,256-265 AND THROUGHOUT PUBLICATION
Palo Alto	James Franco	9781439163153	Sexual acts minor or under 18	Sexual acts minor or under 18 Code 1.02, 1.02, 1.03, 1.05
Palo Alto	JAMES FRANCO	9781476778389	Sexual acts minor or under 18	Sexual acts minor or under 18 Code 1.01, 1.02, 1.03, 1.05 SEXUALLY EXPLICIT WITH A MINOR
Panthers In The Skins Of Men		9780758200921	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ PP 253,298-301, 315,
Panty Ripper, The	Reality Way	9780989185998		Code 1.01, 1.02, 1.03 ~ Page #64-69
Paper Chess Set		9781452120324	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.01 ~ 3D Paper Chess Set
Paracord Outdoor Gear Projects	Joel Hooks	9781565238466	Items prohibited from receipt by mail	Items prohibited from receipt by mail Code 2.02 ~ Knot tying
Paracordz Craft Factory		9781861089236	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.02
Parasite Doctor Suzune Vol 1, The	HARUKI	9781624590375	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 1.05 ~ PP 42-45,172-173,198-20 1 AND THROUGHOUT ENTIRE PUBLICATION

Page 95 of 148

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Paris Girls Goliath		9783936709629	Sexually Explicit Material	Sexually Explicit Material 1C NO PAGE NUMBERS- This book is on the State Violated List
Parking Lot Pickers Songbook	Dix Bruce	9780786688203	Unauthorized Attachments	Unauthorized Attachments Code 2.08 ~ Wire Binding
Partnerz In Crime	Kareem	9781622864928	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Passionate Marriage	DAVID SCHNARCH	9780393040210	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ PP 282-287
Pathfinder Inner Sea Poster Map Folio	ROB LAZZARETTI	9781601252715	Any item larger than 18" x 18"	Any item larger than 18" x 18" Code 4.08 4 OVERSIZE GAME PLAYING MAPS
Paulo Coelho Once Minutos		9780060591830	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Pcs For Dummies	Dan Gookin/Andy Rathbone	9781878058515	Material that Threatens	Material that Threatens Code 205
Peaceable Kingdom	Jack Ketchum	9780843952162	Simulated or threatened acts	Simulated or threatened acts Code 1.01, 1.02, 1.03, 1.04 Animal cruelty/abuse & murderSexual content, bondage, rape, murder
Peep Show Pinups The Golden Era		9780785825012	Sexually Explicit Material	Sexually Explicit Material Code 1.04 ~ review 7-14-17 TG violation stands
Penthouse 45th Anniversary		9783037666456		
Penthouse Uncensored Vi	Editors of Penthouse Magazine	9780446698597	Sexually Explicit Material	Sexually Explicit Material Pgs. 40-43 216-221 288-291
Page 96 of 148			Repor	t Created on 04/11/2019

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Penthouse Uncensored Vii	Editors of Penthouse Magazine	9780446557481	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04 ~ Pgs. 40-45 104-109, 216-221, 273-277, 288-289
Penthouse Variations On Anal	Editors of Penthouse Variations	9781627781961	Sexually Explicit Material	Sexually Explicit Material
Penthouse Variations On Submission	Editors of Penthouse Variations	9781627781299	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ Page # 4-11, 114-121, 138-143
Peter Darling	Austin Chant	9781620049808	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ Pg \$'s 152-159
Peterson Field Guide Coloring Books Seashores		9780544033993	Unauthorized Attachments	Unauthorized Attachments Code 2.01 ~ 5 PAGES OF STICKERS. CANT REMOVE WITHOUT DESTROYING BOOK.
Photographes, The	George Dureau	9781597112840	Simulated or threatened acts	Simulated or threatened acts Code 1.04
Pideme Lo Que Quieras	Megan Maxwell	9786070715396	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Pimps Life, A	TREASURE HERNANDEZ	9781601625298	Sexually Explicit Material	Sexually Explicit Material Page #'s 10-13 142-145 236-241 Code 1.01, 1.02, 1.03

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Pimp'S Rap- By The Master Pimp, The		9780964729889	Sexually Explicit Material	Sexually Explicit Material 1C PP48-57,94-95,106-10 7 AND THROUGHOUT PUBLICATION
Pin-Ups		9781931160681	Sexually Explicit Material	Sexually Explicit Material
Pink Attitude The Contemporary Female Creativity	,	9788886416726	Sexually Explicit Material	Sexually Explicit Material Code 1.04, 1.05 ~ PP 17,67,78,207,208
Pink Kinky Japans Sex Underground Su Zume		9789881250711	Sexually Explicit Material	Sexually Explicit Material
Pink Palace, The	Marlon McCaulsky	9781622869503	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04 ~ Pages 1, 8-9, 11, 32-33,99-100.
Pinup Project, The	Graffito	9781909051072	Simulated sexual acts	Simulated sexual acts
Pirate Queens Booty	Stefano Mazzotti	9780865621916	Simulated or threatened acts	Simulated or threatened acts
Play Better Guitar In 10 Minutes A Day	Phil Capone	9780785831907	Items prohibited from receipt by mail	Items prohibited from receipt by mail
Playboy 2017 Playmate Calendar			Any items which a inmate shall not possess	Any items which a inmate shall not possess Wire spiral binding
Playboy November 2007			Sexually Explicit Material	Sexually Explicit Material Code 4.08
Please Sir		9781573443890		
Pleasure Control Cathryn Fox		9780062265586		

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Pleasure Exchange	Cathryn Fox	9780062265593	Sexually Explicit Material	Sexually Explicit Material Code 1a,b,c Page #'s 64-67, 72-73, 80-85, 122-123, 130-131, 140-141, 184-185
Poor Little Bitch Girl	Jackie Collins	9780312569815	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Porno Irvine Welsh		9780393324501	Sexually Explicit Material	Sexually Explicit Material 1c pp 216,223-224
Pornographers Daughter, The	KRISTIN BATTISTA FRAZEE	9781629144344	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ PP 67-68
Position Sex Bible- By Randi Foxx		9781592333493		
Practical Electronics For Inventors		9781259587542	Mail that the department deems pose a threat	Mail that the department deems pose a threat Code 2.05 ELECTRICAL
Practical Sailing	Tony Gibbs	9780910990370	Escape devices	Escape devices Descriptive chapters on knot tying
Preacher #2	Garth Ennis/Steve Dillon	9781401242558	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04 SEXUALLY EXPLICIT AND VIOLENCE
Prelude 2 A Pimp	BlaQue	9781542490597	Simulated or threatened acts	Simulated or threatened acts Code 1.01, 1.02, 1.03, 1.04, 1.06
Premium Drawing Sketch Pad With Metal/Wire Binding - 2 Pack			Any items which a inmate shall not possess	Any items which a inmate shall not possess Code 2.08 2 pack of sketch pads with wire binding

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Pretty Girls Love Bad Boys	Mike Enemigo	9781717555076	Mail that the department deems pose a threat	Mail that the department deems pose a threat Code 2.07 HOW TO MANIPULATE WOMEN
Pretty Ladies, The Art Of Jack Henslee	Jack Henslee	9780865621480	Sexually Explicit Material	Sexually Explicit Material
Pride And Prejudice	Annabella Bloom & Jane Austen	9781440506604	Simulated sexual acts	Simulated sexual acts Paged 450-451 and 470-472 Code 1.01, 1.02, 1.03
Primal	LORA LEIGH	9780425239056	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ PP 154-158, 248-251, 262-267 AND THROUGHOUT PUPLICATION
Princess Bound, A	KRISTINA WRIGHT	9781627780353	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 1.04 ~ PP 22-24,56-57,64-65,138 -140,178-179 AND THROUGHOUT ENTIRE PUBLICATION
Principles & Concepts For Martial Arts	Sylvain Galibert	9781520784847	Information would create clear and present danger	Information would create clear and present danger Code 2.01, 2.07
Prison Ramen		9780761185529	Material that Threatens	Material that Threatens 1pg 142-143
Prison Ramen		9780761185529	Material that Threatens	Material that Threatens 1pg 142-143

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Prison School		9780316343657	Sexually Explicit Material	Sexually Explicit Material pg 80, 248,280,316, 334-335
Prison School	Akira Hiramoto	9780316346122	Sexually Explicit Material	Sexually Explicit Material pg 40-42, 76, 335-337, 358, 366-371 this is rejected on the OLD list but doesn't show up on the new database, rejected 3/26/16
Private Nudes	Leonardo Glauso	9783957300249	Sexually Explicit Material	Sexually Explicit Material Code 1.02, 1.03 ~ Pg 37,40,46,63,90
Programming	Marc Rawen	9781539490197	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.05
Programming Arduino Getting Started With Sketches	SIMON MONK	9780071784221	Material that Threatens	Material that Threatens pps Contents
Programming Arduino Getting Started With Sketches	SIMON MONK	9780071784221	Material that Threatens	Material that Threatens pps Contents
Programming Coldfusion Mx	Rob Brooks-Bilson	9780596003807	Content restrictions	Content restrictions Code 2.05
Programming Computer Programming For Beginners	Joseph Connor	9781518662584	Code	Code Entire book of programming languages
Programming The Raspberry Pi		9780071807838	Material that Threatens	Material that Threatens
Promise To Remember, A	Michael Berenbaum	9780821228289	Any items which a inmate shall not possess	Any items which a inmate shall not possess Code 2.05 ~ Many pockets throughout book with many removable items

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Pucker, The Seductive Art Of Matt Busch		9780865621435	Simulated or threatened acts	Simulated or threatened acts
Pure Erotic Massage	Nicole Bailey	9781844834808	Simulated penetration	Simulated penetration
Pussy Mania	Martin Sigrist	9783037666371		
Pussy Power 3	Anton Volkov	9783934020771	Sexually Explicit Material	Sexually Explicit Material
Python In Easy Steps	Mike McGrath	9781840785968	Code	Code Code 2.05
Python Programming	Brian Draper	9781539434375	Code	Code Programming with detailed instructions
Python Programming For Beginners	Chris Sebastian	9781795050531	Information would create clear and present danger	Information would create clear and present danger Code 2.05 For IT Review
Queens Blade Perfect Visual Collection		9781935654551	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04, 1.05 ~ PP 47,65,120
Queens The Pin Up Art Of Lorenzo Sperlonga	LORENZO SPERLONGA		Sexually Explicit Material	Sexually Explicit Material Code 1.02, 1.03, 1.04
Quick And Dirty Nfl Football Handicapping Method, The	Ken Osterman	9781512026146	Mail that the department deems pose a threat	Mail that the department deems pose a threat Code 2.01
Quiver		9780142180228		
Raised As A Goon Bout Dat Life Ii	Ghost	9781977509116	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04
Range Of Love	Akira Shou	9781934129777	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.05
Rappers Delight On The Rise	RUELYN BENNET	9781514153888	Sexually Explicit Material	Sexually Explicit Material

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Raspberry Pi	Gray Girling	9780857332950	Material that Threatens	Material that Threatens Code 2.05
Rays Days	Ryohzoh	9781934129760	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03, 1.05
Real Alchemy		9780892541508	Information would create clear and present danger	Information would create clear and present danger Code 2.01 ~ Page # 36-37, 119, 133
Real Wifeys Hustle Hard	MEESHA MINK	9781451688979	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Reapers Property	Joanna Wylde	9780997723922	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Rectangle Of Sins	Nurit Folkes	9780967224992	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03
Red London	Stewart Home	9781873176122	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Red Velvet And Absinthe	Mitzi Szereto	9781573447164	Simulated penetration	Simulated penetration
Redemption Manual 5.0 Series #4		9781546441359	Mail that the department deems pose a threat	Mail that the department deems pose a threat Code 2.05
Reeds Knot Handbook	JIM WHIPPY	9780939837939	Information would create clear and present danger	Information would create clear and present danger Code 2.02
Reflected In You	Sylvia Day	9781405910255	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ pgs 60-63, 76-79, 94-97
Revenge	LEXI BLAKE	9780425283592	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ SEXUALLY EXPLICIT
Dogo 102 of 149			Dana	rt Crooted on 04/11/2010

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Richardson Issue A9			Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04 ~ SEXUAL ACTS, ORAL SEX AND BONDAGE
Riddle Of The Sands, The	Geoffrey Knight	9781615235971	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Riding High	zara stoneley	9781492601067	Sexually Explicit Material	Sexually Explicit Material pgs 68-73, 76-77
Riding The Night	JACI BURTON	9780425236567	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03
Road Dawgz	K'Wan	9781622869299	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04 ~ Page #'s 36-39, 156-157, 368-369
Rolling Thunder Issue Number Twelve/Spring 2015			Escape	Escape PP 106-112 MANIPULATION OF SECURITY CAMERAS
Roninbebop	Kevin Eastman	9780981489513	Simulated sexual acts	Simulated sexual acts
Rope Burns	Robert Scott	9780786022243	Simulated or threatened acts	Simulated or threatened acts Code 1.01, 1.02, 1.03 1.04, 1.05
Runaway Vampire	LYNSAY SANDS	9780062316042	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ SEXUAL CONTENT PAGES 116, 117, 163
Running Small Motors With Pic Microcontrollers	HARPRIT SINGH SANDHU	9780071633512	Mail that the department deems pose a threat	Mail that the department deems pose a threat COMPUTER

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Rush	maya banks	9780425267042	Sexually Explicit Material	Sexually Explicit Material pgs 77-84, 91-92, 96-100, 121-123, 136-137, 187-189, 261-263 Code 1.01, 1.02, 1.03
Russian Criminal Tattoo	Murray and Sorrell Fuel	9780955862076	Simulated or threatened acts	Simulated or threatened acts Code 1.01, 1.02 1.03, 1.04
Russian Criminal Tattoo	Murray and Sorrell Fuel	9780955862076	Simulated or threatened acts	Simulated or threatened acts Code 1.01, 1.02 1.03, 1.04
Russian Criminal Tattoo Encyclopaedia Vol Ii		9780955006128	Criminal activity, conversion of weapons	Criminal activity, conversion of weapons Code 2.01 ~ Vol 1 was violated. Has only Criminal tattoos thus elevating it to a book of criminal activities.
Russian Criminal Tattoo Encyclopaedia Vol Iii		9780955006197	Criminal activity, conversion of weapons	Criminal activity, conversion of weapons Code 2.01 ~ Vol 1 was violated. Has only Criminal tattoos thus elevating it to a book of criminal activities
Sa80 Assault Rifles	Neil Grant	9781472811042	Material that Threatens	Material that Threatens Code 2.01 ~ Nomanclature of a weapon
Safe Word An Erotic S/M Novel		9781573449359	Sexually Explicit Material	Sexually Explicit Material
Sambo And Systema	Michael A DeMarco, M.A.	9781893765290	Material that Threatens	Material that Threatens Code 2.01, 2.07

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Sams Teach Yourself C Programming 7th Edition		9780789751997	Information would create clear and present danger	Information would create clear and present danger Code 2.05 ~ COMPUTER PROGRAMMING
Sas And Elete Forces Guide Mental Endurance		9780762787852	Material that Threatens	Material that Threatens
Sas Survival Guide For Any Climate In Any Situation		9780061992865	Escape devices	Escape devices MAKING KNOTS & LADDERS
Sas Survival Handbook	John "Lofty" Wiseman	9780062378071		
Satanic Bible, The		9780380015399	Material that Threatens	Material that Threatens This book was SYSTEM AUTOMATED P-APPROVE on 4/25/16. It has been on the State rejected list since 11/8/13, Verbiage on the U Drive; "Director Williams/DOJ Decided Not To Allow These"
Satanic Rituals, The		9780380013920	Material that Threatens	Material that Threatens THIS BOOK IS ON THE STATE REJECTED LIST AS OF 8/30/16, THESE ARE THE PAGES LISTED ON THE U DRIVE
Satans Secretary 1	Kamotsu Kamonabe	9781626928688	Simulated or threatened acts	Simulated or threatened acts
Say Uncle!	Jake Shannon	9781550229615	Information would create clear and present danger	Information would create clear and present danger Code 2.01, 2.07

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Scars Of Salem	K'Wan	9781622867295	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 Page #'s 62-67, 202-203
Scratch & Sniff Book Of Weed, The	SETH MATLINS	9781419724527	Material that Threatens	Material that Threatens Code 4.10 ~ foreign substance
Seasons Coloring Books For Adults With Color Pencisl	Color your way to calm	9781988137490	Unauthorized Attachments	Unauthorized Attachments Code 2.08 ~ Colored Pencils
Secret Art Of Pressure Point Fighting, The		9781569756232	Material that Threatens	Material that Threatens
Secret Code Puzzles	Elonka Dunin	9781845293253	Code	Code Code 2.05
Secret Language Of Birthdays, The	Gary Goldschneider	9780670881833	Unauthorized Attachments	Unauthorized Attachments code 2.08, Wire Binding
Secret Sex Confessions	d.d. jensen	9781511802574	Sexually Explicit Material	Sexually Explicit Material code 1.01, 1.02, 1.03
Secret Sins	Lora Leigh	9781250017017	Simulated penetration	Simulated penetration Code 1.01, 1.02, 1.03
Secret Tunnel James Lear, The		9781573443296	Sexually Explicit Material	Sexually Explicit Material
Secrets Of Female Sexuality, The	DAVID SHADE	9780692004470	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ PP 76-81,180-181,208-21 1 AND THROUGHOUT ENTIRE PUBLICATION
Section 8	k'wan	9780312536961	Simulated or threatened acts	Simulated or threatened acts Code 1.01, 1.02, 1.03, ~ pgs 80-83 (rape scene), 246-249

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Seduced By Moonlight		9780345443595	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 SEXUALLY EXPLICIT
Seductress	K L King	9781573448192	Sexually Explicit Material	Sexually Explicit Material
Seized	Suzanne Ferrell	9781490484983	Sexually Explicit Material	Sexually Explicit Material
Seized By Seduction	Brenda Jackson	9780373799343	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Sekirei	SAKURAKO GOKURAKUIN	9780316480062	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.05
Self - Sufficiency Handbook, The	Allan & Gill Bridgewater	9781602391635		Code 2.01 Page #'s 182-183
Self Defense For Women, Tips, Techniques And Methodsto Protect Yourself	dueep j. singh	9781505799866	Material that Threatens	Material that Threatens code 2.01 2.07
Self-Defense 3 Seconds To Live	david wommack	9781490508290	Material that Threatens	Material that Threatens Code 2.01, 2.07
Self-Sufficiency		9781602399990	Material that Threatens	Material that Threatens code 2.02
Self-Taught Programmer, The	Cory Althoff	9781520288178	Mail that the department deems pose a threat	Mail that the department deems pose a threat Code 2.05
Senran Kagura 2		9781626920279	Sexually Explicit Material	Sexually Explicit Material
Senran Kagura Skirting Shadow 3		9781626922990	Sexually Explicit Material	Sexually Explicit Material
Senran Kagura Skirting Shadows Grafic		9781626920262	Sexually Explicit Material	Sexually Explicit Material
Serving Fem Dom Alice In Marthas Vineyard	Ariane Arborene	9781463522490	Simulated or threatened acts	Simulated or threatened acts Code 1.01, 1.02, 1.03, 1.04

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Seven Sexy Sins	Serenity Woods	9781619212787	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Seventies Glamour	DAVID WILLS	9780062265562	Material that Threatens	Material that Threatens Code 1.04 ~ BONDAGE AND DRUGS PGS 34, 69, 92, 100, 101
Sex Chronicles li Gettin Buck Wild	Zane	9780743457026	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Sex Chronicles Shattering The Myth, The	Zane	9780743462709	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Sexual Deviance	D.richard Laws, William T. O'Donohue	9781593856052		
Sexy Lingerie Girls	GOLIATH	9783936709537	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ page #'s 10-13, 44, 84, (C) Sexual Acts or Behaviors: (i) Portrayal of actual or simulated penetration of the vagina or anus, or contact between the mouth and the breast, genitals or anus.
Sexy Sailors	Neil Plakcy	9781573448222	Penetration	Penetration Book is entirely made up of "Gay Erotic Stories"
Sg Geekology		9781623260071	Sexually Explicit Material	Sexually Explicit Material
Shadow Keeper	CHRISTINE FEEHAN	9780451490124	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
She Comes First Ian Kerner		9780060538262	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04 ~ Page #'s 104-105, 132-139
She Got A Thing For A Dope Boy 3		9781726133197	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
She Shoots Men	Vivienne Maricevic	9780764345104	Simulated sexual acts	Simulated sexual acts Code 1.04
Sheisty	T. N. Baker	9781622869282	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04
Sheshifters: Lesbian Paranormal Erotica	DELILAH DEVLIN	9781573447966	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 Page # 3-4, 7-10, 62- 63
Shin Megami Tensei Kahn	Kazuaki Yanagisawa	9781598162264	Sexually Explicit Material	Sexually Explicit Material Code 1.05
Shomin Sample #3	TAKAFUMI NANATSUKI	9781626923553	Sexual acts minor or under 18	Sexual acts minor or under 18 Code 1.05 ~ Underage nudity
Shomin Sample 2		9781626923201	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.05
Shooters Bible Guide To Ar-15s	HOWLETT & MANNING	9781510710979	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.01 ~ Conversion ~ PAGES 22, 23, 24 PLUS MORE. HOW TO TAKE A AR-15 APART
Shooters Bible Guide To Firearms Assembly, Disassembly, And Cleaning	ROBERT A SADOWSKI	9781616088750	Weapons & Explosives	Weapons & Explosives Code 2.01 ~ HOW TO TAKE GUNS APART
Shotgun Sorceress	Lucy S. Snyder	9780345512109	Simulated or threatened acts	Simulated or threatened acts Code 1.01, 1.02, 1.03 1.04

Page 110 of 148

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Shotokan Karate Bible, The	Ashley Martin	9781632863423	Material that Threatens	Material that Threatens Code 2.01, 2.07
Sick B*Stards	Matt Shaw	9781499772852	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03
Sidestripping Charles Gatewood		9780867194425	Sexually Explicit Material	Sexually Explicit Material
Sierra Club 2018 Calendar		9781578052158	Material that Threatens	Material that Threatens Code 2.08 ~ Spiral Metal Binding
Simple Knifemaking	Nicholas Tomihama	9781534897700	Material that Threatens	Material that Threatens Code 2.01 ~ page #'s 46-53, 122-127, 142-147, 161-168
Simply Carnal	KATE PEARCE	9780758269454	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02 1.03 ~ PP 42-43,68-67,128-129,3 23-233
Simply Scheme:Introducing Computer Science	Brian Harvey/Matthew Wright		Material which an inmate shall not possess within	Material which an inmate shall not possess within
Sins Of The Flesh	Bruce Colero	9780865622265	Sexually Explicit Material	Sexually Explicit Material Code 1.04
Sketch Book		9781721879113	Items prohibited from receipt by mail	Items prohibited from receipt by mail Blank paper
Sketch Book		9781721878819	Items prohibited from receipt by mail	Items prohibited from receipt by mail Code 2.08
Sketch Pad Wirebound			Any items which a inmate shall not possess	Any items which a inmate shall not possess Wirebound sketch pad
Skin Deep	Bruce Colero	9780865621794	Simulated sexual acts	Simulated sexual acts code 1.01, 1.02, 1.03 1.04 ~

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Skin Tight The Art Of Marcus Gray	Marcus Gray	9780865620605	Simulated sexual acts	Simulated sexual acts
Skin Tight The Art Of Marcus Gray Skin Tight The Art Of Marcus Gray			Sexually Explicit Material	Sexually Explicit Material
Slave To Slave	Nikita Black	9780615991856	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04
Slow Hand	Victoria Vane	9781492601128	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03
Slow Seduction	CECILIA TAN	9781455529254	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Slow Seduction	CECILIA TAN	9781455529254	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Smart Sunday Crosswords	Will Shortz	9781250093714	Material that Threatens	Material that Threatens Metal Spiral
Smooth-Talking Cowboy	MAISEY YATES	9781335006981	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Smut 2		9780811859929	Sexually Explicit Material	Sexually Explicit Material this book is SMUT Vol 2
Sneaky Uses For Everyday Things	Cy Tymony	9780740738593	Information would create clear and present danger	Information would create clear and present danger Copies of front/back with descriptions of dangers to staff/inmates with sneaky uses, copy of inside on how to start fires
Snuff	Chuch Palahniuk	9780385517881	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Soft Blondes In The Claws Of Torture Hell	Pulp Mayhem	9781840686692	Simulated or threatened acts	Simulated or threatened acts

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Software And Mind	Andrei Sorin	9780986938900	Information would create clear and present danger	Information would create clear and present danger Code 2.05
Soldier Of Fortune Barry Davies		9781620877876	Material that Threatens	Material that Threatens Code 2.01, 2.07 ~ PP 8-12, 26-33, 68-79 AND THROUGH OUT PUBLICATION-THIS BOOK IS ALREADY ON THE OLD VIOLATED LIST
Soldier Of Fortune Guide To How To Become A Mercenary		9781620870976	Material that Threatens	Material that Threatens PP 107-115 AND THROUGHOUT ENTIRE PUBLICATION
Soldier Of Fortune Guide To How To Become A Mercenary		9781620870976	Material that Threatens	Material that Threatens PP 107-115 AND THROUGHOUT ENTIRE PUBLICATION
Solid Black Fist				
Solstice Prince Realms Of Love, The	S.J. HIMES	9781979321433	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Some Like It Rough	Kate Pearce and Susan Lyons	9780758291035	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03
Something Blue	,	9780977710591	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04
Something Forbidden	KENNY WRIGHT	9780615892795	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ PP40-45,176-177,232- 233

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Son Of Man	ROBERT SILVERBERG		Sexually Explicit Material	Sexually Explicit Material Code 1.0, 1.02, 1.03 PAGE 81 & 82 SEXUALLY EXPLICIT
Sorayama Vibrant Vixens		9783037666289		
Spanish- Fifty Shades Freed		9780345804297	Sexually Explicit Material	Sexually Explicit Material PP 36-39, 104-107 AND THROUGHOUT ENTIRE PUBLICATION
Spanish-Fifty Shades Darker		9780345804273	Sexually Explicit Material	Sexually Explicit Material
Spank!	Fernando Caretta	9780865622609	Sexual acts minor or under 18	Sexual acts minor or under 18 Pictures of nude and sexual acts being performed by a child.
Special Forces Fitness Training Agusta Dejuan Hathaway		9781612433066	Material that Threatens	Material that Threatens
Spectrim 15		9781599290270	Sexually Explicit Material	Sexually Explicit Material
Speed Brewing	Mary Izett	9780760347379	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.01 ~ Step by step instructions for fast-fermenting beers, ciders, meads and more
Speed Training	LOREN CHRISTENSEN	9780873648592	Material that Threatens	Material that Threatens Code 2.01
Speeding The Old Reliable Photos Of David Hurles	rex	9781931160391	Sexually Explicit Material	Sexually Explicit Material 291-131-0035 C i Db Sexual material, Male erection

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Spell Bound Black Magin Women		9780865622142		Code 1.04
Spell Bound Black Magin Women		9780865622142		Code 1.04
Spider Game	CHRISTINE FEEMAN	9780515156102	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03
Spider Game	CHRISTINE FEEHAN	9780349410340	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 SEXUALLY EXPLICIT
Sports Illustrated Swimsuit 2019 Calendar		9781438859682	Sexually Explicit Material	Sexually Explicit Material Code 2.08 NIPPLES SHOWING THROUGH CLOTHING
Spunky Sailor	Ken Smith	9781590210291	Sexually Explicit Material	Sexually Explicit Material
Spy Secrets That Can Save Your Life	Jason Hanson	9780399175145	Material that Threatens	Material that Threatens Code 2.02
Sql Server 2005 For Developers	MURACH	9781890774394	Material that Threatens	Material that Threatens CONTENTS AND INTRODUCTION INCLUDED
Stalling For Time	GARY MOESNER	9780525511281	Material that Threatens	Material that Threatens Code 2.01, 2.02 ~ INMATES TAKING HOSTAGES. PAGES 79, 85-88 PLUS MORE.
Steady Mobbin The Last Of My Kind	MARCELLUS ALLEN	9781726437936	Criminal activity, conversion of weapons	Criminal activity, conversion of weapons Code 1.01, 1.02, 1.03 SEXUALLY EXPLICIT AND GANG VIOLENCE THROUGH OUT ENTIRE BOOK.

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Steal This File Sharing Book	Wallace Wang		Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.05
Steam Bath	Shane Allison	9781573449328	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Steampunk Rising		9780865622470	Sexually Explicit Material	Sexually Explicit Material
Still Dirty	Vickie M Stringer	9781416563594	Sexually Explicit Material	Sexually Explicit Material
Still Hood	k'wan	9780312360108	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ pgs 46-47, 148-149, 228-229, 314-319
Still Sheisty Part 2 T N Baker		9780976234906	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04
Stitch-Opedia	Helen Winthorpe Kendrick	9780312611590	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.08 Metal/wire binding
Story Of O	pauline reage	9780345545343	Sexually Explicit Material	Sexually Explicit Material
Story Of X, The		9781624903618	Sexually Explicit Material	Sexually Explicit Material pps 66-67, 116-117, 146-149, 182-183,242-243 Code 1.01, 1.02, 1.03.
Straddling The Line	Jaci Burton	9780425262993	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Straight Guys	SHANE ALLISON	9781573448161	Sexually Explicit Material	Sexually Explicit Material 1.01, 1.02, 1.03, ~ PP 48-49,108-109,182-18 5 AND THROUGHOUT ENTIRE PUBLICATION
Strawberry Panic	Sakurako Kimino	9781933164793	Sexually Explicit Material	Sexually Explicit Material no page numbers, throughout book
Street Dreams	K'WAN	9780312333065	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 1.04 1.05 ~ Pgs. 16 26 55-56 59-61 186-187 Rape of daughter/under aged girl.
Streets Keep Calling, The	CHUNICHI	9781601625700	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ pps 100, 155-157
Streetwise Spycraft	BARRY DAVIES	9781780974378	Material that Threatens	Material that Threatens Code 2.02
Stress-Free Sailing	Duncan Wells	9781472907431	Material that Threatens	Material that Threatens Code 2.02
Strip Search	shayla black	9780425268223	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Strip, The	J.J. SALEM	9781617934179	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ Pps 60-61,116-117, 148-151

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Stroke Of Midnight, A		9780345443601	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 SEXUALLY EXPLICIT
Study Guide The Blessed Live	Robert Morris	9780997429848	Unauthorized Attachments	Unauthorized Attachments code 2.09 Wire Binding
Study Guide The God I Never Knew	Robert Morris	9781945529542	Unauthorized Attachments	Unauthorized Attachments Code 2.09 Wire Binding
Submissive Wife Stories	CJ EDWARDS	9781503326453	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 1.04 ~ PP10-11,18-19,30-31 AND THROUGHOUT ENTIRE BOOK
Submissive Wives 3	CJ EDWARDS	9781502803375	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 1.04 ~ PP 6-7,16-17,24-25 AND THROUGHOUT ENTIRE BOOK
Substitute	ISOBEL REY	9781492601005	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.;02, 1.03, 1.04 ~ page #'s 66-67, 102-105, 116-119, 170-177
Suck Me Dry 2	GEMINI PHOENIX		Sexually Explicit Material	Sexually Explicit Material Code 2.01, 2.07
Suck Me Dry 3	GEMINI PHOENIX	9781496025463	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Sudoku		9780811861168	Items prohibited from receipt by mail	Items prohibited from receipt by mail

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Sudoku		9780811856256	Items prohibited from receipt by mail	Items prohibited from receipt by mail Code 1.01, 1.02, 1.03 ~ Page # 40-43, 216-221, 288-291
Sudoku		9781605531731	Items prohibited from receipt by mail	Items prohibited from receipt by mail
Sudoku 200 Puzzles Medium To Hard		9780811856751	Material that Threatens	Material that Threatens
Sudoku Metal Spiral		9781402789397	Items prohibited from receipt by mail	Items prohibited from receipt by mail
Sugar	Jenna Jameson and Hope Tarr	9781629147710	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Suicide Girls Geekology			Sexually Explicit Material	Sexually Explicit Material PICTURES SUBMITTED ONLY
Suicide Girls Redefines		9781934429167	Sexually Explicit Material	Sexually Explicit Material
Suicidegirls No 4		9781623260842	Material that Threatens	Material that Threatens Drug use. Smoking Weed in numerous ways and photos.
Suicidegirls Papercuts	Rob Corddry/Irvine Welsh/Eli Roth/David Cross/Douglas Rushkoff	9780979225000	Sexually Explicit Material	Sexually Explicit Material Code 1.04
Suite Encounters	Rachel Kramer Bussel	9781573447904	Sexually Explicit Material	Sexually Explicit Material
Summary: The Art Of Seduction	Robert Greene	9781979000154	Mail that the department deems pose a threat	Mail that the department deems pose a threat Code 2.01 How to choose victims and seduce them
Sun Goes Down, The	James Lear	9781627781626	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Super Pussy Parade		9783957300195	Sexually Explicit Material	Sexually Explicit Material Code 1.02, 1.03, 1.04 ~ pg(s) 10, 32, 48, 75, 86, 92, 110, 124, 171, 216, 392, 437 & 471 Masturbation, Bondage & vaginal penetration
Super Trash	JACQUES BOYREAU	9781606997383	Sexually Explicit Material	Sexually Explicit Material Code 1.03, 1.04 ~ Page # 41,83,98,155,156-157, 183,196
Supernatural Serial Killers	SAMANTHA LYON & DR DAPHNE TAN	9781785991240	Material that Threatens	Material that Threatens Code 2.05
Supernatural Serial Killers	SAMANTHA LYON & DR DAPHNE TAN	9781785991240	Material that Threatens	Material that Threatens Code 2.05
Surrender	JOAN JOHNSTON	9780399177767	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ SEXUALLY EXPLICIT
Surrender To Me	Shayla Black	9780425236550	Simulated or threatened acts	Simulated or threatened acts Code 1.01, 1.02, 1.03
Survival Wisdom & Know-How		9781579127534	Material that Threatens	Material that Threatens
Survival Wisdom & Know-How	Stackpole Books	9780316276955	Criminal activity, conversion of weapons	Criminal activity, conversion of weapons Code 2.01 How to make weapons for survival (spears, arrows, bows, traps).
Suze			Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04 SEXUALLY EXPLICIT
Swag Angel Santos		9781936649396		

Page 120 of 148

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Sweet Beauties Goliath		9783936709698	Simulated or threatened acts	Simulated or threatened acts
Sweet Emotions	KOBATO TAKAHASHI	9781624591594	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 1.05
Sweet Persuasion		9780425266960	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ pgs 36-39, 128-133, 152-159 Author Banks is quite explicit in all of her books - possible to ban the author overall?
Swing-Miasha		9781617752643	Sexually Explicit Material	Sexually Explicit Material
Swingland	Daniel Stern	9781476732534	Simulated penetration	Simulated penetration Code 1.01, 1.02, 1.03
Switchblade Goddess	Lucy A. Snyder	9780345512116	Simulated or threatened acts	Simulated or threatened acts Code 1.01, 1.02, 1.03
Sword Song	BERNARD CORNWELL	9780007269358	Sexually Explicit Material	Sexually Explicit Material violation stands 7-14-17
Sword Song Sisterhood Of Steel		9780865621893	Sexually Explicit Material	Sexually Explicit Material 1d
Tab Book Of Arduino Projects, The	SIMON MONK	9780071790673	Material that Threatens	Material that Threatens INCLUDED IS CONTENTS AND INTRODUCTION
Taboo Tattoo 02	SHINJIRO	9780316310475	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04, 1.05 ~ PP 64,128,131,150
Tactical Weapons Assembly/Disassembly	Kevin Muramatsu	9781440247828	Material that Threatens	Material that Threatens code 2.01
Taekwondo Grappling Techiques	Tony Kemerly	9780804844093	Material that Threatens	Material that Threatens

<u>Title</u>	Author	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Tai Chi Chuan Martial Applications	DR YANG, JWING-MING	9781594392993	Material that Threatens	Material that Threatens Code 2.01 ~ 46, 76-77, 210-211, 280-283, 310-314
Tai Chi Imagery Workbook, A	MARTIN MELLISH	9781848190290	Material that Threatens	Material that Threatens Code 2.01 ~ PP 188-189,194-195,206- 209
Tai Chi: A Mind Of Information		9780007110131	Material that Threatens	Material that Threatens Code 2.01, 2.07
Taken By A Vampire	Joey W. Hill	9780425260678	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03
Tall, Dark And Cajun	SANDRA HILL	9781538762639	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ SEXUALLY EXPLICIT
Tanners Scheme	LORA LEIGH	9780425216613	Sexually Explicit Material	Sexually Explicit Material PP 30-33, 118-123, 208-211 AND THROUGHOUT PUBLICATION
Tanpenshu 2	Hiroki Endo	9781593076450	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03, 1.04, 1.05
Tao Of Jeet Kune Do	Bruce Lee	9780897500487	Material that Threatens	Material that Threatens
Tao Of Jeet Kune Do- By Bruce Lee		9780897502023	Material that Threatens	Material that Threatens
Tassels, Tiebacks & Trimmings And How To Use Them	Elizabeth Valenti	9780080198934	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.02 Page #'s 108-114
Tasteful Temptations, The Erotic 3d Photography			Any items which a inmate shall not possess	Any items which a inmate shall not possess 3D Glasses

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Tatoo Basics		9780615281476	STG-related paraphernalia	STG-related paraphernalia PPS - CONTENTS, 52-54, 90-94,136-137, 157-163 AND THROUGHOUT ENTIRE PUBLICATION
Tattoo Flash, The Coloring Book	Megamunden	9781780679174	Lipstick, crayon, stickers, tape	Lipstick, crayon, stickers, tape Code 4.10 ~ 2 pages of stickers, 2 pullout posters over 18
Tattoo Super Models		9783957300003	Sexually Explicit Material	Sexually Explicit Material
Tattoo Super Models	GOLIATH	9783957300041	Sexually Explicit Material	Sexually Explicit Material Code 1.04
Tattoo Symbols And Meanings		9780785834458	Items prohibited from receipt by mail	Items prohibited from receipt by mail Code 2.01 ~ CORDS WRAPPED AROUND BINDING AND ALL PAGES ARE CONNECTED/POCKE T PAGES
Tattoo Symbols And Meanings		9780785834458	Items prohibited from receipt by mail	Items prohibited from receipt by mail Code 2.01 ~ CORDS WRAPPED AROUND BINDING AND ALL PAGES ARE CONNECTED/POCKE T PAGES
Tcp/lp Sockets In C	Michael J. Donahoo	9780123745408	Material that Threatens	Material that Threatens Code 2.05
Teach Yourself Visually Microsoft Windows 10	PAUL MCFEDRIES	9781119057024		00.10.10 3000 2.00

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Teaching The Bow To Bend Making A Longbow	Linda Schilling	9780764345951	Weapons & Explosives	Weapons & Explosives Previously Violated for material that threatens
Tears Of A Hustler 2	Sil White	9780578040110	Sexually Explicit Material	Sexually Explicit Material Already on Violation list
Tears Of A Hustler 3		9780578084749	Sexually Explicit Material	Sexually Explicit Material On Violation list
Tears Of A Hustler 4 Youve Been Warned	SILK WHITE	9780985673475	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ SEXUAL CONTENT
Tears Of A Hustler Silk White		9780615211626	Sexually Explicit Material	Sexually Explicit Material On violation list
Tears Of The Game		9781533130464	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ Page #'s 88-89, 162-163, 203-, 211, 310-311
Tekirei	Sakurako Gokurakuin	9780316441018	Sexually Explicit Material	Sexually Explicit Material code 1.01, 1.02, 1.03, 1.05
Telling Tales	CHARLOTTE STEIN	9781402289590	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ PP 44-45,106-107,140-14
Tenjo Tenge 3		9781421540108	Sexually Explicit Material	Sexually Explicit Material Pages submitted and also throughout publication
Terry Goodkind Sword Of Truth Series Audio Boo	k Tery Goodkind	9781536673401	Material which an inmate shall not possess within	Material which an inmate shall not possess within Audio books on CD

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Testament Of Sister New Devil	Tetsuto Ueso	9781626922747	Sexually Explicit Material	Sexually Explicit Material no page numbers
Testament Of Sister New Devil #003, The	TETSUTO UESU	9781626927315	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.05 SEXUALLY EXPLICIT
Testament Of Sister New Devil 1		9781626922464	Sexually Explicit Material	Sexually Explicit Material
Testament Of Sister New Devil 3, The	TETSUTO UESU	9781626922983	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.05
Testament Of Sister New Devil, The 5	TETSUTO UESU	9781626924406	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.05
Texas-Sized Trouble	DELORES FOSSEN	9781335631985	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ SEXUALLY EXPLICIT
The Art Of Vampire Knight	Matsuri Hino	9781421540054	Any item larger than 18" x 18"	Any item larger than 18" x 18" Code 4.08 Page 81 folds out to be 12 x 24
The Avengers Vault	Peter A. David	9781626862999	Material that Threatens	Material that Threatens
The Big Book Of Kink	Alison Tyler	9781627781558	Sexually Explicit Material	Sexually Explicit Material
The Big Ideas Notepad		9781452114149	Items prohibited from receipt by mail	Items prohibited from receipt by mail Blank notebook all of these kinds of itmes has to be purchased from canteen.
The Bitcoin Guidebook	lan DeMartion	9781634505246	Mail that the department deems pose a threat	Mail that the department deems pose a threat Code 2.05
The Blackbirds	Eric Jerome Dickey	9781101984109	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03
Page 125 of 148			Repor	rt Created on 04/11/2019

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
The Boy Mechanic Makes Toys		9781588166395	Material that Threatens	Material that Threatens code 2.02
The Cannabis Encyclopedia	Jorge Cervantes	9781878823342	Narcotics or narcotics paraphernalia	Narcotics or narcotics paraphernalia Code 2.01
The Cannabis Grow Bible	Greg Green	9781931160179	Criminal activity, conversion of weapons	Criminal activity, conversion of weapons Code 2.05
The Cartel 4 Diamonds Are Forever	Ashley & JaQuavis	9781601626226	Criminal activity, conversion of weapons	Criminal activity, conversion of weapons Code 1.01, 1.02, 1.03
The Cartel 6 The Demise	Ashley & JaQuavis	9781250066992	Sexually Explicit Material	Sexually Explicit Material
The Chess Players Bible	James Eade	9780764167591	Any items which a inmate shall not possess	Any items which a inmate shall not possess Wire bound book
The Chord Wheel	Jim Fleser	9780634021428	Any items which a inmate shall not possess	Any items which a inmate shall not possess Code 2.08 ~ Metal ring in center of wheel that allows cords to spin
The Claiming Of Sleeping Beauty		9780452281424	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04 ~ PP 2-3,74-78,160-161, 196-202 AND THROUGHOUT ENTIRE PUBLICATION
The Coldest Winter Ever	Sister Souljah	9780743270106	Sexually Explicit Material	Sexually Explicit Material
The Coloring Book Of Cards And Envelopes Christmas		9780763692421	Lipstick, crayon, stickers, tape	Lipstick, crayon, stickers, tape Code 2.08 ~ STICKERS
The Complete Bladesmith	Jim Hrisoulas	9781581606331	Material that Threatens	Material that Threatens Code 2.01

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
The Complete Bladesmith	Jim Hrisoulas	9781581606331	Material that Threatens	Material that Threatens Code 2.01
The Complete Bladesmith	Jim Hrisoulas	9781581606331	Material that Threatens	Material that Threatens Code 2.01
The Complete Book Of Tai Chi Chuan	Wong Kiew Kit	9780804834407	Material that Threatens	Material that Threatens Code 2.01, 2.07
The Complete Book Opf Guitar Scales	Phil Capone	9780785833772	Items prohibited from receipt by mail	Items prohibited from receipt by mail Code 2.08 Metal spiral binding and CD.
The Craft Of Tattooing		9781419625916	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.01 HOW TO BUILD A TATTOO GUN
The Elite Forces Manual Of Mental & Physical Endurance	Alexander Stilwell	9780312348182	Information would create clear and present danger	Information would create clear and present danger Code 2.01, 2.07
The Elite Forces Wilderness Survival Guide	Chris McNab	9780312591441	Information would create clear and present danger	Information would create clear and present danger Code 2.01 ~ How to make weapons
The Elite Forces Wilderness Survival Guide	Chris McNab	9780312591441	Information would create clear and present danger	Information would create clear and present danger Code 2.01 ~ How to make weapons
The Erotic Doll: A Modern Fetish	Marquard Smith	9780300152029	Sexually Explicit Material	Sexually Explicit Material Code 1.04
The Forgotten Skills Of Self-Sufficiency	Caleb Warnock	9781599555102	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.01
The Great Escape The Untold Story	Ted Barris	9781459728448	Material that Threatens	Material that Threatens Code 2.01 2.02

Page 127 of 148

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
The Hardest Thing		9781573449298	Sexually Explicit Material	Sexually Explicit Material
The Haunter Of The Threshold	Edward Lee	9781936383399	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04
The Haunter Of The Threshold	Edward Lee	9781936383399	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04
The Hidden Language Of Computer Hardware And Software	Charles Petzold	9780735611313	Code	Code Code 2.05
The Kata And Bankai Of Goju-Ryu Karate	Hopkins	9781623171995	Material that Threatens	Material that Threatens code 2.01, 2.07
The Kata And Bankai Of Goju-Ryu Karate	Hopkins	9781623171995	Material that Threatens	Material that Threatens code 2.01, 2.07
The Knowledge: How To Rebuild Civilization In The Aftermath Of A Cataclysm	Lewis Dartnell	9780143127048	Material that Threatens	Material that Threatens Code 2.01 ~ Page # 234-239
The Lie	Chad Kultgen	9780061657306	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02 1,.03 ~ Pages 32-34, 37-43, 48-49 and throughout
The Made & Broken Series: Dangerous		9781533475657	Sexually Explicit Material	Sexually Explicit Material Code 1.021, 1.02, 1.03
The Manga Artists Workbook		9780307462701	Any items which a inmate shall not possess	Any items which a inmate shall not possess Code 2.08 Metal/Wire binding
The Missing Girls		9780312941611	Violation of Administrative Directives	Violation of Administrative Directives Code 2.05 ~ Book about Ward Weaver (currently at TRCI) and the murders in Oregon City

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
The Perfect Play	jaci burton	9780425238813	Sexually Explicit Material	Sexually Explicit Material code 1.01, 1.02, 1.03
The Practical Encyclopedia Of Boating	John Vigor	9780071498883	Material that Threatens	Material that Threatens Code 2.02 ~ Page #'s 169-170, 284-286
The Private Club	j.s. cooper / helen cooper	9781499123043	Sexually Explicit Material	Sexually Explicit Material Code 1a,b,c
The Secret Gratitutude Book	Rhonda Byrne	9781582702087	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.01 ~ Magnetic Flap on book.
The Sociopaths Guide To Getting Ahead	P.T. Elliott	9781510725386	Material that Threatens	Material that Threatens Code 2.07, 2.05
The Survival Manual: The Adventurers Guide To Staying Alive In The Wild	JASON POLLEY	9781473674899	Information would create clear and present danger	Information would create clear and present danger Code 2.02, INSTRUCTIONS ON HOW TO TIE KNOTS
The Testament Of Sister New Devil 1	Tetsuto Uesu	9781626926066	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03, 1.05
The Total Bowhunting Manual	Field & Stream - Scott Bestul & Dave Hurteau		Any items which a inmate shall not possess	Any items which a inmate shall not possess Code 2.08 Metal caps on four edges of the book (front and back)
The Total Bowhunting Manual	Field & Stream - Scott Bestul & Dave Hurteau		Any items which a inmate shall not possess	Any items which a inmate shall not possess Code 2.08 Metal caps on four edges of the book (front and back)

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
The Total Knife Manual	T. Edward Nickens	9781681883687	Information would create clear and present danger	Information would create clear and present danger Code 2.01 Also has metal corner pieces on cover
The Ultimate Preppers Guide	Jay Cassell	9781628737059	Material that Threatens	Material that Threatens ode 2.01 Page #'s 76-89
The Ultimate Tattoo Course	Scott Wolfe	9781500352684	Material which an inmate shall not possess within	Material which an inmate shall not possess within Detailed diagram of a tattoo machine
The Walking Dead Cookbook Survival Guide	Lauren Wilson	9781683830788	Violation of Administrative Directives	Violation of Administrative Directives Code 2.01, 2.02 ~ pg. 25,28,112-113,118,12 2 shows how to make a snare, tie knots, make alcohol
The Way Of The Ninja	Masaaki Hatsumi	9784770028051	Mail that the department deems pose a threat	Mail that the department deems pose a threat Code 2.01 & 2.07
The Wild World Of Betty Page		9781840686739	Simulated or threatened acts	Simulated or threatened acts code 1.04
The Wrestling Drill Book	Bill Welker	9780736054607	Material that Threatens	Material that Threatens Pages 20-21, 48-49, 122-123, 164-165
Their Virgin Captive	shayla black and lexi blake	9781936596065	Sexually Explicit Material	Sexually Explicit Material
These Are My Confessions		9780061193118	Sexually Explicit Material	Sexually Explicit Material
Think And Grow Rich Workbook, The	Joel Fotinos	9781585427116	Unauthorized Attachments	Unauthorized Attachments Wire Binding

Page 130 of 148

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Thomas & Friends Rolling On The Rails		9780375873041	Any items which a inmate shall not possess	Any items which a inmate shall not possess Code 2.08 Childrens book with 4 spinning wheels each attached by a metal piece in the center of the wheel
Thrones Of Desire	Mitzi Szereto	9781573448154	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Thug Passion		9781500377700	Sexually Explicit Material	Sexually Explicit Material Code 2.01, 2.02, 2.03
Thug Passion 2	MZ LADY P	9781501090585	Sexually Explicit Material	Sexually Explicit Material Code 2.01, 2.02, 2.03
Thug Passion 3	MZ LADY P	9781502991447	Sexually Explicit Material	Sexually Explicit Material Code 2.01, 2.02, 2.03
Thug Passion 4		9781505303537	Sexually Explicit Material	Sexually Explicit Material Code 2.01, 2.02, 2.03
Thugs And The Women Who Love Them	Wahida Clark	9780758243492	Sexually Explicit Material	Sexually Explicit Material
Thugs Cry	Cash	9781492717928	Sexually Explicit Material	Sexually Explicit Material pp 15-17, 78-81, 128-128
Thugs Cry 3 Respect My Gangsta	CASH	9781548216092	Material that Threatens	Material that Threatens Code 1.01, 1.02, 1.03, 1.04 ~ P-P 16-17,202-204,228-22 9,298/violent deaths 88-91/killing a child 121-123,156-157/sexu ally explicit

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Thunderbolts The Tutorial Dvd	David Talbott	9780977285150	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.09 DVD
Tiger Eye	MARJORIE M. LIU	9780062020154	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Til My Casket Drops		9781499337860	Sexually Explicit Material	Sexually Explicit Material
To Love A Wolf	PAIGE TYLER	9781492625957	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ SEXUAL CONTENT. PAGES 190-195 PLUS MORE
To Love Ru Darkness #1	Saki Hasemi	9781947804012	Sexually Explicit Material	Sexually Explicit Material
To Love Ru Vol. 1-2	Saki Hasemi	9781947804005	Simulated or threatened acts	Simulated or threatened acts Code 1.01, 1.02, 1.03, 1.04, 1.05
To Paris With Love	Carl Weber	9781622869787	Sexually Explicit Material	Sexually Explicit Material ode 1.01, 1.02, 1.03 ~ page #'s 38-39, 158-159, 168-171, 184-187
To The Bridge	nancy rommelmann	9781542048415	Information would create clear and present danger	Information would create clear and present danger code 2.05
To Watch You Bleed	Jordan Greene	9780998391304	Simulated or threatened acts	Simulated or threatened acts Code 1.01, 1.04
Todays Cerberus 4	Ato Sakurai	9780316435734	Mail that the department deems pose a threat	Mail that the department deems pose a threat Code 1.02, 1.04, 1.05

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Too Hot For A Rake	Pearl Wolf	9781420104813	Simulated sexual acts	Simulated sexual acts ode 1.01, 1.02, 1.03 ~ page #'s 112-114, 212-2114
Too Many Secrets & Too Many Lies	SONYA SPARKS	9780978637309	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ SEXUALLY EXPLICIT
Tor And The Darknet	JARED NORTON	9781539665571	Mail that the department deems pose a threat	Mail that the department deems pose a threat Code 2.05
Torn	CYNTHIA EDEN	9780062437402	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03,
Torn Between A Goon And A Gangsta	Jade Jones	9781530338825	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03,
Torn Between A Goon And A Gangsta 2	Jade Jones	9781530338887	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03,
Torn Between A Goon And A Gangsta 3	Jade Jones	9781530339129	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03,
Total Outdoorsman, The		9781616286101	Material that Threatens	Material that Threatens
Totally Awesom Paracord Crafts	Katie Weeber	9781574219883	Material that Threatens	Material that Threatens Code 2.02 ~ 14-19, 28-31, 54-56
Totally Naked 2019 Calendar	UK Calendar Girls		Unauthorized Attachments	Unauthorized Attachments Code 2.08 wire binding, nude images on calendar
Touched	fern freeman	9781718189003	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Training Tara Sue Me, The		9780451466242	Sexually Explicit Material	Sexually Explicit Material
D 100 (110			_	

Page 133 of 148

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Trans Bodies Trans Selves		9780199325351	Sexually Explicit Material	Sexually Explicit Material Violation code 1 C i, ii, iii
Transgender Erotica	M. Christian	9781560234913	Simulated penetration	Simulated penetration Page # 's 2-4, 13-15 Code 101, 1.02, 1.03
Trappers Bible Eustace Hazard Livingston, The		9781616085599	Material that Threatens	Material that Threatens
Trappers Bible Eustace Hazard Livingston, The		9781616085599	Material that Threatens	Material that Threatens
Treasured Chests 4		9780865620841	Sexually Explicit Material	Sexually Explicit Material No Page Numbers
Triage X 4		9780316243179	Sexually Explicit Material	Sexually Explicit Material Pg 14-16, 129-133
Triage X 5	Shouji Sato	9780316322331	Sexually Explicit Material	Sexually Explicit Material Pg 157-158 Code 1.01, 1.02, 1.03, 1.05
Triage X 7	Shouji Sato	9780316376839	Sexually Explicit Material	Sexually Explicit Material Pg 103-104, 143-144 Code 1.01, 1.02, 1.03, 1.05
Triangle Of Sins	Nurit Folkes	9780967224930	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03
Tricks & Treats	Fastner & Larson	9780865621664	Simulated or threatened acts	Simulated or threatened acts
Triggered No 58 May/June 2017			Inflammatory material	Inflammatory material Code 2.05
True Romance	Quentin Tarantino	9780802136862	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Trust No Man	Ca\$h	9780981854564	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Trust No Man	CA\$H	9781543002454	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Trust No Man 2 Cash	CA\$H	9781543002881	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03
Trust No Man 3 Like Father Like Son	CA\$H	9781543003116	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03
Trust No Man li	Wahida Clark	9780981854526	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 page #'s 53-56, 131-134
Trust No Man Wahida Clark		9780981854595		
Twilight Of The Shadows	Louis LaSalle	9783867877602	Sexually Explicit Material	Sexually Explicit Material 1.02, 1.03, 1.04 ~ Bondage, stimulated male penis
Twisty Word Search Puzzles	Dave Tuller	9781454930150	Unauthorized Attachments	Unauthorized Attachments Code 2.08 Spiral Wire Binding
U.S. Army Guide To Boobytraps- By Department Of Army		9781602399402	Weapons & Explosives	Weapons & Explosives
U.S. Army Intelligence And Interrogation Handbook	Dept. of the Army	9781626360983	Material that Threatens	Material that Threatens Code 2.01, 2.02
U.S. Army Survival Manual	Colonel Peter T Underwood	9781626361584	Material that Threatens	Material that Threatens
U.S. Army Survival Series	Dept. of the Army	9781510707450	Material that Threatens	Material that Threatens Code 2.02 ~ page #'s 190-191, 198-199
U.S. Marine Guidebook		9781602399419	Mail that the department deems pose a threat	Mail that the department deems pose a threat Code 2.01 ~ HOW TO TAKE A GUN APART
Ubel Blatt #0		9780316336161	Sexually Explicit Material	Sexually Explicit Material
Ubel Blatt #7	Etorouji Shiono	9780316261692	Material that Threatens	Material that Threatens Code 1.04, 1.05
Page 135 of 148			Repor	t Created on 04/11/2019

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Ultimate Guide To Colored Pencil, The	Gary Greene	9781600613913	Unauthorized Attachments	Unauthorized Attachments Code 2.08 ~ WIRE BINDING
Ultimate Guide To Cunnilingus Margaret Cho, The		9781573443876	Sexually Explicit Material	Sexually Explicit Material
Ultimate Guide To Us Special Forces, The		9781616082086	Material that Threatens	Material that Threatens
Ultimate Sacrifice Three, The	ANTHONY FIELDS	9781535350709	Sexually Explicit Material	Sexually Explicit Material code 1.01, 1.02, 1.03 ~ PP 44-45,79-81,178-179
Ultimate Sacrifice Two	ANTHONY FIELDS		Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ PP 133-135,170-172,244- 245
Ultimate Sacrifice, The	ANTHONY FIELDS	9781534721814	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04 ~ PP 56-57,106-108,154-15 5
Ultimate Warrior Workouts Roger Gracie		9780061735226	Information would create clear and present danger	Information would create clear and present danger
Uncommon Passion	Ann Calhoun	9780425262900	Sexually Explicit Material	Sexually Explicit Material Code 1a,b,c24-25, 112-115, 132-135, 180-183
Under Her Thumb		9781573449274	Simulated or threatened acts	Simulated or threatened acts Code 1.01, 1.02, 1.03, 1.04
Under The Roofs Of Paris	HENRY MILLER	9780802131836	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ PAGES 40, 41, 42, 57, 58, 61 PLUS MORE
Understanding Signs & Symbols: Heraldry		9780785829669	Material that Threatens	Material that Threatens Spiral Metal Binding

Page 136 of 148

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Undressing The Art Of Playing Dress Up		9780764345685	Simulated or threatened acts	Simulated or threatened acts pages 25, 137, 194-195
Unidentified Redhead, The	Alice Clayton	9781476741222	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02 1.03
Uniformed Love	Amayumi	9781624590580	Simulated penetration	Simulated penetration Code 2.01, 2.02, 2.03, 2.05
Unity 2018 Game Development In 24 Hours	Mike Geig	9780134998138	Material that Threatens	Material that Threatens
Unity From Proficiency To Mastery (C# Programming)	Patrick Felicia	9781978442474	Any items which a inmate shall not possess	Any items which a inmate shall not possess programming book
Unix System Administration Handbook	EVI NEMETH		STG-related paraphernalia	STG-related paraphernalia
Unknown Capoeira	Mestre Ricardo Cachorro	9781583942314	Material that Threatens	Material that Threatens
Unquiet	Melanie Hansen	9781634767415	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03
Unraveled	Lorelei James	9780451473639	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04
Unruly Appetites	Hanne Blank	9781580050814	Sexually Explicit Material	Sexually Explicit Material Pages 4-5, 52-55, 82-83
Unusual Punishment		9780874223392	Material that Threatens	Material that Threatens
Upgrading & Fixing Pcs For Dummies	Andy Rathbone	9780764507199	Material that Threatens	Material that Threatens
Upskirt Voyeur	Kenichi Murata	9783943105094	Excretory Functions	Excretory Functions
Urban Erotic Confessions	Barbara Cardy	9780762452286	Sexually Explicit Material	Sexually Explicit Material
Us Marine Close Combat Fighting Handbook		9781616081072	Material that Threatens	Material that Threatens Code 2.01, 2.07

<u>Title</u>	<u>Author</u>	ISBN	<u>Violation</u>	Rejection Note
Use Libreoffice Base	Thomas Ecclestone	9781502941701	Mail that the department deems pose a threat	Mail that the department deems pose a threat Put in for review Per IT
Ushijima Ioniku Photos		9784758007511	Simulated or threatened acts	Simulated or threatened acts Code 1.04
V Word, The	AMBER J KEYSER	9781582705217	Sexually Explicit Material	Sexually Explicit Material PP22-23, 42-43,94-95 AND THROUGHOUT PUBLICATION
Val X Love	Ryosuke Asakura	9780316446938	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.05
Val X Love Manga Volume 1	RYOSUKE ASAKURA	9780316480086	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.05
Valley Of The Shadow, The	Miron Zownir	9783899553154	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03, 1.04
Vampire Queens Servant	joey w. hill	9780425215906	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ Page #'s 22-25, 60-63, 66-69, 92-93
Vampire Volume 1		9780972644303	Material that Threatens	Material that Threatens Code 1.04
Vampires Claim, A	Joey W. Hill	9780425226087	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 Pg 31-34, 42-45, 90-93, 119-119, 172-173, 284-287
Velvet		9780312358259	Sexually Explicit Material	Sexually Explicit Material
Velvet Kiss	Chihiro Harumi		Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.05 ~ pages 44-48.

Page 138 of 148

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Velvet Kiss 1	Chihiro Harumi	9781934129562	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 1.05
Velveteen & Mandala	Jiro Matsumoto	9781935654308	Simulated or threatened acts	Simulated or threatened acts Code 1.01, 1.02, 1.03 1.04
Version Control With Git	Jon Loeliger & Matthew McCullough	9781449316389	Content restrictions	Content restrictions Code 2.05
Vice Photo Book, The	VICE Magazine	9781576874103	Sexually Explicit Material	Sexually Explicit Material Pgs. 47 67 96-97 176-177 178-179 Code 1.01, 1.02, 1.03, 1.04
Vice: The Vice Guide To Sex And Drugs And Rock And Roll	Suroosh Alvi/Gavin McInnes/Shane Smith	9780446692816	Sexually Explicit Material	Sexually Explicit Material
Victory Of Valhalla		9781438285818	STG-related paraphernalia	STG-related paraphernalia Code 2.10
Vintage Journal		9780890516270	Unauthorized Attachments	Unauthorized Attachments Code 2.08 Magnetic Cover
Violence In Our Time	SANDY LESBERG		Inflammatory material	Inflammatory material Code 1e & 2j No page #'s
Viper Games	CHRISTINE FEEHAN	9780349405605	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Virgin	RADHIKA SANGHANI	9780425278338	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Vitamin O	Dr. natasha Valdez	9781632203083	Sexually Explicit Material	Sexually Explicit Material Code 1.03 ~ pp 124-129,136-137,156- 161,176-177 and throughout entire publication THIS BOOK WAS ON THE STATE WIDE LIST AS OF 2/11/15
Viva Van Storys Sheer		9781907621048	Sexually Explicit Material	Sexually Explicit Material Code 1.04
Vixen Manual, The	KARRINE STEFFANS	9780446179980	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ Page #'s 114-115, 128-137, 140-141
Voluptous	CLAUDIO ABOY	9780865621992	Sexually Explicit Material	Sexually Explicit Material PAGES SUBMITTED ARE ONLY TWO QUESTIONABLE PICTURES IN ENTIRE BOOK-NO PAGE NUMBERS
Voluptuous Panic The Erotic World Of Weimar Berlin	Mel Gordon	9780922915965	Sexual acts minor or under 18	Sexual acts minor or under 18
Voracious Erotica For Women	VIOLET BLUE	9781573449366	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ PP 8-9,38-39,68-71, 80-81,134-135 AND TROUGHOUT ENTIRE PUBLICATION

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Wanted Killer, The	ANN RULE	9780451166883	Sexually Explicit Material	Sexually Explicit Material PPS 134-135, 158,159 AND THROUGHOUT PUBLICATION- (violated recently in u drive memos 10/14/16)
Web Design In Easy Steps	Sean McManus	9781840786255	Code	Code
Weed: Grow It, Cook It	Floyd Barrington	9781909313576	Narcotics or narcotics paraphernalia	Narcotics or narcotics paraphernalia Code 2.01
Weekend Lovers	Kiriko Fuwa	9781934129203	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.05
Welcome To The Low Life	NATAVIA	9781985179608	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Welcome To The Low Life 2		9781720665267	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Wet And Wild		9780865621947	Sexually Explicit Material	Sexually Explicit Material
What Women Want	STAINS & BECHTEL	9780345443410	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Whats Not Ta Like	Joe Capobianco	9780972716048	Sexually Explicit Material	Sexually Explicit Material Code 1.04
Whats Not Ta Like	Joe Capobianco	9780972716048	Sexually Explicit Material	Sexually Explicit Material Code 1.04
While He Rides His Steed	ROSS PATTERSON	9781983340062	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 SEXUALLY EXPLICIT
Whispers	Dean Koontz	9780425181096	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
White Riot	Nick Lowles	9781908479792	STG-related paraphernalia	STG-related paraphernalia Code 2.09 ~ Skinhead stories of violence and racial bias.
White Trash Gothic	EDWARD LEE	9781621052500	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ PP 88-89,120-123,166-16 8
White Trash Uncut	CHRISTOPHER MAKOS	9780989170468	Material that Threatens	Material that Threatens NO PAGE NUMBERS - 2 PICS FOUND IN BOOK WITH BONDAGE
Who Done It?	Altay et al	9781680223132	Unauthorized Attachments	Unauthorized Attachments code 2.08
Whole Lesbian Sex Book, The	Felice Newman	9781573441995	Simulated penetration	Simulated penetration Code 1.01, 1.02, 1.03, 1.04 ~ pg #'s 168-171, 174-179, 188-191, 194-195, 210-211, 214-215, 218-221, 252-253, 258-259
Whoreson	Donald Goines	9780870679940	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04 ~ Page #'s 58-59, 76-77, 154-155, 202-205, 278-279
Whoreson- By Donald Goines		9780870679711	Simulated or threatened acts	Simulated or threatened acts
Why Lords Lose Their Hearts	MANDA COLLINS	9781250023865	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Wicked Plants		9781565126831	Material that Threatens	Material that Threatens Code 2.01 ~ PP 15-17, 46-49,193-195,213-21 5 AND THROUGHOUT PUBLICATION
Wide-Open Easy Themeless Crosswords	Martin Ashwood-Smith	9781454908975	Unauthorized Attachments	Unauthorized Attachments Code 2.08 wire binding
Wife In Short Shorts	Akindo	9781624591068	Simulated sexual acts	Simulated sexual acts Code 1.01, 1.02, 1.03, 1.05
Wild Kingdom:Black Lace	Deanna Ashford	9780352335494	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.04
Wild Lolitas Mikhail Paramonov		9783936709582		, ,
Wild Silk	Zara Devereux	9780349400457	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ pgs. 12-17, 66-68, 112-113, 126-129, 214-219
Wildboys	RICHARD LABONTE	9781573448246	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ PP 44-49,104-105,134-13 7 AND THROUGHOUT ENTIRE PUBLICATION
Wildfire	ILONA ANDREWS	9780062289278	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ SEXUALLY EXPLICIT
Willie Nd Me Iceberg Slim		9781936399154	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ SEXUALLY EXPLICIT
Page 143 of 148			Report	t Created on 04/11/2019

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Windows 10 For Dummies	Andy Rathbone	9781119470861	Information would create clear and present danger	Information would create clear and present danger Code 2.05
Windows 10 For Seniors And Beginners	KEITH JOHNSON	9781532844454	STG-related paraphernalia	STG-related paraphernalia 2E PPS-CONTENTS
Windows 10 For Seniors For Dummies	PETER WEVERKA	9781119310617	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.05
Windows 7 All In One For Dummies	Woody Leonhard	9780470487631	Material that Threatens	Material that Threatens code 2.05
Windows 7 In Easy Steps	Michael Price		Material that Threatens	Material that Threatens code 2.05
Windows 7 The Missing Manual	David Pogue	9780596806392	Material that Threatens	Material that Threatens
Windows 8 For Tablets For Dummies	ANDY RATHBONE	9781118329580	Material that Threatens	Material that Threatens Code 2.05
Wine Isnt Rocket Science	Ophelie Neiman	9780316431309	Material that Threatens	Material that Threatens code 2.01 ~ Page 144-149
Wing Chun Martial Arts	Yip Chun	9780877287964	Material that Threatens	Material that Threatens Pages 32-35, 52-53, 56-59, 86-89
Wired	JULIE GARWOOD	9780451469489	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ SEXUALLY EXPLICIT
Wireless All In One For Dummies	Walberg/Case/ Durham/Torres		Material which an inmate shall not possess within	Material which an inmate shall not possess within
Witch Buster 15-16	JUNG-MAN CHO	9781626923003	Sexual acts minor or under 18	Sexual acts minor or under 18 Code 1.05 Underage nudity

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
With Love From Mochizuki	AYUMU MIYAHARA	9781624590252	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 1.05 ~ PP 100-101, 88-91, 114-115,138-138 AND THROUGHOUT ENTIRE PUBLICATION
Wolf Hunt	PAIGE TYLER	9781492642343	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Wolf Unleashed	PAIGE TYLER	9781492625988	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Wolverine The Best There Is	RYP	9780785167662	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 1.04 ~ VIOLENCE AND BONDAGE
Women Of The Southwest Butt Ass Naked	2017 Calendar	9780615682907	Sexually Explicit Material	Sexually Explicit Material
Women On Top By Nancy Friday		9780671648459	Sexually Explicit Material	Sexually Explicit Material
Women With Handcuffs	SACCHI GREEN	9781627780384	Sexually Explicit Material	Sexually Explicit Material Code 2.01, 2.02, 2.03
Word Search Collection, The		9781405475099	Material that Threatens	Material that Threatens
Work For Pleasure	Maripyon	9781624591280	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02,1.03,1.05
World Atlas Of Tattoo, The		9780300210484	Sexually Explicit Material	Sexually Explicit Material Code 1.04 ~ PP 57
World Atlas Of Tattoo, The	ANNA FELICITY FRIEDMAN	9780500294970	Sexually Explicit Material	Sexually Explicit Material Code 1.04 SEXUALLY EXPLICIT
World Of Gor	JAMES DESBOROUGH	9780244305543	Sexually Explicit Material	Sexually Explicit Material Code 1.04
Page 145 of 148			Repo	rt Created on 04/11/2019

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
World War 3		9781604869583	Material that Threatens	Material that Threatens SUBMITTED PAGES AND THROUGHOUT PUBLICATION
World War 3 Illustrated #33 Magazine			Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Worlds End Harem #1	Link	9781947804098	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, 1.05
Worlds Greatest Erotic Art Of Today Vol 5, The			Sexually Explicit Material	Sexually Explicit Material Code 1.02, 1.03, 1.04 ~ PP 65,132-133,150,163,1 81,265
Wrapped And Strapped	Lorelei James	9780451473783	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03, Pages 119-122, 174-175, 179-181, 200-203 and throughout. Code 1 a,b,c.
Wrapped Around Your Finger	ALISON TYLER	9781627780636	Sexually Explicit Material	Sexually Explicit Material code 1.01, 1.02, 1.03, 1.04 ~ PP 32-33,56-57,130-133,1 84-185
Wrestling Catch As Catch Can, Cumberland & Westmorland, All In Styles	E J Harrison	9781473312012	Information would create clear and present danger	Information would create clear and present danger Code 2.01, 2.07
Wyoming Rugged	DIANA PALMER	9780373779734	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ SEXUALLY EXPLICIT

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
X-Posed 2018 Calendar	Fully Nude and Exposed	9781890028817	Freestanding Nude	Freestanding Nude Code Calendars cannot be sexually explicit
Xxplicit Babes Nude & Naughty		9781890028824	Material which an inmate shall not possess within	Material which an inmate shall not possess within Nudity in Calendars not allowed
Xxplicit Babes Nude & Naughty		9781890028824	Material which an inmate shall not possess within	Material which an inmate shall not possess within Nudity in Calendars not allowed
Xxx Erotic Short Stories Volumes 1-4		9781494394110	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Yamada-Kun And The Seven Witches		9781632360687	Material that Threatens	Material that Threatens Code 1.05 Review completed. 3/22/2017
Yoga For Beginners	Mark Ansari and Liz Lark	9780062736482	Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.08 Metal/Wire binding
Yokai Girls #1	Kazuki Funatsu	9781947804029	Simulated or threatened acts	Simulated or threatened acts Code 1.01, 1.02, 1.03 1.04, 1.05
You And Your Windows 10 Computer		9789059054325	Mail that the department deems pose a threat	Mail that the department deems pose a threat Code 2.05
Young Casting Girls	GOLIATH	9783957300089	Sexually Explicit Material	Sexually Explicit Material PPS 33,148-149,262,276,2 98-299,316,318

<u>Title</u>	<u>Author</u>	<u>ISBN</u>	<u>Violation</u>	Rejection Note
Young Exotic Beauties	Goliath	9783957300058	Sexually Explicit Material	Sexually Explicit Material Models look under 18.
Young Nylon Beauties Hot & Naked	Goliath	9783957300027	Sexually Explicit Material	Sexually Explicit Material Code 1.02, 1.03 ~ Pages: 12, 16, 42, 45, 65, 80, 121, 142, 206, 231 & 333
Your Man Chose Me	Racquel Williams	9781622867585	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03
Your Reading Material Stratford Career Institute			Material which an inmate shall not possess within	Material which an inmate shall not possess within Code 2.05 ~ COMPUTER PROGRAMMING
Zane Vengeance		9781501108051	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03 ~ SEXUALLY CONTENT. PAGES 110-112, 168-169
Zane- Sex Chronicles-		9781416584117	Sexually Explicit Material	Sexually Explicit Material
Zap Comix No 16		9781606999004	Sexually Explicit Material	Sexually Explicit Material Code 1.01, 1.02, 1.03